
Page 1 of 60

S.N. SPN OEM PART NO. DESCRIPTION ACCEPTABLE MAKE

1 1.01.0001.2.01.6 CU SL022 sub: 43828 E Radiator Hose Clamp CUMMINS, PLASSER, PARKER, CLIPCO, 

CONNECTWELL

2 1.01.0002.2.01.7 CU 3931522 HOSE CUMMINS, PLASSER, PARKER, 

AEROQUIP, POLYHOSE

3 1.01.0003.2.01.8 CU 3904981 Fan of Alternator CUMMINS, PLASSER, BOSCH

4 1.01.0004.2.01.9 CU 500108 R Temperature Sensor CUMINS, PLASSER, VDO, PRICOL

5 1.01.0005.2.01.1 CU 4058965 Coolant Filter CUMMINS, FLEETGUARD, DONALDSON

6 1.01.0006.2.01.2 CU 3040303 Sub: 178623 Alternator Ribbed Belt CUMMINS, FENNER, DUNLOP, PIX

7 1.01.0007.2.01.3 CU 4071834 COOLANT & LUBE OIL 

TEMPERATURE SENSOR

CUMMINS, PLASSER, VDO, PRICOL

8 1.01.0008.2.01.4 CU 3233498 Air Element Filter CUMMINS, FLEETGUARD, DONALDSON

9 1.01.0009.2.01.5 CU 3976820 HOSE CUMMINS, PLASSER, PARKER, 

AEROQUIP, POLYHOSE

10 1.01.0010.2.01.6 CU 4084138 CONNECTION  EXHAUST. 

OUTLET

CUMMINS, PLASSER, PARKER, 

AEROQUIP, POLYHOSE

11 1.01.0011.2.01.7 CU 3040292 Alternator V Belt CUMMINS, FENNER, DUNLOP, PIX

12 1.01.0012.2.01.8 CU 3889310 Sub: LF670 LUBE OIL FILTER CUMMINS,FLEETGUARD,DONALDSON

13 1.01.0013.2.01.9 CU 2872769 SUBS 4383933 SENSOR COOLANT LEVEL CUMINS,PLASSER,VDO,PRICOL

14 1.01.0014.2.01.1 CU AX1006283 Air Filter inner CUMMINS,FLEETGUARD,DONALDSON

15 1.01.0015.2.01.2 CU 3937736 LUBE OIL FILTER CUMMINS,FLEETGUARD,DONALDSON

16 1.01.0016.2.01.3 CU 4968914 FILTER AIR ELEMENT 

(INNER)

CUMMINS,FLEETGUARD,DONALDSON

17 1.01.0017.2.01.4 CU 3237962 Air Element Filter CUMMINS,FLEETGUARD,DONALDSON

18 1.01.0018.2.01.5 CU 4020552/A034W978 Air Cleaner (Safety) CUMMINS,FLEETGUARD,DONALDSON

19 1.01.0019.2.01.6 CU 3401544 Lube-Oil Filter CUMMINS,FLEETGUARD,DONALDSON

20 1.01.0020.2.01.7 CU AX1006282 Air filter outer CUMMINS,FLEETGUARD,DONALDSON

21 1.01.0021.2.01.8 CU 4924947 Sub:AF.4553M AIR CLEANER ELEMENT 

OUTER 

CUMMINS,FLEETGUARD,DONALDSON

22 1.01.0022.2.01.9 CU 4020551 Sub: A034W979 Air Cleaner (Primary) CUMMINS,FLEETGUARD,DONALDSON

23 1.01.0023.2.01.1 CU Cummins Part No. 

3315843/Fleetguard Part 

No. FS.1212/Donaldson 

Part No P558000 

Fuel Filter For N-14 CUMMINS, FLEETGUARD, DONALDSON

24 1.01.0024.2.01.2 CU 4345001 Sub:FS19666 Seperator Fuel Water CUMMINS, FLEETGUARD, DONALDSON

25 1.01.0025.2.01.3 CU 3873258 V-Belt, Water Pump CUMMINS, FENNER, DUNLOP, PIX

26 1.01.0026.2.01.4 CU 217638 Sub:5413187 Belt, V Ribbed CUMMINS, FENNER, DUNLOP, PIX

27 1.01.0027.2.01.5 CU 5483424 Ribbed Belt For Water Pump  CUMMINS, FENNER, DUNLOP, PIX

28 1.01.0028.2.01.6 CU 3231787 SEPARATOR FUEL WATER CUMMINS, FLEETGUARD, DONALDSON, 

PLASSER, CUMMINS, WABCO, DUNCAN

29 1.01.0029.2.01.7 CU 4055279  Air cleaner(Inner)  CUMMINS, FLEETGUARD, DONALDSON 

30 1.01.0030.2.01.8 CU 3238528 B check kit  CUMMINS, FLEETGUARD, DONALDSON 

31 1.01.0031.2.01.9 CU 3878141 RADIATOR PLASSER, CUMMINS, 

32 1.02.0001.2.01.7 DE 0165-22-249-V08-U and

Donaldson Part no.P117781

AIR CLEANER ELEMENT Deutz, Donaldson

33 1.02.0002.2.01.8 DE 0165-22-248-V08-U/ 

P182040

AIR CLEANER ELEMENT Deutz, Donaldson

34 1.02.0003.2.01.9 DE 0165-22-163A and

Donaldson part no. P182039

AIR CLEANER ELEMENT 

OUTER

Deutz, Donaldson

35 1.02.0004.2.01.1 DE 0165-22-164A and

Donaldson part no. P114931

AIR CLEANER ELEMENT 

INNER

Deutz, Donaldson

36 1.02.0005.2.01.2 AM 9990189 and Donaldson 

part no.P500910

AIR FILTER ELEMENT 

OUTER

Colmar, Donaldson

37 1.02.0006.2.01.3 AM 9990190 Donaldson part 

no.P500911

AIR CLEANER ELEMENT 

INNER

Colmar, Donaldson

38 1.02.0007.2.01.4 DE 0165-22-163 Donaldson 

Part no.P182041

AIR FILTER OUTER Deutz,Donaldson

39 1.02.0008.2.01.5 DE 0165-22-164 Donaldson 

Part no.P119370

AIR FILTER INNER Deutz,Donaldson

Annexure II



Page 2 of 60

40 1.02.0009.2.01.6 DE 0148-81-009 Cylinder Clutch Coupling 

(Clutch master cylinder)

Deutz, FTE

41 1.09.0001.2.01.5 AS Ashok leyland Part 

no.F7A05000 or Harco Part 

no.5132009

LUBE OIL FILTER  Harsco, Ashok leyland,

42 1.09.0002.2.01.6 AS Ashok leyland Part 

no.F8211200 or Harco Part 

no.5133038

PRIMARY AIR FILTER  Harsco, Ashok leyland,

43 1.09.0003.2.01.7 AS Ashok leyland Part 

no.F8211300 or Harco Part 

no.5133039

SAFETY AIR FILTER  Harsco, Ashok leyland,

44 2.01.0001.2.01.7 PL 1PF2G2-

4X/008RC20MBK+ 

1PF2G2-

4X/008RC20MDL

PUMP FOR FRM REXROTH, PLASSER

45 2.01.0002.2.01.8 PL 35 YOTB 38A1140 

38X14X12

TRIPLE PUMP [VANE 

PUMP]

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

46 2.01.0003.2.01.9 PH 4P20 HYDRAULIC PUMP 

ASSEMBLY

PHOOLTAS ,SAUER DANFOSS 

47 2.01.0004.2.01.1 PL 62.05.1000.333 PUMP FOR FRM PLASSER ,REXROTH 

48 2.01.0005.2.01.2 PL 62.05.1000.338 PUMP MOTOR 

COMBINATION

PLASSER ,REXROTH ,DANFOSS

49 2.01.0006.2.01.3 PL 62-05-1000-332A PUMP PLASSER ,REXROTH 

50 2.01.0007.2.01.4 PL 62-05-1000-341 CLUTCH PUMP MOTOR 

COMBINATION FOR BCM

PLASSER ,REXROTH ,SAUER-DANFOSS

51 2.01.0008.2.01.5 PL 62-05-1000-342 SYNCHRONOUS DRIVE 

PUMP FOR BCM

PLASSER ,REXROTH ,SAUER-DANFOSS

52 2.01.0009.2.01.6 PL 62-05-2000-111 CUTTER CHAIN DRIVE 

PUMP

PLASSER ,REXROTH 

53 2.01.0010.2.01.7 PL 62-05-2000-112 HYD.  PUMP FOR 

ADDITIONAL 

CUTTERCHAIN

PLASSER ,REXROTH 

54 2.01.0011.2.01.8 PL 62-05-2000-132 PUMP FOR FRM PLASSER ,REXROTH 

55 2.01.0012.2.01.9 PL 62-05-3000-417 TRIPPLE PUMP FOR FRM PLASSER ,REXROTH 

56 2.01.0013.2.01.1 PL 62-05-3000-489 BALLAST DISTRIBUTOR 

PUMP FOR BCM

PLASSER ,REXROTH ,SAUER-DANFOSS

57 2.01.0014.2.01.2 PL 62-05-3000-491 PUMP FOR LIFTING , 

LINNING DEVICES CHAIN 

TENSIONING CYLINDER

PLASSER ,REXROTH ,SAUER-DANFOSS

58 2.01.0015.2.01.3 PL 62-05-3000-572 PUMP PLASSER ,REXROTH 

59 2.01.0016.2.01.4 PL 62-05-4000-137 PUMP FOR FRM PLASSER ,REXROTH 

60 2.01.0017.2.01.5 PL 62-05-4000-241 PUMP FOR BCM PLASSER ,REXROTH 

61 2.01.0018.2.01.6 PL 62-05-4000-242 PUMP FOR HYDRAULIC 

COOLER FAN DRIVE & 

GEAR BOX COOLER

PLASSER ,REXROTH ,SAUER-DANFOSS

62 2.01.0019..2.01.7 PL 62-05-4000-252 WASTE CONVEYOR & 

BALLAST DISTRIBUTOR 

DRIVE PUMP FOR BCM

PLASSER ,REXROTH 

63 2.01.0020.2.01.8 PL 62-05-4000-287 PUMP FOR BCM PLASSER ,REXROTH 

64 2.01.0021.2.01.9 PL 62-05-4000-296 PUMP LUBRICATION & 

FINAL DRIVE FOR BCM

PLASSER ,REXROTH 

65 2.01.0022.2.01.1 PL 64.05.1000.242 PUMP PLASSER ,REXROTH ,DANFOSS

66 2.01.0023.2.01.2 PL G2-4X/1PPE004+MOT-

22A

PUMP MOTOR 

COMBINATION FOR FRM 

M/C

PLASSER ,REXROTH ,SAUER-DANFOSS

67 2.01.0024.2.01.3 PL GLR30 Sub. GL35 HAND PUMP PLASSER ,HANSA TMP. SRL

68 2.01.0025.2.01.4 PL Hy 806-020-014Li/T6-DC-

020-014-3L02-B1-00 INR

HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

69 2.01.0026.2.01.5 PL Hy 806-020-017Li/T6-DC-

020-017-300-B1-INR

HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

70 2.01.0027.2.01.6 PL Hy 806-038-22Re/T6-DC-

038-022-3R02

HYD VANE / DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

71 2.01.0028.2.01.7 PL HY.706X55R SCREEN DRIVE PUMP PLASSER ,REXROTH 

72 2.01.0029.2.01.8 PL HY-40-510 A/220 

Substitute HY40.510

EMERGENCY PUMP UNIT PLASSER ,REXROTH ,HYDAC,DANFOSS



Page 3 of 60

73 2.01.0030.2.01.9 PL HY-704X180L/EP,A-

380BAR

HYD. DRIVING PUMP FOR 

FRM

PLASSER ,REXOTH 

74 2.01.0031.2.01.1 PL HY-704X71L/EP-4 A-350-

BAR

HYD PUMP FOR DGS 

MACHINE

PLASSER ,REXROTH 

75 2.01.0032.2.01.2 PL HY-704X90L/EL/210 XVT-

3005-S-632A-822

HYD VARIABLE DELIVERY 

RADIAL AXLE PISTON 

PUMP

PLASSER ,REXROTH 

76 2.01.0033.2.01.3 PL HY-704X90R/EUA-350 

BAR 

HYD PUMP FOR CUTTING 

CHAIN FOR FRM

PLASSER ,REXROTH 

77 2.01.0034.2.01.4 PL HY-706X70L-DR-180 HYDRAULIC VARIABLE 

DELIVERY PUMP FOR UNI-

3S

PLASSER ,REXROTH 

78 2.01.0035.2.01.5 PL HY709X28L/DFR/S060 HYD. PUMP FOR 

EXCAVATING & WAIST 

CONVEYOR FOR FRM

PLASSER ,REXROTH 

79 2.01.0036.2.01.6 PL HY709X28R/DFR/S059 HYD. PUMP FOR 

DISTRIBUTOR BELT FOR 

FRM

PLASSER ,REXROTH 

80 2.01.0037.2.01.7 PL HY-710AX180 LGP/RNU 

38A

HYD PUMP FOR MPT-2001 PLASSER ,SAUER-DANFOSS 

81 2.01.0038.2.01.8 PL HY-806-20-14RE HYD PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

82 2.01.0039.2.01.9 PL HY-806-20-22L HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

83 2.01.0040.2.01.1 PL HY-806-20-22R HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

84 2.01.0041.2.01.2 PL HY-806-38-17 RE HYD DOUBLE DELIVERY 

PUMP

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

85 2.01.0042.2.01.3 PL HY-806-38-17L HYD DOUBLE PUMP L PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

86 2.01.0043.2.01.4 PL HY-806-38-22LI HYD PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

87 2.01.0044.2.01.5 PL HY830X06X06RE HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

88 2.01.0045.2.01.6 PL HY830X14X10R HYD. VANE PUMP PLASSER ,VELJAN DENISON ,PARKER 

DENISON

89 2.01.0046.2.01.7 PL HY830X17X06Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

90 2.01.0047.2.01.8 PL HY830X25X25Re HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

91 2.01.0048.2.01.9 PL HY831X20X14Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

92 2.01.0049.2.01.1 PL HY831X24X25Re HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

93 2.01.0050.2.01.2 PL HY831X31.10RE DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

94 2.01.0051.2.01.3 PL HY-831X35-17LI HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

95 2.01.0052.2.01.4 PL HY-831X35-17RE HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

96 2.01.0053.2.01.5 PL HY831X35X17X17Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

97 2.01.0054.2.01.6 PL HY-831X38-14-RE HYD DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

98 2.01.0055.2.01.7 PL HY-831X38-25-RE HYD DOUBLE DELIVERY 

PUMP

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

99 2.01.0056.2.01.8 PL HY831X38X17Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

100 2.01.0057.2.01.9 PL HY831X38X22Re HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

101 2.01.0058.2.01.1 PL HY-832 X35-17-17-LI HYD TRIPPLE DELIVERT 

PUMP FOR O9-3X

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

102 2.01.0059.2.01.2 PL HY-832-17-22-22-R HYD TRIPLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

103 2.01.0060.2.01.3 PL HY-832-38-17-14-LI HYD TRIPPLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

104 2.01.0061.2.01.4 PL HY832X20.14.10LI PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON



Page 4 of 60

105 2.01.0062.2.01.5 PL HY832X20X14X14Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

106 2.01.0063.2.01.6 PL HY832X22X22X17Re HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

107 2.01.0064.2.01.7 PL HY832X24X14X14Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

108 2.01.0065.2.01.8 PL HY832X32X22X14Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

109 2.01.0066.2.01.9 PL HY832X32X22X14Re HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

110 2.01.0067.2.01.1 PL HY-832X38-17-14 L HYDR TRIPLE PUMP FOR 

WST

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

111 2.01.0068.2.01.2 PL HY832X38X22X14Li HYD. PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

112 2.01.0069.2.01.3 PL HYS-704X125L/EP/A-

210BAR

HYD VARIABLE DELIVERY 

PUMP

PLASSER ,REXROTH 

113 2.01.0070.2.01.4 PL Plasser Pt no. 

62.05.3000. 490 / Rexroth 

Pt no.  1PF2G2 - 

4X/008RC20MBK + 

1PF2G24 

X/008RC20MDL or 

AZPFF-11- 

008/008RCB2020MB or

R918C01971/Denfoss Pt 

no.

SRL20.694.00

PUMP FOR BCM PLASSER ,REXROTH, DANFOSS

114 2.01.0071.2.01.5 PL Plasser Pt. no. 

62.05.4000. 221  / 

Rexroth Pt. no. 1MF 2G2- 

4X008RS20MA/Denfoss 

Pt. no.

SRL20.059.00

HYD. COOLER MOTOR PLASSER ,REXROTH, DANFOSS

115 2.01.0072.2.01.6 PL HY 830X08-05 LI / 

T6CC.008.005.5L01.C1.1

1.INR

HYD. DOUBLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

116 2.01.0073.2.01.7 PL HY 830X38-14-06 LI / 

T6DCC.038.014.006.3L0

0.A1.00.INR

HYD. TRIPLE PUMP FOR 

NEW DUO

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

117 2.01.0074.2.01.8 PL 62-05-1000-483 BCM DRIVING PUMP PLASSER ,REXROTH 

118 2.01.0075.2.01.9 PL HY 830X38-22-14 RE / 

T6DCC.038.022.014.3R0

0.A1.00.INR

HYD. TRIPLE PUMP FOR 

NEW DUO

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

119 2.01.0076.2.01.1 PL 62-05-4000-363/ 

A11V060DRS/10RNZC12

NOO

SCREEN DRIVE PUMP PLASSER ,REXROTH 

120 2.01.0077.2.01.2 PL HY 830X17-10 RE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

121 2.01.0078.2.01. 3 PL 62-05-1000-34 MOTOR PLASSER ,REXROTH 

122 2.01.0079.2.01.4 PL HY718X125L/EP4/21A! HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

123 2.01.0080.2.01. 5 PL HY718X125R/EP4/35A HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

124 2.01.0081.2.01. 6 PL HY725X20LI HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

125 2.01.0082.2.01. 7 PL HY72SX31LI HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

126 2.01.0083.2.01. 8 PL HY72SX31RE HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

127 2.01.0084.2.01. 9 PL HY832X24.17.06 HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

128 2.01.0085.2.01. 1 PL HY832X24.17.06LI HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON



Page 5 of 60

129 2.01.0086.2.01. 2 PL HY832X31.17.14LI HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

130 2.01.0087.2.01. 3 PL HY842X38.22.12RE HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

131 2.01.0088.2.01. 4 PL HY843X35.35LI HYDRAULIC PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

132 2.01.0089.2.01. 5 PL HY 832 X 14 X 10 X 06 

RE

TRIPLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

133 2.01.0090.2.01.6 PL HY704X90L/EL/A175 Drive Pump Plasser IMP, Rexroth 

134 2.01.0091.2.01.7 PL 644-28616-1 Pump Plasser, SKF (Lincoln), Dropco

135 2.01.0092.2.01.8 AM 60303002 PV7 Sub.

6030031, Eaton part no 

4621- 245/4623-245

HYD PUMP DRIVING (T- 28) Ameca (Colmar), Eaton

136 2.01.0093.2.01.9 PL HY720X145L/EP4Y/21A VARIABLE

DISPLACEMENT PUMP

PL,REXROTH

137 2.01.0094.2.01.1 PL HY704X90L/EP4/A-210 

BAR

and Bosch- Rexroth : 

no.A4VG90EP4D1/32L- 

NZF02F001SP

HYD PUMP VARIABLE AXLE 

PISTON (CSM)

Plasser,  Bosch- Rexroth

138 2.01.0095.2.01.2 PL HY704X90R-EP4/A 350 

BAR

and Rex no. 

A4VG.90.EP4 D1/32 

RNZFOISP

HYD PUMP VARIABLE 

[FRM]

Plasser,  Bosch- Rexroth

139 2.01.0096.2.01.3 PL HYS 704X 90R EL 

210/350

bar and Bosch- Rexroth : 

no.A4 VG 90 EP4 D1/32 

RNZF01SP

VARIABLE PUMP Plasser,  Bosch- Rexroth

140 2.01.0097.2.01.4 PL HY718X125L/HD3DA/35

A/15

0/122  Bosch- Rexroth : 

A4VG125HD3D1/32L- 

NZF02F021S

HYD PUMP Plasser,  Bosch- Rexroth

141 2.01.0098.2.01.5 PL HY720X175L/EP4/38A 

and

Bosch- Rexroth

:A4VG175EP4DP0T0/40

MLN E4A21F0000AS00-

S

HYD PUMP Plasser,  Bosch- Rexroth

142 2.01.0099.2.01.6 PL 0580054001/0580464209 FUEL PUMP 24V PLASSER IMP, BOSCH.

143 2.01.0100.2.01.7 PL UD20.19 PUMP STATION PLASSER/SKF (LINKOLIN),Machfox 

hydraulics and lubrication system

144 2.01.0101.2.01.8 PL HY714X06LI and Veljan-

Denison Part no. TM4C-

006- 2L01-A1-INR

HYD PUMP Plasser, Veljan Denison

145 2.01.0102.2.01.9 PL HY832X14.14.06RE and

Denison Part no. T6DCC-

014- 014-006-3R00-A1-

00

TRIPPLE PUMP Plasser, Veljan-Denision

146 2.01.0103.2.01.1 PL HY832X17.14.06LI and

Veljan Denison part no 

T6DCC-017-014-006-

3L00- C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

147 2.01.0104.2.01.2 PL HY832X17.14.08RE and

Denison Part no. T6DCC-

017- 014-008-3R00-C1-

00

TRIPPLE PUMP Plasser, Veljan-Denision



Page 6 of 60

148 2.01.0105.2.01.3 PL HY832X17.17.06RE and

Denison Part no. T6DCC-

017- 017-006-3R00-C1-

00

TRIPPLE PUMP Plasser, Veljan-Denision

149 2.01.0106.2.01.4 PL HY832X17.17.08LI and

Denison part no. T6DCC-

017- 017-008-3L00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

150 2.01.0107.2.01.5 PL HY832X20.17.06LI and

Denison Part no. T6DCC-

020- 017-006-3L00-A1-00

TRIPPLE PUMP Plasser, Veljan-Denision

151 2.01.0108.2.01.6 PL HY832X20.22.22LI and

Veljan Denison Part no. 

T6DCC-020-022-022-

3L00- B1-00

TRIPPLE PUMP Plasser, Veljan-Denision

152 2.01.0109.2.01.7 PL HY832X38.14.12LI and

Denison Part no.T6DCC-

038- 014-012-3L00-B1-00

TRIPPLE PUMP Plasser, Veljan-Denision

153 2.01.0110.2.01.8 PL HY832X38.22.03LI and

Denison part no T6DCC-

038- 022-003-3L00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

154 2.01.0111.2.01.9 PL HY832X38.22.17RE and

Denison Part no. 

T6DCC.038.022.017.3R0

0.B1

.00

TRIPPLE PUMP Plasser, Veljan-Denision

155 2.01.0112.2.01.1 PL HY842X28.28.17RE and

Denison part no T6DDCS- 

028-028-017-3R00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

156 2.01.0113.2.01.2 PL HY842X35.35.17 LI 

Denison

part no T6DDCS-035-035- 

017-3L00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

157 2.01.0114.2.01.3 PL HY842X38.38.17LI and

Denison part no. 

T6DDCS- 038-038-017-

3L00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

158 2.01.0115.2.01.4 PL HY842X38.38.20LI and

Denison part no. 

T6DDCS- 038-038-020-

3L00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

159 2.01.0116.2.01.5 PL HY842X38.38.20RE and

Denison part no. 

T6DDCS- 038-038-020-

3R00-C1-00

TRIPPLE PUMP Plasser, Veljan-Denision

160 2.01.0117.2.01.6 PL HY831X24.08LI and 

Denison

part no. T6DC-024-008-

3L00- C1-00

DOUBLE PUMP Plasser, Veljan-Denision

161 2.01.0118.2.01.7 PL HY831X31.08RE and

Denison part no. T6DC-

031- 008-3R00-C1-00

DOUBLE PUMP Plasser, Veljan-Denision

162 2.01.0119.2.01.8 PL HY843X35.35 RE and

Denison Part no. T6DDS-

035- 035-3R00-C1-00

DOUBLE PUMP Plasser, Veljan-Denision



Page 7 of 60

163 2.01.0120.2.01.9 PL 6030027 & Salami part 

no.2PBG8.3D

HYD.PUMP 2PB8.3D 

(EMERGENCY)

COLMAR,Plasser,
Salami

164 2.01.0121.2.01.1 COL

MAR

H2710010 & Brevini Part no. 

B0025271, 

0T300P32/32D/G33S3

HYD PUMP COLMAR,
Brevini

165 2.01.0122.2.01.2 COL

MAR

H2750000 and Brevini part 

no. PS220714 7D; 01200 

P04/04 D/G28P2/2

HYD PUMP COLMAR,
Brevini

166 2.01.0123.2.01.3 COL

MAR

H3011090 and Bosch 

Rexroth part no A4 VG71 

EP4D 1/32 R- 

NSF02F001BP, MNR:

R902284289

HYD PUMP (VARIABLE) COLMAR ,
Bosch Rexroth

167 2.01.0124.2.01.4 COL

MAR

H3011090 and Bosch 

Rexroth part no A4 VG71 

EP4D 1/32 R-

NZF02F071BP,

R902284288

HYD PUMP (VARIABLE) COLMAR ,
Bosch Rexroth

168 2.01.0125.2.01.5 SI 6192 250 01 00 B and 

Eaton Part no.

3923-420 ROTATION CCW

1018083570 and Bosch- 

Rexroth Part no. 

A4VG71HD3D1/32L- 

NZFO2F001-S

HYD PUMP (DRIVE ) Simplex, Eaton , Bosch- Rexroth

169 2.01.0126.2.01.6 COL

MAR

6030028 & Salami part 

no.2PB6.2D

HYD PUMP 

(EMERGENCY/SAFE TY 

ENGINE)

COLMAR,
Salami

170 2.01.0127.2.01.7 COL

MAR

6030029 & Salami part no. 

3PBG27127-5-FS

HYD PUMP WORKING (T-

28)

COLMAR,
Salami

171 2.01.0128.2.01.8 PH D09PMP030600 and Bosch- 

REXROTH

: A17FOO45/10NLWK0E81-

0

MAIN PUMP Phooltas, Bosch- Rexroth

172 2.01.0129.2.01.9 SI 6192 250 02 00 B and 

Eaton/Danfoss Part no. 

3520 VQ 25 A 12 11 AD 20

HYD PUMP (SYSTEM) Simplex, Eaton

173 2.01.0130.2.01.1 NIL HY832X20X14X 14RE TRIPLE  PUMP Plasser, Veljan

174 2.01.0131.2.01.2 PL HY710X180RGP/RNU38A+

06

Variable pump for chain drive PLASSER, DANFOSS

175 2.01.0132.2.01.3 PL HY710X180RGP/RNU38A+

22

Variable Pump Chain drive, PLASSER, DANFOSS

176 2.01.0133.2.01.4 PL HY832X17.17.12RE / 

Denison Part no.T6DCC-

017-017-012-3R00-C1-00

HYD TRIPLE PUMP PLASSER, VELJAN DENISON

177 2.01.0134.2.01.5 PL HY832X38.17.14RE / 

Denison Part no. T6DCC-

038-017-014-3R00-A1-00

HYD TRIPLE PUMP PLASSER, VELJAN DENISON

178 2.01.0135.2.01.6 HA Harsco Part no.5131774  / 

OEPL Part no. OEPLP1 / 

Bosch Rexroth Part no. 

A4VG71DA1D3 /32R-

NZF02F041SP 

(R902270651)

PUMP Harsco, OEPL, Bosch Rexroth

179 2.01.0136.2.01.7 PL HY830X17.06RE HYDRAULIC PUMP PLASSER, VELJAN DENISON

180 2.01.0137.2.01.8 PL HY712X60L/HD1/D350+60L

/HD1/D

Variable Displacement pump 

for screen & waste conveyor 

belt drive of FRM

PLASSER, REXROTH

181 2.01.0138.2.01.9 PL HY843X20.20RE HYD. PUMP  Plasser, Rexroth, Denison Danfoss

182 2.01.0139.2.01.1 PL HY936.N5,5 DC PUMP UNIT Plasser, Rexroth, Denison Danfoss



Page 8 of 60

183 2.01.0140.2.01.2 PL PLASSER PART NO. 

HY722X85R/EP2D+45R/EP

2D SUB 

HY709X71(65)RFED+45R/F

ED REXROTH PART NO. 

AA10VO85EP2D53R 

VUC62K04P+45R/EP2D 

WITH AMPLIFIER CHORD 

PART NO. VT11

WASTE MAIN CONVEYOR 

PUMP 

Plasser, Rexroth, Denison Danfoss

184 2.01.0141.2.01.3 PL HY709X71L/DFR+28L/DFR PUMP Plasser, Rexroth, Denison Danfoss

185 2.01.0142.2.01.4 PL LUTZ/ALU24V400W/1000M

M/MA5

FUEL BARREL PUMP Plasser, Rexroth, Denison Danfoss

186 2.01.0143.2.01.5 PL HY721X78LE8/22A/20+SNP

3/33

DUAL PUMP Plasser, Rexroth, Denison Danfoss

187 2.01.0144.2.01.6 PL HY721X78LE8/27A/20+SNP

3/33

VARIABLE DISPLACEMENT 

PUMP 

Plasser, Rexroth, Denison Danfoss

188 2.01.0145.2.01.7 PL 65.05.1000.399 PUMP MOTOR 

COMBINATION 

Plasser, Rexroth, Denison Danfoss

189 2.01.0146.2.01.8 PL HY721X147RE8/18A-SAEC HYD. PUMP Plasser, Rexroth, Denison Danfoss

190 2.01.0147.2.01.9 CR T6CMB143R00C1 Vane Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

191 2.01.0148.2.01.1 CR 41071681 VELJAN 

DENISON Part No.T6DCM-

B35-B12-3R00-C1M0

Double Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

192 2.01.0149.2.01.2 CR 41071680 VELJAN 

DENISON Part No.T6DCCM-

B24-B12-B12-3L00-B1M0. 

Triple Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

193 2.01.0150.2.01.3 CR 41071796 SUB T6DCCM-

B35-B17-B10-3L00-B1M0

Triple Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

194 2.01.0151.2.01.4 CR 40103554 SUB H1-P-130-L-

B-A-A5-C2-N-D6-GG3-NN-L-

35-L-35-L-L-28-PN-NNN-

NNN

Double Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

195 2.01.0152.2.01.5 CR 40103553 SUB H1-P-130-L-

B-A-A5-C2-N-D6-GG2-H4-L-

35-L-35-L-L-28-PN-NNN-

NNN

Double Pump CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, Vickers

196 2.02.0001.2.01.8 PL 62-05-1000-309 PUMP MOTOR 

COMBINATION USED FOR 

CLUTCH CKT. OF BCM

PLASSER ,REXROTH ,SAUER-DANFOSS

197 2.02.0002.2.01.9 PL 62-05-1000-374-A PUMP HYDRAULIC 

TRACTION FOR BCM

PLASSER ,REXROTH 

198 2.02.0003.2.01.1 PL 62-05-1000-400-

A+D76:F111

TRAVEL DRIVE MOTOR 

FOR BCM

PLASSER ,REXROTH 

199 2.02.0004.2.01.2 PL 62-05-2000-123 variable motor for additional 

cutter chain for BCM / MPT  

M/C

PLASSER ,REXROTH 

200 2.02.0005.2.01.3 PL 62-05-4000-220 FAN DRIVE MOTOR FOR 

MAIN GEAR OIL COOLER 

OF BCM

PLASSER ,REXROTH ,SAUER-DANFOSS

201 2.02.0006.2.01.4 PL Plasser Pt. no. 

62.05.4000. 253/ Rexroth 

Pt. no. A2FM 

63/61WVAB020/ Denfoss 

Pt. no.

121.86.12.902

MAIN CONVEYOR BELT 

DRIVE & SCREEN DRIVE 

MOTOR FOR BCM

PLASSER/REXROTH/ DANFOSS

202 2.02.0007.2.01.5 PL 62-05-4000-254 SCREEN DRIVEMOTOR PLASSER ,REXROTH 

203 2.02.0008.2.01.6 PL A2FM12LEEERNTEIL MOTOR PLASSER ,REXROTH 

204 2.02.0009.2.01.7 PL Hy 701.N22Li/TM4C-022-

2L01-A1-INR

HYD MOTOR PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

205 2.02.0010.2.01.8 PL Hy 725X35LI/TM4D-035-

3L01-A1-INR

HYD MOTOR PLASSER ,PARKER-DENISON ,VELJAN

206 2.02.0011.2.01.9 PL HY 92 SN 32 D HYD. MOTOR FOR DGS PLASSER ,EATON 



Page 9 of 60

207 2.02.0012.2.01.1 PL HY701.N14L HYD.MOTOR PLASSER ,VELJAN DENISON ,PARKER 

DENISON

208 2.02.0013.2.01.2 PL HY-701-N-10-RE, T2SC-

O10-2R-01-A1.

HYD MOTOR FOR COOLING PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

209 2.02.0014.2.01.3 PL HY-701-N-14RE VIBRATION MOTOR PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

210 2.02.0015.2.01.4 PL HY-701-N-17L HYD MOTOR PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

211 2.02.0016.2.01.5 PL HY-701-N-17RE HYD MOTOR FOR 

VIBRATION

PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

212 2.02.0017.2.01.6 PL HY-701-N-22RE HYD VIBRATION MOTOR PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

213 2.02.0018.2.01.7 PL HY-701-N25-LI HYDRAULIC COOLER 

MOTOR FOR MPT

PLASSER ,VELJAN DENISON ,PARKER 

DENISON

214 2.02.0019.2.01.7 PL HY-72SX28LI HYD VIBRATION MOTOR PLASSER ,PARKER/DENISON 

,VELJAN/DENISON

215 2.02.0020.2.01.9 PL HY-72SX28RE HYD VIBRATION MOTOR PLASSER ,PARKER/DENISON 

,VELJAN/DENISON

216 2.02.0021.2.01.1 PL HY-72SX35 RE  VIBRATION MOTOR PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

217 2.02.0022.2.01.2 PL HY-832-38-22-14-LI HYD TRIPPLE PUMP PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

218 2.02.0023.2.01.3 PL HY-901-N-200 HYD MOTOR PLASSER ,SAUER-DANFOSS 

219 2.02.0024.2.01.4 PL HY--

909X160HAIT/50/280 

BAR

DRIVE MOTOR FOR FRM 

M/C

PLASSER ,REXROTH 

220 2.02.0025.2.01.5 PL HY90N33 HYDRAULIC MOTOR PLASSER ,VELJAN DENISON ,PARKER 

DENISON

221 2.02.0026.2.01.6 PL HY90.N42 and Denison 

Part no. M4C-043-2N00-

A1-M4

HYD.MOTOR Plasser, Veljan Denison

222 2.02.0027.2.01.7 PL HY-90-N-52 HYDRAULIC MOTOR FOR 

MPT

PLASSER ,VELJAN DENISON ,PARKER 

DENISON

223 2.02.0028.2.01.8 PL HY-910X28X61-PAB01 BENT AXIS MOTOR FOR 

CONVEYOR BELT DRIVE

PLASSER ,REXROTH 

224 2.02.0029.2.01.9 PL HY-910X56 HYD. MOTOR FOR DGS M/C PLASSER ,REXROTH 

225 2.02.0030.2.01.1 PL HY-

910X56/6.1W/PZ/8027

MOTOR FOR CUTTING 

CHAIN OF FRM

PLASSER ,REXROTH 

226 2.02.0031.2.01.2 PL HY-915-N-160 HYD MOTOR FOR DRIVING 

SATELLITE

PLASSER ,SAUER-DANFOSS 

227 2.02.0032.2.01.3 PL HY-916-N-500 HYD MOTOR FOR DRIVING PLASSER ,SAUER-DANFOSS 

228 2.02.0033.2.01.4 PL HY-916N-630 HYDRAULIC MOTOR PLASSER ,SAUER-DANFOSS 

229 2.02.0034.2.01.5 PL HY-916-N-800 HYD MOTOR PLASSER ,SAUER-DANFOSS 

230 2.02.0035.2.01.6 PL HY922N200 MOTOR PLASSER ,VELJAN DENISON ,PARKER 

DENISON

231 2.02.0036.2.01.7 PL HY92N30 COOLER MOTOR PLASSER ,VELJAN DENISON ,PARKER 

DENISON

232 2.02.0037.2.01.8 PL HY-935-N16 HYDRAULIC MOTOR FOR 

BCM

PLASSER ,REXROTH 

233 2.02.0038.2.01.9 PL HY-937X160 F2 A2 28A / 

40MW

HYD MOTOR PLASSER ,SAUER-DANFOSS 

234 2.02.0039.2.01.1 PL 62-05-1000-396A PUMP MOTOR 

COMBINATION FOR FRM 

M/C

PLASSER ,REXROTH ,DANFOSS

235 2.02.0040.2.01.2 ALL HY(!)X56/61W-VZB9027 Motor for Cutting Chain of 

FRM

Plasser or Rexroth

236 2.02.0041.2.01.3 PL HY910X 28/61W-VAB010 

and Bosch- Rexroth : 

A2FM28/61W-VAB01

HYD MOTOR Plasser,  Bosch- Rexroth

237 2.02.0042.2.01.4 PL HY901N160 and Danfoss 

Part

no.OMT-160

HYD MOTOR Plasser, Danfoss

238 2.02.0043.2.01.5 PL HY901N 200/E and 

Danfoss P

SATELLITE DRIVING

MOTOR

Plasser, Danfoss



Page 10 of 60

239 2.02.0044.2.01.6 PL HY72SX20R and Veljan 

Denison Part no.T2D-020-

3R00-B1

HYD MOTOR Plasser, Veljan Denison

240 2.02.0045.2.01.7 SI 6192 250 03 00 B and 

Hydrolu M 41 A D1 LO M2 0 

0 SV F

DRIVING MOTOR (Plain 

Shaft)

Simplex, Hydroludac

241 2.02.0046.2.01.8 SI 6192 250 03 00 B and 

Hydrolu M 41 A W1 LO M2 

0 0 SV F

DRIVING MOTOR (Splined 

Shaft)

Simplex, Hydroludac

242 2.02.0047.2.01.9 SI 6192 250 04 00 B and 

Veljan-Denision Part no. 

M3B-036-1N00-B1-02-INR

HYD MOTOR COOLER Simplex , Veljan- Denision

243 2.02.0048.2.01.1 COL

MAR

6120012 and Rexroth Part 

no A2FE63/61V2L-100S 

and

Tracmec Part no. 

RMOTA2FE63R

HYDRAULIC MOTOR FOR 

CRAWLER

COLMAR, REXROTH, TRACMEC

244 2.02.0049.2.01.2 COL

MAR

6130010 and 

Promatec/poclain part no 

MS05-8-113-

F05

Rail Wheel Motor COLMAR, PROMATEC

245 2.02.0050.2.01.3 COL

MAR

H4362960 and Bosch 

Rexroth part no 

A6VE080EZ800P001B/65M 

WV0Y2Z920V-0,

R902275361

HYD MOTOR (CRAWLER 

MOTOR)

COLMAR ,
Bosch Rexroth

246 2.02.0051.2.01.4 KA OMV.500.151B3 102 HYDRAULIC MOTOR KA,  PL, DANFOSS

247 2.02.0052.2.01.5 PL HY912X250+DGRF314/154- 

5311

Waste Conveyor Motor PLASSER, DANFOSS

248 2.02.0053.2.01.6 PL HY952W45X160T2DA28A/4

7

Variable Motor Chain Drive PLASSER, DANFOSS

249 2.02.0054.2.01.7 PL HY900N200 SUB. 

HY900NX200 / Danfoss Part 

no. OMP-200

HYD MOTOR PLASSER, DANFOSS

250 2.02.0055.2.01.8 PL HY910X80/61W-VZB-100 

(R996825460) / Rexroth 

Part no. A2FM80/6W-

PZB100

HYD MOTOR PLASSER, BOSCH REXROTH

251 2.02.0056.2.01.9 PL M1CX042 1N01 A1M2 HYD MOTOR PLASSER,ZF

252 2.02.0057.2.01.1 PL Harsco Part no.5138480 / 

OEPL Part no. OEPLGM1 / 

Bosch Rexroth Part no. 

A6VM80HA1R1/ 63W-

VZB0170PA 

DRIVING MOTOR Harsco, OEPL, Bosch Rexroth

253 2.02.0058.2.01.2 PL HY940X390 Conveyor belt drive Motor for 

FRM

PLASSER ,PARKER DENISON,VELJAN 

DENISON

254 2.02.0059.2.01.3 PL 62.05.4000.422  Main conveyor belt drive 

motor for BCM

PLASSER, REXROTH

255 2.02.0060.2.01.4 PL HY925N12, 5 (151G0004)  

SUB  HY925N12.5/D

HYD. MOTOR Plasser, Rexroth, Denison Danfoss

256 2.02.0061.2.01.5 PL HY900N200 HYD. MOTOR Plasser, Rexroth, Denison Danfoss

257 2.02.0062.2.01.6 PL HY910X23/61W-VAB010 MOTOR Plasser, Rexroth, Denison Danfoss

258 2.02.0063.2.01.7 PL PLASSER PART NO. 

HY943X107HA1T-

40/280BAR/10L / 

REXROTH PART NO. 

A6VM107HA1T/63W-

VZB027 A (BRIN ID 

R971049547)

MOTOR Plasser, Rexroth, Denison Danfoss

259 2.02.0064.2.01.8 PL Plasser part no. 

HY952X60E2AA/15/AX Sub. 

SU126.10108.1.1

Hydraulic Motor Plasser, Rexroth, Denison Danfoss

260 2.02.0065.2.01.9 PL HY953N185-A Sub. 

HY953N185

HYD. MOTOR Plasser, Rexroth, Denison Danfoss

261 2.02.0066.2.01.1 PL HY940X560 HYDRAULIC MOTOR Plasser, Rexroth, Denison Danfoss

262 2.02.0067.2.01.2 PL HY90.N33/02M HYDRAULIC MOTOR Plasser, Rexroth, Denison Danfoss



Page 11 of 60

263 2.02.0068.2.01.3 PL HY921X25/BE-6,273 HYDRAULIC MOTOR Plasser, Rexroth, Denison Danfoss

264 2.02.0069.2.01.4 PL HY916 N 800 HYDRAULIC MOTOR Plasser, Rexroth, Denison, Sauer Danfoss

265 2.02.0070.2.01.5 PL HY943X250HA IT-10/280 HYDRAULIC MOTOR Plasser, Rexroth, Denison, Sauer Danfoss

266 2.02.0071.2.01.6 PL HY90.N52M HYDRAULIC MOTOR Plasser, Rexroth, Denison, Sauer Danfoss

267 2.02.0072.2.01.7 CR 41069546 SUB T2SCT Y10 

3R01 A1

Tamping Unit Vibration Motor CRCC,VELJAN 

DENISON,REXROTH,PARKER,SAUER-

DANFOSS  ,VICKERS

268 2.02.0073.2.01.8 CR 41069545 SUB T2SCT Y10 

3L01 A1

Tamping Unit Vibration Motor  CRCC,VELJAN 

DENISON,REXROTH,PARKER,SAUER-

DANFOSS  ,VICKERS

269 2.02.0074.2.01.9 PL HY925N32 SUBSTITUTE 

HY925N32/D

HYDRAULIC MOTOR PLASSER, REXROTH, DENISON 

DANFOSS, PARKER-DENISON, VELJAN-

DENISON

270 2.03.0001.2.01.9 PL  HY-10-RSEA SOLENOID OPERATED 

DIRECTIONAL CONTROL 4 

WAY VALVE FOR LINING & 

T/UNIT SLIDING [ UNO/DUO]

PLASSER ,REXROTH ,VELJAN-DENISON

271 2.03.0002.2.01.1 PL  HY-22-RSJ-ET PILOT OPERRTED 

SOLENOID CONTROL 

DIRECTIONAL CONTROL 4 

WAY VALVE FOR DRIVING

PLASSER ,REXROTH ,VELJAN-DENISON

272 2.03.0003.2.01.2 PL 15M12 L1X/250 HYD.D.C.VALVE PLASSER ,REXROTH 

273 2.03.0004.2.01.3 PL 4WH6Y53 HYD. D C VALVE FOR BCM 

M/C

PLASSER ,REXROTH 

274 2.03.0005.2.01.4 PL 52-05-2000-111 PRESSURE LIMITING 

VALVE FOR CLUTCH 

CIRCUIT OF BCM

PLASSER ,REXROTH 

275 2.03.0006.2.01.5 PL 62.05.1000.111 VALVE PLASSER ,REXROTH 

276 2.03.0007.2.01.6 PL 62.05.1000.366 HYDRAULIC D.C. VALVE 

FOR FRM MACHINE.

PLASSER ,REXROTH 

277 2.03.0008.2.01.7 PL 62-05-1000-1380RE HYD.PRESSURE VALVE PLASSER ,REXROTH 

278 2.03.0009.2.01.8 PL 62-05-1000-424 PRESSURE RELIEF VALVE 

FOR CLUTCH ASSEMBLY

PLASSER ,REXROTH 

279 2.03.0010.2.01.9 PL 62-05-3000-178 PRESSURE CONTROL 

VALVE FOR CHAIN GUIDE 

FOR BCM

PLASSER ,REXROTH 

280 2.03.0011.2.01.1 PL 62-05-3000-488 PRESSURE LIMIT VALVE 

FOR SCREENING 

ADJUSTEMENT LIFTING & 

LINNING DEVICE FOR BCM

PLASSER ,REXROTH 

281 2.03.0012.2.01.2 PL 62-05-3000-504 HYD VALVE PLASSER ,REXROTH 

282 2.03.0013.2.01.3 PL 62-05-4000-258 CONTROL VALUE PLASSER ,REXROTH 

283 2.03.0014.2.01.4 PL 62-05-4000-259 PRESSURE CONTROL 

VALVE FOR CONVEYOR 

BELT DRIVE FOR BCM

PLASSER ,REXROTH 

284 2.03.0015.2.01.5 PL A2FM45/61WVAB010 HYD VIBRATION MOTOR 

FOD DGS M/C

PLASSER ,REXROTH 

285 2.03.0016.2.01.6 PL BF-3-10-1.0 BREATHER FOR BCM M/C PLASSER ,HYDAC 

286 2.03.0017.2.01.7 PL DBEMI-

205X100XG24731M

HYD VALVE PLASSER ,REXROTH 

287 2.03.0018.2.01.8 PL DVE-8-1-0 HYDRAULIC STOP COCK PLASSER ,VELJAN-DENISON ,HYDAC

288 2.03.0019.2.01.9 PL ELF3-40.1 Sub. FSB-25 FILTER PLASSER ,HYDROLINE 

289 2.03.0020.2.01.1 PL EL-T-76-00 SERVO VALVE PLASSER ,STAR HYDRAULICS, UK, MOOG 

290 2.03.0021.2.01.2 PL HY06 RSB D.C. VALUE PLASSER ,REXROTH , 

291 2.03.0022.2.01.3 PL HY-06-RSD HYD 4 WAY D C VALVE, 

PILOT OPERATED-

INTERNAL DRAIN

PLASSER ,REXROTH ,VELJAN-DENISON



Page 12 of 60

292 2.03.0023.2.01.4 PL HY-06-RSEA HYD 4 WAY SOL OPTD D C 

VALVE INTERNAL PILOT 

INTERNAL DRAIN

PLASSER ,PARKER-DENISON ,REXROTH

293 2.03.0024..2.01.5 PL HY-06-RSJA SOL OPTD D C VALVE PLASSER ,PARKER-DENISON, REXROTH

294 2.03.0025.2.01.6 PL HY-06-RSX, SOL OPTD 4WAY D C 

VALVE (06 SIZE BY PASS 

VALVE)

PLASSER ,REXROTH ,VELJAN-DENISON

295 2.03.0026.2.01.7 PL HY-100-02 HYD FLOW CONTROL 

VALVE

PLASSER ,HYDAC,VELJAN-

DENISON,STAUFF

296 2.03.0027.2.01.8 PL HY-10-RSDA D C VALVE PLASSER ,REXROTH ,VELJAN-DENISON

297 2.03.0028.2.01.9 PL HY-10-RSGA  HYD 4 WAY D C VALVE, 

INTERNAL PILOT - 

INTERNAL DRAIN

PLASSER ,REXROTH ,VELJAN-DENISON

298 2.03.0029.2.01.1 PL HY-10RSH VALVE FOR CLUTEH 

CIRCUIT

PLASSER ,REXROTH 

299 2.03.0030.2.01.2 PL HY-10-RSJA SOLENOID OPERATED 

DIRECTIONAL CONTROL 4 

WAY VALVE FOR TRACK 

LIFTING & T/U SLIDING

PLASSER ,REXROTH ,VELJAN-DENISON

300 2.03.0031.2.01.3 PL HY-10-RSXA D C VALVE PLASSER ,REXROTH ,VELJAN-DENISON

301 2.03.0032.2.01.4 PL HY-151-19 PILOT OPERATE CHECK 

VALVE

PLASSER ,VELJAN-DENISON 

302 2.03.0033.2.01.5 PL HY-151-31 REDUCING VALVE PLASSER ,REXROTH 

303 2.03.0034.2.01.6 PL HY-151-71/SC171 LOGIC VALVE PLASSER ,STAR HYDRAULICS UK, 

SUNPARTS   

304 2.03.0035.2.01.7 PL

305 2.03.0036.2.01.8 PL HY-154-22 PRESSURE REDUCING 

VALVE

PLASSER ,REXROTH 

306 2.03.0037.2.01.9 PL HY-155-12 DOUBLE CHECK VALVE PLASSER ,REXROTH ,VELJAN-DENISON

307 2.03.0038.2.01.1 PL HY-16-RSDET SOL OPTD D C VALVE PLASSER ,REXROTH ,VELJAN-DENISON

308 2.03.0039.2.01.2 PL HY-16-RSH D C VALVE PLASSER ,REXROTH 

309 2.03.0040.2.01.3 PL HY-22-RSDET PILOT OPERRTED 

SOLENOID DIRECTIONAL 

CONTROL 4 WAY VALVE 

INTERNAL PILOT - 

INTERNAL DRAIN FOR 

SQUEEZING

PLASSER ,REXROTH ,VELJAN-DENISON

310 2.03.0041.2.01.4 PL HY-511-06, R4V06-53G-

10A1

HYD RELIEF VALVE PLASSER ,VELJAN-DENISON 

311 2.03.0042.2.01.5 PL HY-511-07 HYD. VALVE PLASSER ,REXROTH ,VELJAN-DENISON

312 2.03.0043.2.01.6 PL HY-511-08/09/10 Sub 

R4V03-53F-10A1

HYD RELIEF VALVE PLASSER ,VELJAN-DENISON 

313 2.03.0044.2.01.7 PL HY-511-11 Sub R4U10-

533-10A1

CUT-OFF VALVE PLASSER ,VELJAN-DENISON 

314 2.03.0045.2.01.8 PL HY-511-12 CARTIDGE FOR 

UNLOADER VALVE

PLASSER ,REXROTH ,VELJAN-DENISON

315 2.03.0046.2.01.9 PL HY—511- 12 Sub R4U06-

533-10A1

UNLOADER VALVE PLASSER ,REXROTH ,VELJAN-DENISON

316 2.03.0047.2.01.1 PL HY-511-14 PRESSURE REDUCING D C 

VALVE

PLASSER ,REXROTH ,VELJAN-DENISON

317 2.03.0048.2.01.2 PL HY-511-15, R4-V10-53G-

10A1

PRESSURE RELIEF VALVE PLASSER ,VELJAN-DENISON 

318 2.03.0049.2.01.3 PL HY-511-16, R4V06-53G-

10A1

RELIEF VALVE PLASSER ,VELJAN-DENISON 

319 2.03.0050.2.01.4 PL HY-511-18, HY-151-18 HYD CHECK VALVE PLASSER ,VELJAN-DENISON 

320 2.03.0051.2.01.5 PL HY-511-19/150 BAR HYDRAULIC VALVE PLASSER ,REXROTH 

321 2.03.0052.2.01.6 PL Plasser Pt. no. 511.22 PRESSURE REDUCING 

VALVE WITH SUB PLATE 

PLASSER ,DENISON,REXROTH 

322 2.03.0053.2.01.7 PL HY-511-31, ZDR10DP2-

5X/150YM

PRESSURE REDUCING 

VALVE

PLASSER ,REXROTH 

As per recommendation of SECR item shifted from Annexure-II to Annexure-I with Plasser make.



Page 13 of 60

323 2.03.0054.2.01.8 PL HY-55R, DR-20-4-4-

X/315Y

PRESSURE REDUCING 

VALVE

PLASSER ,REXROTH 

324 2.03.0055.2.01.9 PL HY-56R RELIEF VALVE PLASSER ,REXROTH ,VELJAN-DENISON

325 2.03.0056.2.01.1 PL HY-6-RSD SOL OPTD D C VALVE PLASSER ,PARKER-DENISON ,VELJAN-

DENISON

326 2.03.0057.2.01.2 PL HYN25-RPE325.TD PROPORTIONAL VALVE PLASSER ,REXROTH 

327 2.03.0058.2.01.3 PL HYA25—RPE2-

325.DSO728 SUB  

4WRZ25E2-325- 

TX/6EG24NK4/D3M-728

PROPORTIONAL VALVE PLASSER ,REXROTH 

328 2.03.0059.2.01.4 PL HY-V-10-RSDET HYD 4 WAY D C VALVE 

PILOT OPERATED 

INTERNAL PILOT INTERNAL 

DRAIN

PLASSER ,REXROTH 

329 2.03.0060.2.01.5 PL HYV-10-RSEET PILOT OPERATED SOL. 

CONTROL 4 WAY VALVE

PLASSER ,REXROTH 

330 2.03.0061.2.01.6 PL HY-V10-RSH HYD.D.C. VALVE PLASSER ,REXROTH 

331 2.03.0062.2.01.7 PL R4V03-5DI-10A-1 CARTRIGE KIT FOR RELIEF 

VALVE

PLASSER ,VELJAN-DENISON 

332 2.03.0063.2.01.8 PL Hy151.06/0.5Bar Check Valve PLASSER ,VELJAN-DENISON ,Rexroth

333 2.03.0064.2.01.9 ALL S10A-1.0 Valve Plasser or Rexroth

334 2.03.0065.2.01.1 ALL 62.05.4000.301 and  

Bosch rexroth part no: 

DBW10B2- 

6X/315/EG24N9K4

Valve PLASSER , BOSCH REXROTH

335 2.03.0066.2.01.2

336 2.03.0067.2.01.3 ALL 62.05.1000.138 and Sub 

HY511.20/100BAR and

Bosch rexroth part no.

DBDS30K10/100 or 

DBDS30K1X/100

Pressure Relief Valve PLASSER , BOSCH REXROTH

337 2.03.0068.2.01.4 PL HY511.22/100 Valve Plasser IMP, Rexroth 

338 2.03.0069.2.01.5 PL 62.05.4000.365 Valve for BCM Plasser IMP, Rexroth 

339 2.03.0070.2.01.6 PL HYV10RSJET-B 4 Way Valve Plasser IMP, Rexroth 

340 2.03.0071.2.01.7 PL HY100.03 VALVE Plasser, Rexroth, Knorr

341 2.03.0072.2.01.8 PL HY6RSJ-B VALVE Plasser, Rexroth

342 2.03.0073.2.01.9

343 2.03.0074.2.01.1 PL HY152.07 VALVE Plasser, Rexroth, Knorr

344 2.03.0075.2.01.2 PL HY10RSD-B VALVE Plasser, Rexroth 

345 2.03.0076.2.01.3 PL HY135.01 4 WAY COCK Plasser, Rexroth 

346 2.03.0077.2.01.4

347 2.03.0078.2.01.5 PL HY157.54 VALVE Plasser, Rexroth 

348 2.03.0079.2.01.6 PL HY152.01-H STOPP COCK Plasser, Rexroth 

349 2.03.0080.2.01.7 PL HY153.01 4 WAY COCK Plasser, Rexroth,Hydac

350 2.03.0081.2.01.8 PL HY6RSD-D VALVE Plasser, Rexroth

351 2.03.0082.2.01.9 PL HYN25-RPE2-

325.TDSO728
Proportional Valve Plasser, Bosch Rexroth

352 2.03.0083.2.01.1 PL HY157.44-A Sub. 

HY157.44
valve Plasser, Veljan-Denison

353 2.03.0084.2.01.2 AM
60205001

Hydraulic Valve (Cross

slide)
Ameca (Colmar), Luen

354 2.03.0085.2.01.3 AM
60211003

Hydraulic Valve (Wheel

rotation)
Ameca (Colmar), Luen

355 2.03.0086.2.01.4 AM
60210001

Hydraulic Valve VLES-

100
Ameca (Colmar), Luen

356 2.03.0087.2.01.5 PL 62.05.1000.380-A and

Rexroth Part no. H-

4WEH25- 

H6X/6AG24NK4B08

HYDRAULIC  VALVE Plasser, Bosch rexroth

357 2.03.0088.2.01.6 PL 62.05.1000.381 and 

Bosch rexroth part no.

DBDS30K10/100 or

DBDS30K1X/100

VALVE Plasser, Bosch rexroth

Item is repeated 

Item is repeated at S.No. 264

Item is repeated 



Page 14 of 60

358 2.03.0089.2.01.7 PL 62.05.2000.43/A 

(R901195759) and  

Bosch rexroth part no :H- 

4WH25H6X-SO872

PRESSURE RELIEF VALVE Plasser, Bosch rexroth

359 2.03.0090.2.01.8 PL 62.05.2000.44 

(R900576241)

and  Bosch rexroth part 

no. DB302/12-315

Limit Valve Plasser, Bosch rexroth

360 2.03.0091.2.01.9 PL 62.05.3000.709 (

R900409889) and  Bosch 

rexroth part no : 

ZDB6VA2- 42/100V

VALVE Plasser, Bosch rexroth

361 2.03.0092.2.01.1 PL
62.05.3000.710 (R

901425634)and Sub : 

HY6Z2DB-VC2/2000and

Bosch rexroth part no

:Z2DB6VC2-4X/200V

HYD VALVE Plasser, Bosch rexroth

362 2.03.0093.2.01.2 PL 62.05.3000.711 (R

900409844) and and  

Bosch rexroth part no.  

ZDB6VP2- 4X/200V

VALVE Plasser, Bosch rexroth

363 2.03.0094.2.01.3 PL
HY511.46  (R901353084)

and  Bosch rexroth part 

no : DBEME20-

5X/100YG24Z31M

PROP. PRESSURE RELIEF 

VALVE
Plasser, Bosch rexroth

364 2.03.0095.2.01.4 PL
HY511.51 (R901257331)

and  Bosch rexroth part 

no : 3DREE16P-

7X/100XYG24K31A1V

REDUCING VALVE Plasser IMP, BOSCH REXROTH

365 2.03.0096.2.01.5 PL HYA16.RPE2.150.DS0728/ 

10 Sub. HYA16.RPE2. 

150.DS0728

for PL. and  for Rexroth  

Part no.4WRZ16E2-150-

7X/6EG24K4/D3M-728

PROPORTIONAL VALVE Plasser IMP, BOSCH REXROTH

366 2.03.0097.2.01.6 PL
DBDS.6G1.X/315

PRESSURE LIMITING

VALVE
PLASSER, REXROTH

367 2.03.0098.2.01.7 PL
HY6RSH-B, OR

62.05.3000.48 and Bosch 

Rexroth Part no. 4WE 

6H6 X/EG24 N9KA

HYD VALVE Plasser,  Bosch- Rexroth

368 2.03.0099.2.01.8 PL HY6RSY-B 

(R900780501)

and Bosch Rexroth Part 

no. no. 

4WE6Y6X/EG24N9K4

VALVE(Screen drive) Plasser,  Bosch- Rexroth

369 2.03.0100.2.01.9 PL HY10RSJ-C or B OR 

900.242.3595 OR 

HY8RSJ

and Rexroth part 

no.4WE10J-

3X/CG24N9K4

HYD VALVE Plasser,  Bosch- Rexroth

370 2.03.0101.2.01.1 PL HY10RSX-B and Rexroth 

part

no.4WE10X3X/CG24N9K

4

HYD VALVE Plasser,  Bosch- Rexroth

371 2.03.0102.2.01.2 PL HY16RSD-B 

(R901218990)

and Rexroth part no : 

4WEH16D7X/6EG24NK4

/B10

BYPASS FORWARD VALVE 

(SATELLITE)
Plasser,  Bosch- Rexroth



Page 15 of 60

372 2.03.0103.2.01.3 AME

CA

6020063 and LUEN Part no.

VNR SP 34-J

HYD VALVE

(UMR/SP- 34)

COLMAR,LUEN

373 2.03.0104.2.01.4 AME

CA

6020064 and LUEN Part no. 

UMP/801/DI/VAC10034L

HYD VALVE (wheel rotation) COLMAR, OLEOSTAR, LUEN

374 2.03.0105.2.01.5 AME

CA

6020066 and Diplomatic 

Part no. DS3-

SA2/11N- D00/7300662

ELECTRO VALVE Colmar,

Diplomatic

375 2.03.0106.2.01.6 AME

CA

6020068 or OLEOSTAR 

Part no.

VPR/23/ET-RL-12 OLEO

or Leun part no. 

004.243.0X0

HYD VALVE (VPR/3/ET/RL-

12) CROSS CYLINDER

COLMAR, OLEOSTAR, LUEN

376 2.03.0107.2.01.7 AM 6020069 and OLEOSTAR

Part no. VLES100

HYDRAULIC VALVE Colmar ,
OLEOSTAR

377 2.03.0108.2.01.8 AM 6020096 and Diplomatic 

Part no.

DFE20-SA6/3-DC-24V

HYD CHECK VLAVE Colmar,
Diplomatic

378 2.03.0109.2.01.9 AM 6020009 / LUEN Part no.

OWC/DE/12  LU

Hydraulic valve Colmar, Luen.

379 2.03.0110.2.01.1 AM 6020061 and PISTER Part 

no.3KH"- RI"L

SHUTTER 3KH PISTON 

VALVE 3-

WAY

Colmar , PISTER

380 2.03.0111.2.01.2 AM 6020062 / LUEN Part no. 

OWC/DE/34 DI34 L SUB. 

001.232.00

Hydraulic valve Colmar, Luen.

381 2.03.0112.2.01.3 COL

MAR

6020065 AND LUEN PART 

NO VFF-

14

HYDRAULIC VALVE COLMAR, LUEN

382 2.03.0113.2.01.4 COL

MAR

H2028000 and Atlantic Fluid 

tech Part no. MC 000418

DIVIDER COLMAR,
Atlantic fluid tech

383 2.03.0114.2.01.5 COL

MAR

H2181410 and Atlantic fluid 

tech Part no. MC000099

CHECK VALVE COLMAR,
Atlantic fluid tech

384 2.03.0115.2.01.6 COL

MAR

H2270200 and Atlantic fluid 

Tech Part no. DP150264

HYD VALVE (Relief valve) COLMAR,
Atlantic fluid tech

385 2.03.0116.2.01.7 COL

MAR

H2271180 and Atlantic fluid 

tech Part no.KR000050

HYD VALVE (Brake

pressure reducing valve)

COLMAR,
Atlantic fluid tech

386 2.03.0117.2.01.8 COL

MAR

H2271190 and Atlantic fluid 

tech Part no. MA000018

HYD VALVE (Rail

wheel anti cavitation valve)

COLMAR,
Atlantic fluid tech

387 2.03.0118.2.01.9 COL

MAR

H2271200 and Atlantic fluid 

tech Part noMC 0000099 

G1/2

HYD VALVE (MCDN- 070- 

SLAS-04-G12-

N001 MC 0000099

G1/2)

COLMAR,
Atlantic fluid tech

388 2.03.0119.2.01.1 COL

MAR

H2271210 and Atlantic Fluid 

Tech Part no. MB000009

LOCK VALVE COLMAR,
Atlantic fluid tech

389 2.03.0120.2.01.2 COL

MAR

H2271226 and Atlantic fluid 

tech Part no.MB000118

HYD VALVE (Rail

wheel driving lock valve)

COLMAR,
Atlantic fluid tech

390 2.03.0121.2.01.3 COL

MAR

H2520020 and BREVINI 

Part

no.PSD2220V70

HYD VALVE (Flow

divider)

COLMAR,
Brevini

391 2.03.0122.2.01.4 PH UTVI 06 25/00 SIL PART 

NO. 30201407, OEPL

:P2101008

VALVE (SA9 BRAKE) PHOOLTAS,SIL, OEPL.

392 2.03.0123.2.01.5 AM 6100051 and Salami Part 

no. VDO 8A

DISTRIBUTOR COLMAR,
Salami

393 2.03.0124.2.01.6 COL

MAR, 

DON

ALDS

ON

9990186 and Donaldson 

part no. P556287

DIESEL FILTER Colmar, Donaldson



Page 16 of 60

394 2.03.0125.2.01.7 NIL Colmar part no.H3492510 

and Brevani Part no. 

HPV4100598

Distributor valve bank Left Colmar, Brevani

395 2.03.0126.2.01.8 NIL Colmar part no. H3492500 

and Brevani Part no. 

HPV4100597

Distributor valve bank Right Colmar, Brevani

396 2.03.0127.2.01.9 NIL Colmar part no. 6100050 

and Salami Part no. VDM-

05

DISTRIBUTOR VDM-05 Colmar, Salami

397 2.03.0128.2.01.1 NIL 6192-250-20-00B and 

Bosch-Rexroth Part 

no.DB20-1-41/200-IN 001 

(R 98304 3173 36 W 13)

Tank Valve Colmar, Bosch-Rexroth

398 2.03.0129.2.01.2 NIL Loram part no.238766 and 

Parker part 

no.D1FBE01KC0NF0315XG

487

VALVE PROP D03 4W; 7.9 

GPM OBE

24V 10V CNTRL

Loram , Parker

399 2.03.0130.2.01.3 NIL Loram part no.146351 and 

Continential part 

no.VSD03M-6G-AWD-42L-

C

VALVE CHECK 5000PSI 

160GPM HYD 60PSI LONG 

SZ 32 SLIP

Loram, continential

400 2.03.0131.2.01.4 Colm

ar

6110006 and Casappa Part 

No. 

PL20+20+C20/20+20+250

FLOW DIVIDER FOR 

WHEEL CYLINDER

Colmar,Casappa

401 2.03.0132.2.01.5 Colm

ar

6110007 and Casappa Part 

No. PLD315.00

FLOW DIVIDER (WHEEL 

MOTORS) PR-315

Colmar,Casappa

402 2.03.0133.2.01.6 PL HY6RSG-B (R900561282) 

OR 62.05.3000.246 OR 

62.05.3000.342 and Rex: 

4WE6G6X/EG24N9K4 and 

Vel :4D01-3207-0302-B1-

GOQ-51

HYD VALVE Plasser,Bosch-Rexroth,Veljan-Denision

403 2.03.0134.2.01.7 PL 62. 05.3000. 573 Non Return Valve Plasser, Rexroth

404 2.03.0135.2.01.8 PL HY151.199 VALVE Plasser, Rexroth, Denison Danfoss

405 2.03.0136.2.01.9 PL HY24RSJET-B / Rexroth 

part no. 

4WEH22J50/6AG24NZ4SO

147

VALVE PLASSER, BOSCH REXROTH

406 2.03.0137.2.01.1 PL HY511.14/150 

(R900559285) / Rexroth 

Part no: ZDR10DA2-

5X/150Y

HYD VALVE PLASSER, BOSCH REXROTH

407 2.03.0138.2.01.2 PL DBW20BG2-

4X=315U6EG24NK4W65

HYD VALVE PLASSER, BOSCH REXROTH

408 2.03.0139.2.01.3 PL HY511.00 SUB. HY507.00 / 

Bosch Rexroth part no. 

DBDS6K10/50 SUB. 

DBDS6K10/315

Pressure Relief Valve PLASSER, BOSCH REXROTH

409 2.03.0140.2.01.4 PL HY511.19/75Y / Bosch 

Rexroth part no. ZDR6DA2-

3X/75Y SUB. ZDR6DA2-

46/75

HYD VALVE PLASSER, BOSCH REXROTH, Denison 

Danfoss

410 2.03.0141.2.01.5 PL HY511.47 / Bosch Rexroth 

part no. DZ6DP2-5X/315YM-

S0128 

EMERGENCY VALVE PLASSER, BOSCH REXROTH

411 2.03.0142.2.01.6 OEPL OEPL Part no. H1457 / 

Bosch Rexroth Part no. 

DBDS 20 G1A/315 

PRESSURE RELIEF VALVE OEPL, Bosch Rexroth

412 2.03.0143.2.01.7 PL HY152.02-H STOP COCK PLASSER, HYDAC, Rexroth, Denison 

Danfoss

413 2.03.0144.2.01.8 PL 62.05.3000.573 HYDRAULIC VALVE PLASSER, REXROTH

414 2.03.0145.2.01.9 PL 62.05.4000.372 HYDRAULIC VALVE PLASSER, REXROTH

415 2.03.0146.2.01.1 PL HY10RSG-B HYDRAULIC VALVE PLASSER, REXROTH, VELJAN DENISON

416 2.03.0147.2.01.2 PL HY10RSH-B HYDRAULIC VALVE PLASSER, REXROTH

417 2.03.0148.2.01.3 PL HY10RSX-C HYDRAULIC VALVE PLASSER, REXROTH



Page 17 of 60

418 2.03.0149.2.01.4 PL HY10RSD-C HYDRAULIC VALVE Plasser, Rexroth, Denison Danfoss

419 2.03.0150.2.01.5 PL HY6RSD-B HYDRAULIC VALVE PLASSER, REXROTH, VELJAN DENISON

420 2.03.0151.2.01.6 PL HY6RSX-B HYDRAULIC VALVE PLASSER, REXROTH, VELJAN DENISON

421 2.03.0152.2.01.7 PL HY511.09 HYDRAULIC VALVE Plasser, Rexroth, Denison Danfoss

422 2.03.0153.2.01.8 PL OV10-3/8" CHECK VALVE Plasser, Rexroth, Denison Danfoss

423 2.03.0154.2.01.9 PL HY100.01.R CHECK THROTTLE VALVE Plasser, Rexroth, Denison Danfoss

424 2.03.0155.2.01.1 PL HY151.33/0,2 BAR 08 CHECK VALVE Plasser, Rexroth, Denison Danfoss

425 2.03.0156.2.01.2 PL HY157.07 FLOW CONTROL VALVE Plasser, Rexroth, Denison Danfoss

426 2.03.0157.2.01.3 PL HY6RS/EINSTECK-RSV PLUG IN CHECK VALVE  Plasser, Rexroth, Denison Danfoss

427 2.03.0158.2.01.4 PL 62.05.1000.134 CHECK VALVE Plasser, Rexroth, Denison Danfoss

428 2.03.0159.2.01.5 PL HY-54B VALVE Plasser, Rexroth, Denison Danfoss

429 2.03.0160.2.01.6 PL HY511.65-P/50 REDUCING VALVE Plasser, Rexroth, Denison Danfoss

430 2.03.0161.2.01.7 PL HY511.64/330 SAFETY VALVE FOR 

ACCUMULATOR 

Plasser, Rexroth, Denison Danfoss, Veljan-

Denison

431 2.03.0162.2.01.8 PL HY511.14/150 VALVE Plasser, Rexroth, Denison Danfoss

432 2.03.0163.2.01.9 PL HY511.22 REDUCING VALVE Plasser, Rexroth, Denison Danfoss

433 2.03.0164.2.01.1 PL HY153.05/1 BULL STOP COCK /VALVE Plasser, Rexroth, Denison Danfoss

434 2.03.0165.2.01.2 PL HYA25-RPE325.D HYD VALVE Plasser, Rexroth, Denison Danfoss

435 2.03.0166.2.01.3 PL HY24RSJ-ET-B HDY. VALVE Plasser, Rexroth, Denison Danfoss

436 2.03.0167.2.01.4 KA kv-4/3-5KO-6-G2 HYDRAULIC CONTROL 

VALVE

JSC Kalugaputmash, BOSCH REXROTH, 

Parker, Veljan Denison, Danfoss, Stauff

437 2.03.0168.2.01.5 KA KV 3/2-5KO-6-G41A HYDRAULIC CONTROL 

VALVE

JSC Kalugaputmash, BOSCH REXROTH, 

Parker, Veljan Denison, Danfoss, Stauff

438 2.03.0169.2.01.6 KA WK06-

306.21/042.12/306.21-020-

106.00 SUB. DPHI -3713/D-

X24DC WITH SP-666 

CONNECTOR 

HYDRAULIC CONTROL 

VALVE (Work movement)

JSC Kalugaputmash, BOSCH REXROTH, 

Parker, Veljan Denison, Danfoss, Stauff

439 2.03.0170.2.01.7 CR 40105643 Travel Control Valve Group  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss,

440 2.03.0171.2.01.8 CR 40079230 Solenoid Valve  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss,

441 2.03.0172.2.01.9 CR 40095887 Servo Valve CRCC, PLASSER, MOOG, STAR 

HYDRAULICS UK

442 2.03.0173.2.01.1 CR 40086083 One Way Valve  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

443 2.03.0174.2.01.2 CR 23079689 Valve Block  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

444 2.03.0175.2.01.3 CR 40000493 High Pressure Safety Valve  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

445 2.03.0176.2.01.4 CR 40105641 Reducing Valve  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

446 2.03.0177.2.01.5 CR 40064580 Pressure Regulator  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

447 2.03.0178.2.01.6 CR 40089834 Sub. PKS9581RF-

1/4-4633

Hyd.Valve  CRCC, BOSCH REXROTH, Parker, VELJAN 

Denison, Danfoss, Stauff,Vickers

448 2.03.0179.2.01.7 CR 4WE6D61B/CG24N9ZSL Single Head Solonoid Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

449 2.03.0180.2.01.8 CR 40092269 SUB BKH-DN20-

3/4NPT-112A

Reducing Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

450 2.03.0181.2.01.9 CR 40103361 SUB PLUG-H-10 Orifice of Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

451 2.03.0182.2.01.1 CR 40095531 SUB NDRV-

DN12-1/2NPT-1A-P

Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

452 2.03.0183.2.01.2 CR 4WE6J61B/CG24N9ZSL Solenoid Reversing Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

453 2.03.0184.2.01.3 CR 40107270 SUB SHG-

033/210

Reducing Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

454 2.03.0185.2.01.4 CR 40103362 SUB PLUG-H-15 Orifice Of Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

455 2.03.0186.2.01.5 CR 4WE10D318/CG24N9ZSL Reversing Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS



Page 18 of 60

456 2.03.0187.2.01.6 CR R4V06-535-10-A1-09-GOQ-

A1

Solenoid Relief Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

457 2.03.0188.2.01.7 CR R4V06-591-4-B1 Un Loading Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

458 2.03.0189.2.01.8 CR R4U10-591-4-B1 Un Loading Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

459 2.03.0190.2.01.9 CR R4V10-533-10-09-GOQ-A1 Solenoid Relief Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

460 2.03.0191.2.01.1 CR 41010790 SUB C4V10-530-

2-B1

Overflow Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

461 2.03.0192.2.01.2 CR 40096634 SUB RV-6K-

DN25-11/4NPT-1-P

O0.5BAR

Unloading Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

462 2.03.0193.2.01.3 CR 40090881 SUBRV-6K-DN20-

1NPT-1-PO3 bar

Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

463 2.03.0194.2.01.4 CR 40096368 SUB SHR-012 Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

464 2.03.0195.2.01.5 CR 40102066 SUB SDKE-1714-

X24DC

Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

465 2.03.0196.2.01.6 CR 40096173 SUB SHG-033/75 Pressure Reducing Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

466 2.03.0197.2.01.7 CR 40092268 SUB 4KH-DN10-

NPT3/8-112A-SB14

Four Way Rotary Valve 

(Working System)

CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

467 2.03.0198.2.01.8 CR 40105158 SUB MTDA08-

100M

Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

468 2.03.0199.2.01.9 CR 40097148 SUB AGIRR-

20/210/V

Solenoid Directional Valve CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

469 2.03.0200.2.01.1 CR 41010850 SUB 

R900949851(H-4WEH 25

H6X/6EG24N9K4)

Pilot Operated Directional 

Valve

CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER DANFOSS, VICKERS

470 2.04.0001.2.01.1 COL

MAR

H2270521 and Atlantic fluid 

tech Part no. KP000189

HYD CYLINDER (Clamp 

UP/DN timing sequence 

valve)

COLMAR,
Atlantic fluid tech

471 2.04.0002.2.01.2 Colm

ar

00l05e013c CHAIN TENSIONING Colmar,JSSI INDIA

472 2.05.0001.2.01.2 Com

mon
GH 506/4SH-16 Hydraulic Hose PARKER,POLYHOSE,AEROQUIP/EATON 

AEROQUIP,EATON WINER

473 2.05.0002.2.01.3 Com

mon
GH 506/4SH-20 Hydraulic Hose PARKER,AEROQUIP/EatonAeroquip,RAASVI

N,Eaton winer

474 2.05.0003.2.01.4 PL GE6L-1/4NPT Sub.

H19.151225.9

Fitting Plasser, SKF(Lincoin), Dropco

475 2.06.0001.2.01.3 Com

mon
100R1-16 SUCTION HOSE  PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

476 2.06.0002.2.01.4 Com

mon
100R1-48 SUCTION HOSE  PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

477 2.06.0003.2.01.5 Com

mon
100R1-64 SUCTION HOSE  PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

478 2.06.0004.2.01.6 Com

mon
100R2AT-04 Hydraulic Hose PARKER,POLYHOSE,PREMIERRUBBER,AE

ROQUIP/Eaton Aeroquip,Eaton winer

479 2.06.0005.2.01.7 Com

mon
100R2AT-06 Hydraulic Hose  PARKER, 

AEROQUIP,POLYHOSE,PREMIER 

RUBBER,AEROQUIP/Eaton Aeroquip,Eaton 

winer

480 2.06.0006.2.01.8 Com

mon
100R2AT-08 Hydraulic Hose  PARKER, 

AEROQUIP,POLYHOSE,PREMIER 

RUBBER,AEROQUIP/Eaton Aeroquip,Eaton 

winer

481 2.06.0007.2.01.9 Com

mon
100R2AT-10 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

482 2.06.0008.2.01.1 Com

mon
100R2AT-12 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

483 2.06.0009.2.01.2 Com

mon
100R2AT-16 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

484 2.06.0010.2.01.3 Com

mon
100R2AT-20 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer,Raasvin



Page 19 of 60

485 2.06.0011.2.01.4 Com

mon
100R5R-04 Hydraulic Hose  PARKER,AEROQUIP/Eaton Aeroquip,Eaton 

winer

486 2.06.0012.2.01.5 Com

mon
100R5R-06 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

487 2.06.0013.2.01.6 Com

mon
100R5R-08 SET OF RETURN HOSE 

ASSEMBLY DULY CRIMPED

 PARKER,AEROQUIP/Eaton Aeroquip,Eaton 

winer

488 2.06.0014.2.01.7 Com

mon
100R5R-10 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

489 2.06.0015.2.01.8 Com

mon
100R5R-12 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

490 2.06.0016.2.01.9 Com

mon
100R5R-16 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

491 2.06.0017.2.01.1 Com

mon
100R5R-20 Hydraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

492 2.06.0018.2.01.2 Com

mon
100R5R-24 Hyraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

493 2.06.0019.2.01.3 Com

mon
100R5R-32 Hyraulic Hose PARKER,AEROQUIP,POLYHOSE,AEROQUI

P/Eaton Aeroquip,Eaton winer

494 2.06.0020.2.01.4 Com

mon
100R5R-40 SET OF RETURN HOSE 

ASSEMBLY DULY CRIMPED

 PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

495 2.06.0021.2.01.5 Com

mon
2755/4SP-10 SET OF HYD SUPER HIGH 

PRESSURE HOSE 

ASSEMBLY DULY 

CRIMPED(DIN-20023-4 SP)

 PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

496 2.06.0022.2.01.6 Com

mon
2755/4SP-12 SET OF HYD SUPER HIGH 

PRESSURE 4 SPIRAL WIRE 

BREADED HOSE 

ASSEMBLY DULY CRIMPED

 PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

497 2.06.0023.2.01.7 Com

mon
2755/4SP-16 SET OF HYD SUPER HIGH 

PRESSURE4 SPIRAL WIRE 

BREADED HOSE 

ASSEMBLY DULY CRIMPED

 PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer

498 2.06.0024.2.01.8 Com

mon
2755/4SP-20 Hydraulic Hose  PARKER, AEROQUIP/Eaton Aeroquip,Eaton 

winer,POLYHOSE

499 2.06.0025.2.01.9 NIL 12  NO SAE100 R09 Hyd.  Hose Soni, Superseal, Parker, Aeroquip &

POLYHOSE

500 2.06.0026.2.01.1 NIL 16 NO SAE100 R09 Hyd. Hose Soni, Superseal, Parker, Aeroquip

POLYHOSE

501 2.06.0027.2.01.2 NIL 20 NO SAE100 R09 Hyd. Hose Soni, Superseal, Parker, Aeroquip

POLYHOSE

502 2.07.0001.2.01.4 PL HY-156-03 HYDRAULIC 

ACCUMULATOR 20 LITERS 

CAPACITY

PLASSER , HYDAC ,OAT

503 2.07.0002..2.01.5 PL HY-156-06 HYDRAULIC 

ACCUMULATOR 1 LITER 

CAP.

PLASSER , HYDAC ,OAT

504 2.07.0003.2.01.6 PL HY-156-06 HYDRAULIC 

ACCUMULATOR CAP. 2.5 

Ltrs.

PLASSER , HYDAC 

505 2.07.0004.2.01.7 PL HY-156-08 HYDRAULIC 

ACCUMULATOR 10 LITERS 

CAPACITY

PLASSER , HYDAC 

506 2.07.0005.2.01.8 PL HY-156-08 BLADDER PLASSER , HYDAC 

507 2.07.0006.2.01.9 PL HY-156-09 HYDRAULIC 

ACCUMULATOR 30/32 

LITERS CAPACITY

PLASSER , HYDAC ,OAT

508 2.07.0007.2.01.1 PL SB-21-32-A- 1/ 112/ 1 Sub  

HY156.09

BLADDER FOR HYDRAULIC 

ACCUMULATOR 30 LITERS

PLASSER , HYDAC ,OAT

509 2.07.0008.2.01.2 NIL Loram part no.100555 and 

Parker part 

no.BA10B3L01P2

ACCUMULATOR BLADDER 

10 GAL 32-61 FLANGE CE 

STAMP

Loram , Parker



Page 20 of 60

510 2.07.0009.2.01.3 ….. ….. ….. …..

511 2.07.0010.2.01.4 PL HY156.03 /BLASE and 

Hydac Part no. 236089

HYD ACCUMULATOR 

BLADDER (20L) 

PLASSER, HYDAC

512 2.07.0011.2.01.5 PL HY156.06H/210BAR-40 

SUB. HY156.06B SUB. 

HY156.06P / Hydac part no. 

SB0140 1.4E1/112U

HYD ACCUMULATOR 1.4L PLASSER, HYDAC

513 2.07.0012.2.01.6 PL HY156.12H/330 BAR-40 ACCUMULATOR 1.4 L Plasser, Rexroth, Hydac

514 2.08.0001.2.01.5 AM 9990187 and Donaldson 

part no.P553315

Lub Oil Filter Ameca (Colmar), Donaldson, VM Motori,

Parker

515 2.08.0002.2.01.6 COL

MAR

CR 160/6 or 5180015 and 

Donaldson Part no. 

P171617

HYD FILTER [T-28] COLMAR,
Donaldson

516 2.08.0003.2.01.7 Colm

ar

CR 500/3/5180010 and 

Donaldson Part No.P171570

HYD FILTER [T-28] COLMAR,Donaldson

517 2.08.0004.2.01.8 Colm

ar

FBD CA 160/3/5180009 

AND Donaldson Part No. 

P171616

HYD FILTER [T-28] COLMAR,Donaldson

518 2.08.0005.2.01.9 PH 8000102912

and

Donaldson  Part no. 

P550951

UTV Transmission Filter Phooltas, DONALDSON

519 2.08.0006.2.01.1 HA 5138463 / OEPL Part no. 

H1463

PRESSURE FILTER 

ELEMENT

HARSCO, OEPL

520 2.08.0007.2.01.2 HA 5138462 /OEPL Part 

no.H1462

RETURN FILTER ELEMENT HARSCO, OEPL

521 2.08.0008.2.01.3 PL HY.D506.10.30.ES WATER SEPERATOR Plasser, Colmar, Donaldson

522 2.08.0009.2.01.4 PH UTVI-MISCFUEL-02 Filter Suction line in Diesel 

Tank UTVI-MISCFUEL-02 

PHOOLTAS, PARKER, DONALDSON

523 2.08.0010.2.01.5 SR SPZ270A0-23-03-00-66 Hyd Suction Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

524 2.08.0011.2.01.6 SR SPZ400A0-23-33-00 H.P.Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

525 2.08.0012.2.01.7 SR 1612230 HD Torque Convertor Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

526 2.08.0013.2.01.8 SR SPZ270A0.23.35.00 H.P.Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

527 2.08.0014.2.01.9 SR SPZ400A0-23-09-00 H.P.Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

528 2.08.0015.2.01.1 SR SPZ270A0.23-03-00-38 Hyd Return Filter Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

529 2.08.0016.2.01.2 CR 40095822 SUB 0500 D 010 

ON / Donaldson part no 

P568715

High Pressure Filter Cartridge CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

530 2.08.0017.2.01.3 CR 40093908 SUB 0160 D 010 

ON / Donaldson part no 

P170606  

Proportional Filter For 

Charging Pump- Cartridge

CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

531 2.08.0018.2.01.4 CR 40106058 SUB. 

SE560.10.ES SUB. 

40102521

Suction Filter CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

532 2.08.0019.2.01.5 CR 40095823 SUB 0950 R 010 

ON

Oil Return Filter- Cartridge 

part no 40095823 SUB 0950 

R 010 ON  sub. Donaldson 

part no P566995 

CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

533 2.08.0020.2.01.6 CR 80262200868 Metallic Filter Cartridge As 

Per Crcce  Part No : 

80262200868 sub part no A-

NF1810, 

CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

534 2.08.0021.2.01.7 CR 40102853 SUB 40091493 

SUB SE360.130.ES

Filter Cartridge ( Suction 

Filter) part no 40102853 SUB 

40091493 SUB 

SE360.130.ES 

CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec



Page 21 of 60

535 2.08.0022.2.01.8 CR 40102854 SUB 40091492 

SUB SE460.130.ES

Filter Cartridge ( Suction 

Filter) Part no 40102854 SUB 

40091492 SUB 

SE460.130.ES; Filtrec, Part 

No.WT284 

CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

536 2.08.0023.2.01.9 CR 40107534 Axle Clutch  Filter CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

537 2.08.0024.2.01.1 CR 40103187 Oil Return Fiter-Catridge CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

538 2.08.0025.2.01.2 PL BF3-10-1.0 VENTILATION FILTER R 3/4" 

/ SCREEN BREATHER 

PLASSER, HYDAC, HYDROLINE, EPE, 

DONALDSON

539 2.09.0001.2.01.6 PL 64.08.4000.04DS  SEAL   KIT FOR 

TENSIONING CYLINDER 

FOR BCM

PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

540 2.09.0002.2.01.7 PL E-150-180 DS SEAL SET FOR RAIL 

CLAMP CYL

PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

541 2.09.0003.2.01.8 PL HY-600-05-DS SEAL SET FOR DAMPING 

CYL SCHOCK ABSOEBER

PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

542 2.09.0004.2.01.9 PL HZ01.040 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

543 2.09.0005.2.01.1 PL HZ01.050 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

544 2.09.0006.2.01.2 PL HZ01.063 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

545 2.09.0007.2.01.3 PL HZ01.080 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

546 2.09.0008.2.01.4 PL HZ01.100 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

547 2.09.0009.2.01.5 PL HZ01.125 GASKET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

548 2.09.0010.2.01.6 PL HZ02.040.025 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

549 2.09.0011.2.01.7 PL HZ02.050.025 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

550 2.09.0012.2.01.8 PL HZ02.050.036 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

551 2.09.0013.2.01.9 PL HZ02.063.025 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

552 2.09.0014.2.01.1 PL HZ02.063.036 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

553 2.09.0015.2.01.2 PL HZ02.063.040 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

554 2.09.0016.2.01.3 PL HZ02.080.036 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

555 2.09.0017.2.01.4 PL HZ02.080.040 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

556 2.09.0018.2.01.5 PL HZ02.080.045 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE



Page 22 of 60

557 2.09.0019.2.01.6 PL HZ02.080.050 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

558 2.09.0020.2.01.7 PL HZ02.100.045 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

559 2.09.0021.2.01.8 PL HZ02.100.050 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

560 2.09.0022.2.01.9 PL HZ02.100.063 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

561 2.09.0023.2.01.1 PL HZ02.125.050 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

562 2.09.0024.2.01.2 PL HZ02.125.063 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

563 2.09.0025.2.01.3 PL HZ02.125.090 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

564 2.09.0026.2.01.4 PL HZS-DS.153N SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

565 2.09.0027.2.01.5 PL HZS-DS.243 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

566 2.09.0028.2.01.6 PL HZS-DS.401 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

567 2.09.0029.2.01.7 PL HZS-DS.52 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

568 2.09.0030.2.01.8 PL HZS-DS.75 SEAL SET PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

569 2.09.0031.2.01.9 PL P-121S-80X100X12.5  Seal  Ring  for for BCM PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

570 2.09.0032.2.01.1 PL UD-313--496-DS  Seal kit for for BCM PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

571 2.09.0033.2.01.2 PL W-33-200-ADS SEAL KIT FOR HYD TOOL 

TILTING CYLINDER

PLASSER ,TRELLEBORG ,PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

572 2.09.0034.2.01.3 KA Seal set for hyd. cylinders 

GTS 1023.06.62.000

Seal set for Hydraulic brake 

Cylinder

JSC Kalugaputmash, TRELLEBORG, 

PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

573 2.09.0035.2.01.4 KA Seal set of Cylinder 

1023.48.64.002-02

Seal set Hydraulic lining 

Cylinder

JSC Kalugaputmash, TRELLEBORG, 

PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

574 2.09.0036.2.01.5 KA Seal set for hyd. cylinders 

1023.48.65.000

Seal set for Track Lift 

Cylinder

JSC Kalugaputmash, TRELLEBORG, 

PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

575 2.09.0037.2.01.6 KA Seal set for cylinders 

6.04.61.000

Seal set Hydraulic Axle 

support Cylinder

JSC Kalugaputmash, TRELLEBORG, 

PARKER, 

FREUDENBERG (SIMIRIT/CFW), HALLITE

576 2.09.0038.2.01.7 SI C100000113-01-03-01B seal set for lateral movement 

cylinder

Simplex, Royal

577 2.09.0039.2.01.8 SI C100000113-01-04-01 seal set for brake cylinder Simplex, Royal

578 2.10.0001.2.01.7 PL 2021-6-6 HYD ST NIPPLE ADOPTER PLASSER, AEROQUIP, PARKER

579 2.10.0002.2.01.8 PL 2021-6-8 HYD NIPPLE ADOPTER PLASSER, AEROQUIP, PARKER



Page 23 of 60

580 2.10.0003.2.01.9 PL 2021-6-10 STRAIGHT ADOPTER NO 6 PLASSER, AEROQUIP, PARKER

581 2.10.0004.2.01.1 PL 2021-12-12 STRAIGHT 

ADOPTER/NIPPLE

PLASSER, AEROQUIP, PARKER

582 2.10.0005.2.01.2 PL 2082-16 HYD. STRAIGHT NIPPLE  

ADAPTOR 

PLASSER, AEROQUIP, PARKER

583 2.10.0006.2.01.3 PL 210292-8 STRAIGHT HYD ADOPTER PLASSER, AEROQUIP, PARKER

584 2.10.0007.2.01.4 PL 2027-8-8 ELBOW 120 / 135 DEGREE PLASSER, AEROQUIP, PARKER

585 2.10.0008.2.01.5 PL 2023-4-6 ELBOW 120 / 135 DEGREE PLASSER, AEROQUIP, PARKER

586 2.10.0009.2.01.6 PL 2024-4-6 HYD NIPPLE ADOPTER ( 

ELBOW ) 120 DEGREE

PLASSER, AEROQUIP, PARKER

587 2.10.0010.2.01.7 PL 2024-8-10 HYD ELBOW 90 degree PLASSER, AEROQUIP, PARKER

588 2.10.0011.2.01.8 PL 202411-4-6 ELBOW  90 DEGREE PLASSER, AEROQUIP, PARKER

589 2.10.0012.2.01.9 PL 2028-8-10 HYD NIPPLE ADOPTER PLASSER, AEROQUIP, PARKER

590 2.10.0013.2.01.1 PL 2081-6-4 ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

591 2.10.0014.2.01.2 PL 2081-12-6 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

592 2.10.0015.2.01.3 PL 2081-12-8 ADDOPTER PLASSER, AEROQUIP, PARKER

593 2.10.0016.2.01.4 PL 2092-4-4 T CONNECTION /ADOPTER PLASSER, AEROQUIP, PARKER

594 2.10.0017.2.01.5 PL 2024-16-12 HYD ELBOW 90 degree PLASSER, AEROQUIP, PARKER

595 2.10.0018.2.01.6 PL 2081-16-12 DOUBLE THREADED 

SOCKET

PLASSER, AEROQUIP, PARKER

596 2.10.0019.2.01.7 PL 2081-10-08 DOUBLE THREADED 

SOCKET

PLASSER, AEROQUIP, PARKER

597 2.10.0020.2.01.8 PL 2081-8-4 DOUBLE THREADED 

SOCKET

PLASSER, AEROQUIP, PARKER

598 2.10.0021.2.01.9 PL 2081-8-6 HYD SOCKET(DOUBLE 

THERADED)

PLASSER, AEROQUIP, PARKER

599 2.10.0022.2.01.1 PL 66453 HYD SOCKET(DOUBLE 

THREDED)

PLASSER, AEROQUIP, PARKER

600 2.10.0023.2.01.2 PL 2024-6-6 HYD ELBOW PLASSER, AEROQUIP, PARKER

601 2.10.0024.2.01.3 PL ………. ………… Repeated item

602 2.10.0025.2.01.4 PL 2024-4-4 HYD ELBOW PLASSER, AEROQUIP, PARKER

603 2.10.0026.2.01.5 PL 2092-8-6 HYD. TEE PLASSER, AEROQUIP, PARKER

604 2.10.0027.2.01.6 PL 2092-10-08-06 HYD TEE PLASSER, AEROQUIP, PARKER

605 2.10.0028.2.01.7 PL 1/4 BSP THREAD" MINI MESS ADOPTOR WITH 

STEEL CAP WITH 1/4" BSP 

THREAD

PLASSER, AEROQUIP, PARKER

606 2.10.0029.2.01.8 PL 2021-16-16 STRAIGHT 

ADOPTER/NIPPLE

PLASSER, AEROQUIP, PARKER

607 2.10.0030.2.01.9 PL 2021-20-20 STRAIGHT 

ADOPTER/NIPPLE

PLASSER, AEROQUIP, PARKER

608 2.10.0031.2.01.1 PL 2021-24-24 STRAIGHT ADOPTER NO 24 PLASSER, AEROQUIP, PARKER

609 2.10.0032.2.01.2 PL 2021-32-32 HYD NIPPLE ADOPTER PLASSER, AEROQUIP, PARKER

610 2.10.0033.2.01.3 PL 2021-4-6-S STRAIGHT 

ADOPTER/NIPPLE WITH 37 

DEGREE FLARE

PLASSER, AEROQUIP, PARKER

611 2.10.0034.2.01.4 PL 2023-12-10S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

612 2.10.0035.2.01.5 PL 2023-12-12-S HYD NIPPLE ADOPTER 

(ELBOW) 120 DEGREE

PLASSER, AEROQUIP, PARKER

613 2.10.0036.2.01.6 PL 2023-12-16-S HYD NIPPLE ADOPTER 120 

DEGREE

PLASSER, AEROQUIP, PARKER

614 2.10.0037.2.01.7 PL 2023-16-16 HYD NIPPLE ADOPTER 120 

DEGREE

PLASSER, AEROQUIP, PARKER

615 2.10.0038.2.01.8 PL 2023-20-20 HYD ELBOW 120 DEGREE PLASSER, AEROQUIP, PARKER

616 2.10.0039.2.01.9 PL 2023-24-24 HYD NIPPLE ADOPTER 120 

DEGREE

PLASSER, AEROQUIP, PARKER

617 2.10.0040.2.01.1 PL 2023-32-32 HYD ELBOW(ADOPTER) 

120 DEGREE

PLASSER, AEROQUIP, PARKER

618 2.10.0041.2.01.2 PL 2023-4-4-6-S HYD NIPPLE 

ADOPTER(TEE)

PLASSER, AEROQUIP, PARKER

619 2.10.0042.2.01.3 PL 2023-4-4-S HYD NIPPLE ADOPTER 120 

DEGREE

PLASSER, AEROQUIP, PARKER



Page 24 of 60

620 2.10.0043.2.01.4 PL 2024-11-12-12-S HYD NIPPLE ADOPTER 

(ELBOW) 90 DEGREE

PLASSER, AEROQUIP, PARKER

621 2.10.0044.2.01.5 PL 2024-11-8-10 HYD ELBOW PLASSER, AEROQUIP, PARKER

622 2.10.0045.2.01.6 PL 2024-12-10S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

623 2.10.0046.2.01.7 PL 2024-12-4-6 HYD ELBOW PLASSER, AEROQUIP, PARKER

624 2.10.0047.2.01.8 PL 2024-13-4-6 , 2024-12-4-

6

HYD ELBOW 90 DEGREE  

2” / 3”

PLASSER, AEROQUIP, PARKER

625 2.10.0048.2.01.9 PL 2024-14-12-12-S HYD ELBOW PLASSER, AEROQUIP, PARKER

626 2.10.0049.2.01.1 PL 2024-14-16-16 ADOPTER PLASSER, AEROQUIP, PARKER

627 2.10.0050.2.01.2 PL 2024-14-4-6 HYD ELBOW FOR WHEEL 

SUPPORT

PLASSER, AEROQUIP, PARKER

628 2.10.0051.2.01.3 PL 2024-14-6-8 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

629 2.10.0052.2.01.4 PL 2024-14-6-8/13-6-8 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

630 2.10.0053.2.01.5 PL 2024-14-8-10 , 2024-13-6-

8 , 2024-14-6-8

ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

631 2.10.0054.2.01.6 PL 2024-16-16 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

632 2.10.0055.2.01.7 PL 2024-20-20 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

633 2.10.0056.2.01.8 PL 2024-24-24 HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

634 2.10.0057.2.01.9 PL 2024-32-32 HYD ELBOW PLASSER, AEROQUIP, PARKER

635 2.10.0058.2.01.1 PL 2024-4-4-S HYD NIPPLE ADOPTER 90 

DEGREE

PLASSER, AEROQUIP, PARKER

636 2.10.0059.2.01.2 PL 2024-6-4-6 HYD ELBOW PLASSER, AEROQUIP, PARKER

637 2.10.0060.2.01.3 PL 2024-6-6-S HYD ELBOW 90 DEGREE PLASSER, AEROQUIP, PARKER

638 2.10.0061.2.01.4 PL 2024-6-8,2024-11-6-8 HYD ELBOW (6X6X90) PLASSER, AEROQUIP, PARKER

639 2.10.0062.2.01.5 PL 2030--8-8 T CONNECTION /ADOPTER PLASSER, AEROQUIP, PARKER

640 2.10.0063.2.01.6 PL 2033-4-4-6 HYD NIPPLE ADOPTER 

(TEE)

PLASSER, AEROQUIP, PARKER

641 2.10.0064.2.01.7 PL ………. ………… Repeated item

642 2.10.0065.2.01.8 PL 2081-16-6 HYD DOUBLE THREAD 

SOCKET

PLASSER, AEROQUIP, PARKER

643 2.10.0066.2.01.9 PL 2081-16-8 DOUBLE THREADED 

SOCKET

PLASSER, AEROQUIP, PARKER

644 2.10.0067.2.01.1 PL 2081-20-16-S HYD DOUBLE THREDED 

SOCKET

PLASSER, AEROQUIP, PARKER

645 2.10.0068.2.01.2 PL 2081-24-16 DOUBLE THREADED 

SOCKET

PLASSER, AEROQUIP, PARKER

646 2.10.0069.2.01.3 PL 2081-24-20 HYD FITTING PLASSER, AEROQUIP, PARKER

647 2.10.0070.2.01.4 PL 2082-6 PLUG (DUMMY) NO 6 PLASSER, AEROQUIP, PARKER

648 2.10.0071.2.01.5 PL 2083-16-16-S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

649 2.10.0072.2.01.6 PL 2083-24-24-S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

650 2.10.0073.2.01.7 PL 2083-4-4-S HYD ADAPTOR PLASSER, AEROQUIP, PARKER

651 2.10.0074.2.01.8 PL 2083-6-6-S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

652 2.10.0075.2.01.9 PL 2083-8-8-S HYD. ADAPTOR PLASSER, AEROQUIP, PARKER

653 2.10.0076.2.01.1 PL 2088-4-4-S HYD ELBOW PLASSER, AEROQUIP, PARKER

654 2.10.0077.2.01.2 PL 2088-6-6-S HYD ADAPTOR PLASSER, AEROQUIP, PARKER

655 2.10.0078.2.01.3 PL 2092-4-4-6-S HYD NIPPLE ADOPTER T 

TYPE

PLASSER, AEROQUIP, PARKER

656 2.10.0079.2.01.4 PL 22X1.5 MULTIPLE THREAD 

ADAPTOR FOR COOLING 

COIL

PLASSER, AEROQUIP, PARKER

657 2.10.0080.2.01.5 PL 411- 20 HYD RETURN FITTING PLASSER, SONI, 

SUPERSEAL,PARKER,AEROQUIP

658 2.10.0081.2.01.6 PL 411-12 HYD NIPPLE ADOPTER PLASSER  AEROQUIP ,PARKER

659 2.10.0082.2.01.7 PL GE9-LLR HYD STRAIGHT ADOPTER 

FOR LUBRICATION 

SYSTEM OF T/U

PLASSER  CENLUBE ,LINKON

660 2.10.0083.2.01.8 PL GE-LR ¼” Z HYD STRAIGHT ADOPTER 

FOR LUBRICATION 

SYSTEM OF T/U

PLASSER  CENLUBE ,LINKON

661 2.10.0084.2.01.9 PL NO 10 HYD CAP (DUMMY) PLASSER, AEROQUIP, PARKER

662 2.10.0085.2.01.1 PL NO 10 , THREAD 7/8”-14 HYD PLUG (DUMMY) SEAT 

TYPE

PLASSER, AEROQUIP, PARKER

663 2.10.0086.2.01.2 PL NO 12 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER



Page 25 of 60

664 2.10.0087.2.01.3 PL NO 12 CAP (DUMMY) PLASSER, AEROQUIP, PARKER

665 2.10.0088.2.01.4 PL NO 16 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER

666 2.10.0089.2.01.5 PL NO 16 HYD CAP PLASSER, AEROQUIP, PARKER

667 2.10.0090.2.01.6 PL NO 20 CAP PLASSER, AEROQUIP, PARKER

668 2.10.0091.2.01.7 PL NO 20 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER

669 2.10.0092.2.01.8 PL NO 24 CAP PLASSER, AEROQUIP, PARKER

670 2.10.0093.2.01.9 PL NO 24 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER

671 2.10.0094.2.01.1 PL NO 32 ADOPTER FOR VIBRATION 

CIRCUIT

( REDUCER )

PLASSER, AEROQUIP, PARKER

672 2.10.0095.2.01.2 PL NO 32 CAP (DUMMY) PLASSER, AEROQUIP, PARKER

673 2.10.0096.2.01.3 PL NO- 32 HYD PLUG (DUMMY) PLASSER, AEROQUIP, PARKER

674 2.10.0097.2.01.4 PL NO 4 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER, SUKHRAJ

675 2.10.0098.2.01.5 PL NO 4 CAP DUMMY PLASSER, AEROQUIP, PARKER, SUKHRAJ

676 2.10.0099.2.01.6 PL NO 8 PLUG (DUMMY) PLASSER, AEROQUIP, PARKER

677 2.10.0100.2.01.7 PL NO 8 CAP DUMMY PLASSER, AEROQUIP, PARKER

678 2.10.0101.2.01.8 PL No.10 PLUG NO. 10 PLASSER, AEROQUIP, PARKER

679 2.10.0102.2.01.9 PL No.24 PLUG NO. 24 PLASSER, AEROQUIP, PARKER

680 2.10.0103.2.01.1 PL No.6 PLUG NO. 6 PLASSER, AEROQUIP, PARKER

681 2.10.0104.2.01.2 PL WE-GLLR HYD ELBOW FOR 

LUBRICATION SYSTEM OF 

T/U

PLASSER,  CENLUBE ,LINKON

682 2.10.0105.2.01.3 PL WE-GLR ¼” Z HYD ELBOW FOR 

LUBRICATION SYSTEM OF 

T/U

PLASSER,  CENLUBE ,LINKON

683 2.10.0106.2.01.4 PL 432-23030-1 Reusable BE nipple Plasser, SKF(Lincoin), Dropco

684 2.10.0107.2.01.5 PL 303-17499 Screw Plug Plasser, SKF(Lincoin), Dropco

685 2.10.0108.2.01.6 PL 532-30738-1 Connection Plasser, SKF(Lincoin), Dropco

686 2.10.0109.2.01.7 PL 532-30739-1 Connection Plasser, SKF(Lincoin), Dropco

687 2.10.0110.2.01.8 PL M6(004001) Cap Nut Plasser, SKF(Lincoin), Dropco

688 2.11.0001.2.01.8 PL 0-280 KG- HYD PRESSURE GAUGE PLASSER ,STAUFF ,WIKA, PRICOL

689 2.11.0002.2.01.9 PL 1910 000 056 OIL LEVEL INDICATOR 

WITH SENSOR FOR FRM & 

BCM

PLASSER , STAUFF ,HYDROLINE ,HYDAC

690 2.11.0003.2.01.1 PL 90263-G Sub. 90263 PRESSURE GAUGE PLASSER ,STAUFF ,WIKA, PRICOL

691 2.11.0004.2.01.2 PL FSA127/2.0VITON OIL LEVEL GLASS PLASSER ,STAUFF ,HYDROLINE, HYDAC

692 2.11.0005.2.01.3 PL FSA254.2.1/FT200/12 INDICATOR PLASSER ,STAUFF ,HYDROLINE, HYDAC

693 2.11.0006.2.01.4 PL FSK254.1/W1/M12 Sub. 

FSK254-2.4/W/-/12

OIL LEVEL GLASS PLASSER ,STAUFF ,HYDROLINE, HYDAC

694 2.11.0007.2.01.5 PL HY-154-03 HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

695 2.11.0008.2.01.6 PL HY-154-14 [0-600BAR] HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

696 2.11.0009.2.01.7 PL HY-154-18 HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

697 2.11.0010.2.01.8 PL HY-154-25 HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

698 2.11.0011.2.01.9 PL NR 10L-350 HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

699 2.11.0012.2.01.1 PL Hy154.21 Sub.

62.05.1000.197

HYDRAULIC  PRESSURE 

GAUGE

PLASSER ,STAUFF ,WIKA, PRICOL

700 2.11.0013.2.01.2 PL M070/16022 SUB 10L350 

and Baumer India Part no. 

7400328

HYD VACCUM GAUGE PLASSER, BAUMER INDIA

701 2.11.0014.2.01.3 PL M070/16022 sub.10L350 VACCUM GAUGE PL, REXROTH

702 2.11.0015.2.01.4 PL LG6 05 Oil level gauge PL, STAUFF, HYDROLINE, HYDAC

703 2.11.0016.2.01.5 PL LG2 10 Oil level gauge PL, STAUFF, HYDROLINE, HYDAC

704 2.11.0017.2.01.6 CR 40101350 SUB SNA254V-S-

0-12

Oil Level Gauge CRCC, VELJAN DENISON, REXROTH, 

PARKER, SAUER-DANFOSS  , VICKERS, 

STAUFF, HYDAC

705 3.01.0001.2.01.8 PL 90180 LUBRICATOR FILTER 1/2” 

[AIR OILER]

PLASSER, DUNCAN



Page 26 of 60

706 3.01.0002.2.01.9 PL 90215 DRAIN COCK 1/2” PLASSER , TVS, DUNCAN

707 3.01.0003.2.01.1 PL 90252 , Knorr Bremse 

Part No. DRV-1/1 I37739

1/4” QUICK RELEASED 

VALVE

PLASSER , DUNCAN, KNORR-BREMSE

708 3.01.0004.2.01.2 PL 90254  satellite BRAKE VALVE PLASSER, DUNCAN 

709 3.01.0005.2.01.3 PL 90341 PNEUMATIC VALVE FOR 

DATUM

PLASSER, DUNCAN 

710 3.01.0006.2.01.4 PL 90345 1/2 BSP SINGLE SOLENOID 

VALVE WITH PILOT 

OPERATED COIL VOLTAGE 

24 V DC"

PLASSER, DUNCAN 

711 3.01.0007.2.01.5 PL  90356/7500216 Drip Cup PLASSER,  DUNCAN, KNORR,  Indus Tech 

Trade (ITT)

712 3.01.0008.2.01.6 PL 1000531 , 90258 SHUT OFF COCK PLASSER , TVS 

713 3.01.0009.2.01.7 PL 1006439 / 90200 AIR UNLOADER VALVE PLASSER , TVS 

714 3.01.0010.2.01.8 PL 162502 SUB. 0210860 / 

009610102

PNEUMATIC DUAL TONE 

HORN ASSY.

PLASSER ,PROMO ,ELGI,ROOTS

715 3.01.0011.2.01.9 PL 302450 / 90215 DRAIN COCK VALVE 1/4” 

BSP

PLASSER , TVS 

716 3.01.0012.2.01.1 PL 53004 L 4 WAY VALVE 5 PORT 3 

POSITION

PLASSER, DUNCAN

717 3.01.0013.2.01.2 PL 53004 N / HS PNEU PUSH BUTTON PLASSER, DUNCAN

718 3.01.0014.2.01.3 PL 90283/7500145 Pressure Gauge Plasser, Duncan, Indus Tech Trade (ITT)

719 3.01.0015.2.01.4 PL 90339/90343 PNEU VALVE Plasser, Duncan

720 3.01.0016.2.01.5 PL 90344-H VALVE PLASSER, DUNCAN

721 3.01.0017.2.01.6 PL G 3/4” QUICK EXHAUST/RELEASE 

VLAVE

PLASSER, DUNCAN

722 3.01.0018.2.01.7 PL G-25 COIL FOR SOLENOID 

VALVE & PLUG

PLASSER, DUNCAN

723 3.01.0019.2.01.8 PL G-3464 AIR REGULATOR WITH 

MONOMETER

PLASSER, DUNCAN

724 3.01.0020.2.01.9 PL G-50 COIL FOR SOLENOID 

VALVE & PLUG

PLASSER, DUNCAN

725 3.01.0021.2.01.1 PL G-53014 1/4” SINGLE SOLENOID 

VALVE 24V DC COIL

PLASSER, DUNCAN

726 3.01.0022.2.01.2 PL I26684 Sub. 

II50172/2A1L+A66269

STOP COCK PLASSER, PARKER, KNORR, DUNCAN

727 3.01.0023.2.01.3 PL I26695 Sub. 

II50173/1A4RE

STOP COCK PLASSER, PARKER, KNORR, DUNCAN

728 3.01.0024.2.01.4 PL M-301760 AUTO DRAIN VALVE /  

WATER SEPERATOR

PLASSER , WABCO-TVS 

729 3.01.0025.2.01.5 PL M800220 DOUBLE CHECK VALVE PLASSER, DUNCAN, TVS

730 3.01.0026.2.01.6 PL S3462C 1/4” AIR PRESSURE 

REGULATOR WITH GAUGE

PLASSER, DUNCAN

731 3.01.0027.2.01.7 PL SINGLE VALVE A-

53214= 8NOS ,DOUBLE 

VALVE A-53224-Y

GANG OF VALVE PLASSER, DUNCAN

732 3.01.0028.2.01.8 PL WM-607 B1 ACCELERATOR / PNEU 

THROTTLE VALVE VALVE

PLASSER , WILLIAMS 

733 3.01.0029.2.01.9 PL 90204 Safety valve Plasser, Knorr,SUNPARTS

734 3.01.0030.2.01.1 PL 90344 Sub. 90338/H or 

SUNPARTS 7500148

Valve Plasser, Sunparts, Indus Tech Trade (ITT)

735 3.01.0031.2.01.2 PL WM607B1X VALVE Plasser, William

736 3.01.0032.2.01.3 PL 90362 and Knorr Bremse 

Part No. I58862/7500247

Pneumatic Valve Plasser, Duncan, KNORR-BREMSE

737 3.01.0033.2.01.4 PL 90201 or SUNPARTS 

7500218

VALVE Plasser, KNORR, SUNPARTS, Indus Tech 

Trade (ITT) 

738 3.01.0034.2.01.5 PL 90202 or SUNPARTS 

7500219

VALVE Plasser, KNORR, SUNPARTS, Indus Tech 

Trade (ITT) 

739 3.01.0035.2.01.6 PL 90370 Sub: G298/15 BRAKE VALVE Plasser, KNORR, DUNCAN

740 3.01.0036.2.01.7 PL 90364 VALVE Plasser, KNORR, DUNCAN



Page 27 of 60

741 3.01.0037.2.01.8 PL 90259 and Duncan Part 

no :AX9547

STOP COCK PLASSER, DUNCAN.

742 3.01.0038.2.01.9 PL M302310 AIR UNLOADER VALVE Plasser, Webco, TVS

743 3.01.0039.2.01.2 PL 90366 or SUNPARTS 

7500221 and Knorr-Bremse 

Part no:I69434

VALVE Plasser, SUNPARTS, KNORR-BREMSE

744 3.01.0040.2.01.2 PL II71411 SUBSTITUTE 

90371 or SUNPARTS 

750022

VALVE Plasser, SUNPARTS 

745 3.01.0041.2.01.3 PL 90381 / 90248 and Sunparts 

no. 7500244

SOLENOID VALVE Plasser, SUNPARTS 

746 3.01.0042.2.01.4 PL 90246-A and Sunparts no. 

7500243

OVERFLOW VALVE Plasser, SUNPARTS, Knorr-bremse

747 3.01.0043.2.01.5 PL 90382 SUB 90249 and 

Sunparts no. 7500246

SOLENOID VALVE Plasser, SUNPARTS

748 3.01.0044.2.01.6 PL 90247 AND Knorr Bermese 

Part No. DR 4283

Valve Plasser,Knorr-bremse

749 3.01.0045.2.01.7 PL 90336 SUB:90334 VALVE Plasser, Sunparts, FESTO

750 3.01.0046.2.01.8 PH UTVI 06 27/00/OEPL part

no. P2290627

ELECTRO PNEUMATIC

GOVERNOR

Phooltas, OEPL

751 3.01.0047.2.01.9 PH UTVI-06 53/00 Single solenoid valve PHOOLTAS, FESTO

752 3.01.0048.2.01.1 PL 90342 SUB 90337/7500236 PNEUMATIC VALVE PLASSER , DUNCAN

753 3.01.0049.2.01.2 PL 90452 SHUTTLE VALVE + 

SUPPORT

PLASSER, KNORR, DUNCAN

754 3.01.0050.2.01.3 PL 90420E-A VALVE PLASSER, SUNPARTS, DUNCAN

755 3.01.0051.2.01.4 PL 90347-A VALVE PLASSER, KNORR, DUNCAN

756 3.01.0052.2.01.5 PL 90419 SUB.90420 / 

7500237

PNEUMATIC VALVE Plasser, Duncan, Indus Tech Trade (ITT)

757 3.01.0053.2.01.6 PL 90421 VENTIL VALVE FOR LUBRICATION 

OIL DISTRIBUTION BLOCK 

PLASSER, KNORR, DUNCAN

758 3.01.0054.2.01.7 PL 9.0BAR/ II91917/2090 SAFETY VALVE PLASSER, KNORR, DUNCAN

759 3.01.0055.2.01.8 PL 90384 CONTROL VALVE PLASSER, KNORR, DUNCAN

760 3.01.0056.2.01.9 PL KUGELHAHN-TYPE984-

3/4"

BALL COCK PLASSER, KNORR, DUNCAN

761 3.01.0057.2.01.1 PL 90389 BALL STOP COCK PLASSER, KNORR, DUNCAN

762 3.01.0058.2.01.2 PL 90359Ll STOP COCK L.H.S. PLASSER, KNORR, DUNCAN

763 3.01.0059.2.01.3 PL 90359RE STOP COCK R.H.S. PLASSER, KNORR, DUNCAN

764 3.01.0060.2.01.4 KA OEM PART NO P-KPM 122-

12 UHL4 TU2-053-0224842-

014-89

Pnumatic valve Reducer JSC Kalugaputmash, Duncan, Parker, 

KNORR, WEBCO, TVS

765 3.01.0061.2.01.5 KA TU4151/002-00221287-96 Pnumatiuc control valve JSC Kalugaputmash, Duncan, Parker, 

KNORR, WEBCO, TVS,

766 3.02.0001.2.01.9 PL 90350/3.8-IND K.E.Valve (Control valve) Plasser, Escorts

767 3.02.0002.2.01.1 PL 90346 and Duncan Part 

no:A93014

VALVE PLASSER, DUNCAN, SUNPARTS,  Indus 

Tech Trade (ITT)

768 3.02.0003.2.01.2 NIL UTVI 06 47/101, OEPL Part 

no. P2101006

BRAKE CYLINDER Phooltas, OEPL

769 3.02.0004.2.01.3 PH UTVI 06 07/00 and OEPL 

part no . P2101001

Auto Drain valve Phooltas,OEPL

770 3.02.0005.2.01.4 PL 90385 and Knorr Bremse 

Part no. II8996-DB

EMERGENCY BRAKE 

VALVE

Plasser, Knorr bremse

771 3.02.0006.2.01.5 PH UTVI-06 46/00 Parking Brake Cylinder Phooltas, Wabco

772 3.02.0007.2.01.6 PL 90372 / KR5 BRAKE VALVE Plasser, KNORR

773 3.02.0008.2.01.7 PL 90306 BRAKE VALVE PLASSER , Duncan

774 3.02.0009.2.01.8 CR 40101343 Brake Control Valve CRCC, Duncan, Parker, KNORR, WEBCO, 

TVS

775 3.02.0010.2.01.9 CR 40095160 Throttle Valve CRCC, Duncan, Parker, KNORR, WEBCO, 

TVS, Williams

776 3.02.0011.2.01.1 CR 40095159 Throttle Valve CRCC, Duncan, Parker, KNORR, WEBCO, 

TVS, Williams

777 3.03.0001.2.01.1 PL PN1Z-ML.50/12/63 

Sub:90233

PNEU CYL ENGAGE & 

DISENGAGE FOR Z F GEAR 

BOX

PLASSER, DUNCAN

778 3.03.0002.2.01.2 PL 52111-10 (11/2”X10”) PNEU CYLINDER PLASSER , DUNCAN 



Page 28 of 60

779 3.03.0003.2.01.3 PL 52111-16 PNEUMATIC CYLINDER 

[32X12X150]

PLASSER , DUNCAN 

780 3.03.0004.2.01.4 PL 52111-4 PNEU CYL SPRING 

LOADED (11/2”X4”)

PLASSER , DUNCAN 

781 3.03.0005.2.01.5 PL 52111-8 PNEU CYL 11/2 X 8” 

STROKE

PLASSER , DUNCAN 

782 3.03.0006.2.01.6 PL 52112-08 / CO211203 APN2-ZG-50/16/250IR 

CYLINDER WTIH TUNION 

MOUNTING

PLASSER , DUNCAN 

783 3.03.0007.2.01.7 PL 52112-6 RT MOUNTING CYL 21/4” X 

6” STROKE

PLASSER , DUNCAN 

784 3.03.0008.2.01.8 PL 52113-10 AIR CYLINDER WITH REAR 

TUNION MOUNTING

PLASSER , DUNCAN 

785 3.03.0009.2.01.9 PL 52113-12 / C0311-305 RT MOUNTING CYL 3”X12” 

STROKE

PLASSER , DUNCAN 

786 3.03.0010.2.01.1 PL 52113-6 SP RT MOUNTING PNEU CYL PLASSER , DUNCAN 

787 3.03.0011.2.01.2 PL 52-113-8 RT MOUNTING CYL 3”X12” 

STROKE

PLASSER , DUNCAN 

788 3.03.0012.2.01.3 PL 52-114-12/CU-411-305 AIR CYLINDER WITH REAR 

TUNION MOUNTING 

PLASSER , DUNCAN 

789 3.03.0013.2.01.4 PL 52115-8 PNUE CYLINDER PLASSER , DUNCAN 

790 3.03.0014.2.01.5 PL 90181A 1/2” AIR WATER 

SEPERATOR [FILTER] WITH 

MANUAL DRAIN, AUTO 

DRAIN VALVE

PLASSER, DUNCAN

791 3.03.0015.2.01.6 PL PN1Z.G.35/12/50 PNEUMATIC CYLINDER PLASSER, DUNCAN

792 3.03.0016.2.01.7 PL PN2Z.G.35/12/50 PNEUMATIC CYLINDER PLASSER, DUNCAN

793 3.03.0017.2.01.8 PL PN2Z.G.35/12/60 PNEUMATIC CYLINDER PLASSER , DUNCAN 

794 3.03.0018.2.01.9 PL PN1Z.G.35/12/150 PNEUMATIC CYLINDER PLASSER, DUNCAN

795 3.03.0019.2.01.1 PL PN2Z.G.35/12/100 PNEUMATIC CYLINDER PLASSER, DUNCAN

796 3.03.0020.2.01.2 PL PN2Z.G.50/16/150 PNEUMATIC CYLINDER PLASSER , DUNCAN 

797 3.03.0021.2.01.3 PL PN2Z.G.50/16/200 PNEUMATIC CYLINDER PLASSER, DUNCAN 

798 3.03.0022.2.01.4 PL PN2Z.G.70/20/150 PNEUMATIC CYLINDER PLASSER, DUNCAN 

799 3.03.0023.2.01.5 PL PN2Z.G.70/20/200 PNEUMATIC CYLINDER PLASSER, DUNCAN 

800 3.03.0024.2.01.6 PL PN2Z.G.70/20/250 PNEUMATIC CYLINDER PLASSER, DUNCAN 

801 3.03.0025.2.01.7 PL PN2Z.G.70/20/300 PNEUMATIC CYLINDER PLASSER, DUNCAN

802 3.03.0026.2.01.8 PL PN2Z.G.70/20/350 PNEUMATIC CYLINDER PLASSER , DUNCAN 

803 3.03.0027.2.01.9 PL PN2Z.KF.50/18/70 PNEUMATIC CYLINDER PLASSER, DUNCAN

804 3.03.0028.2.01.1 PL PN2Z-100-25-400 PNEUMATIC CYLINDER PLASSER, DUNCAN

805 3.03.0029.2.01.2 PL PN-2Z-50-16-300 PNEUMATIC CYLINDER PLASSER , DUNCAN 

806 3.03.0030.2.01.3 PL PN-2Z-50-16-50 REAR TRUNION MOUNTING 

CYL 21/4” X 2” STROKE

PLASSER , DUNCAN 

807 3.03.0031.2.01.4 PL PN-2Z-70-20-400 PNEUMATIC CYLINDER 

[70X20X400]

PLASSER, DUNCAN

808 3.03.0032.2.01.5 PL PN-2ZG-100-25-300 / 

PN2ZG-50-16-500

PNEUMATIC CYLINDER PLASSER, DUNCAN 

809 3.03.0033.2.01.6 PL PN-2Z-G-50/16/70 PNEUMATIC CYLINDER PLASSER, DUNCAN 

810 3.03.0034.2.01.7 PL PN-2ZG-50-16-100 PNEU CYLINDER PLASSER, DUNCAN 

811 3.03.0035.2.01.8 PL PN-2ZG-50-16-250 AIR CYLINDER WITH REAR 

TUNION MOUNTING

PLASSER, DUNCAN 

812 3.03.0036.2.01.9 PL PN-2Z-G-50-16-400 PNEUMATIC CYLINDER PLASSER, DUNCAN 

813 3.03.0037.2.01.1 PL PN-2ZG-50-16-50 REAR TRUNION MOUNTING 

CYL 11/2” X 2” STORKE

PLASSER, DUNCAN 

814 3.03.0038.2.01.2 PL PN-2Z-G-70-20-500 PNEUMATIC CYLINDER PLASSER, DUNCAN 

815 3.03.0039.2.01.3 PL PN-ZKF-50/18/70 PNUEMATIC CYLINDER 

FOR SATELITE 

ENGAGE/DESENGAGE 

PLASSER, DUNCAN 

816 3.03.0040.2.01.4 PL WM-388U1 CID FUEL ACTUATING 

CYLINDER CAMPLETE 

WITH 

DIAPHRAM,LEVER,ELBOW

PLASSER , WILLIAM 



Page 29 of 60

817 3.03.0041.2.01.5 PL 64.03.4000.114/NSCC97

71

PNEUMATIC CYLINDER PLASSER, DUNCAN

818 3.03.0042.2.01.6 PL GLF311.1053/NSCC9378 COMPRESSED AIR

CYLINDER

PLASSER, DUNCAN

819 3.03.0043.2.01.7 PL PN2Z-KF.50/18/70 and 

Duncan part no. 

NSCC7669

PNEUMATIC CYLINDER PLASSER, DUNCAN

820 3.03.0044.2.01.8 PL PN1Z-

G.35/12/150/NSCC77885

PNEUMATIC CYLINDER PLASSER, DUNCAN

821 3.03.0044.2.01.8 PL PN4ZG-100/25x200x100-4 

or SUNPARTS 7500214

PNEUMATIC CYLINDER (4-

POSITION)

PLASSER, SUNPARTS

822 3.03.0045.2.01.9 PH UTVI-06 44/00 Direction change cylinder PHOOLTAS, FESTO

823 3.03.0046.2.01.1 PH UTVI-06 45/00 Range Selector cylinder PHOOLTAS, FESTO

824 3.04.0001.2.01.2 PL 100 MM BORE CLIPS FOR PNEUMATIC 

HOSE

PLASSER , CLIPCO ,CONNECTWELL

825 3.04.0002.2.01.3 PL 12.5 MM BORE PNEU TOOL HOSE PLASSER ,DUNLOP 

,INDOMAKSSON,PIX,POLYHOSE

826 3.04.0003.2.01.4 PL 12.5 MM BORE CLIPS FOR PNEUMATIC 

HOSE

PLASSER , CLIPCO ,CONNECTWELL

827 3.04.0004.2.01.5 PL 6.3 mm PNEU TOOL HOSE PLASSER ,DUNLOP 

,INDOMAKSSON,PIX,POLYHOSE

828 3.04.0005.2.01.6 PL 75 MM BORE CLIPS FOR PNEUMATIC 

HOSE

PLASSER ,CLIPCO ,CONNECTWELL

829 3.06.0001.2.01.4 PL 4324069202 CARTRIDGE/AIR DRIER PLASSER , WABCO 

830 3.06.0002.2.01.5 PL 4324102227 

SUBSTITUTE 

4324100202

CARTRIDGE WITH DRYING 

AGENT

PLASSER , WABCO 

831 3.06.0003.2.01.6 PL 90187B SUBSTITUTE

90187A

Air Dryer Complete Plasser, Wabco

832 3.06.0004.2.01.7 COL

MAR

H4880142  and Donaldson 

part no.P601560

AIR CLEANER ELEMENT COLMAR,
Donaldson

833 3.06.0005.2.01.8 COL

MAR

H4880141  and Donaldson 

part no.P608666

AIR CLEANER ELEMENT COLMAR,
Donaldson

834 3.06.0006.2.01.9 PH F1135200 and Webco Part 

no.4329012232

CARTRIDGE WITH DRYING 

AGENT

Phooltas, Wabco

835 3.06.0007.2.01.1 PL 4324102442/ASP-PLUS Catridge with drying agent (03 

layer protection)

Plasser, wabco

836 3.06.0008.2.01.2 NIL Loram part no.158627 and 

Sullivan palatek part no.SP-

650110

DRYER 200 SCFM W/ -40 

PDP

Loram, Sullivan Palatek

837 3.06.0009.2.01.3 NIL Loram part no.252351-153 

and Sullivan

palatek part no.K09610-001

PNEUMATIC SYSTEM

MAINTENANCE KIT, SMALL

Loram, Sullivan Palatek

838 3.06.0010.2.01.4 NIL Loram part no.158629 and 

Sullivan palatek part no.SP-

4055A030

Maintenance KIT; 200 SCFM 

DRYER

Loram, Sullivan Palatek

839 3.06.0011.2.01.5 PH UTVI-06 42/00 TRANSMISSION AIR 

SERVICE UNIT

PHOOLTAS, FESTO

840 3.06.0012.2.01.6 PL 90284/90284-A BAR PRESSURE GUAGE PLASSER, DUNCAN, Indus Tech Trade (ITT)

841 3.06.0013.2.01.7 CR 40080468 SUB LCQ-1/2 Dust Filter CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

842 3.06.0014.2.01.8 CR 40000494 Air Filter CRCC, Donaldson, Fleetguard, HYDAC, 

HYDROLINE, Filtrec

843 3.06.0015.2.01.9 CR 40102787 SUB 40102520 Air Drying Agent (Hyd.) CRCC, WABCO

844 3.07.0001.2.01.5 PL 52111DS SEAL SET OF PNEU CYL 1-

1/2"

PLASSER, DUNCAN

845 3.07.0002.2.01.6 PL 52112DS SEAL KIT FOR 2-1/4" CYL. PLASSER, DUNCAN

846 3.07.0003.2.01.7 PL 52113DS SEAL KIT FOR 3"  CYL. PLASSER, DUNCAN

847 3.07.0004.2.01.8 PL 52114DS SEAL KIT FOR 4"  CYL. PLASSER, DUNCAN



Page 30 of 60

848 3.07.0005.2.01.9 PL 53004L SEAL KIT FOR HARD 

COVER VALVE PNEUMATIC

PLASSER, DUNCAN

849 3.07.0006.2.01.1 PL PN1Z.25DS SEAL KIT PLASSER, DUNCAN

850 3.07.0007.2.01.2 PL PN1Z.35DS SEAL KIT PLASSER, DUNCAN

851 3.07.0008.2.01.3 PL PN2Z.100DS SEAL KIT PLASSER, DUNCAN

852 3.07.0009.2.01.4 PL PN2Z.35DS SEAL KIT PLASSER, DUNCAN

853 3.07.0010.2.01.5 PL PN2Z.50DS SEAL KIT PLASSER, DUNCAN

854 3.07.0011.2.01.6 PL PN2Z.70DS SEAL KIT PLASSER, DUNCAN

855 3.07.0012.2.01.7 PL PN2Z.KF.50/18/70DS SEAL KIT PLASSER, DUNCAN

856 3.07.0013.2.01.8 PL PN4Z-100DS SUB: 7500262 RUBBER SEAL KIT FOR 

PNEUMATIC CYLINDER

Plasser, Duncan

857 3.07.0014.2.01.9 KA PTS 94.31.09.200 Seal set for pnumatic cylinder JSC Kalugaputmash, TRELLEBORG, 

PARKER, FREUDENBERG (SIMIRIT/CFW),  

HALLITE

858 3.07.0015.2.01.1 KA 1023.81.11.000-03 Seal set for pnumatic cylinder 

(Levelling chord Tention)

JSC Kalugaputmash, TRELLEBORG, 

PARKER, FREUDENBERG (SIMIRIT/CFW), 

HALLITE

859 3.07.0016.2.01.2 KA  1023.81.11.000-04 seal set for pnumatic cylinder 

(shadow board up/down cyl.)

JSC Kalugaputmash, TRELLEBORG, 

PARKER, FREUDENBERG (SIMIRIT/CFW), 

HALLITE

860 4.01.0001.2.01.9 PL VT3005G-SO32-A822 

WITH

PCB 942600

AMPLIFIER Plasser, REXROTH

861 4.01.0002.2.01.1 PL EK-28V-00C SUB. EK-28V-

00B SUNPARTS no. 

7100385

PCB Plasser, SUNPARTS

862 4.01.0003.2.01.2 PL EK-813SV.00B SUB. EK-

813SV.00A, SUNPARTS 

no. 7100381

PCB Plasser, SUNPARTS

863 4.01.0004.2.01.3 CR 40102461 Siplus ET200SP Analog 

Output Module

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

864 4.01.0005.2.01.4 CR 40102463 Siplus ET200SP High Speed 

Analog Input Module

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

865 4.01.0006.2.01.5 CR 40102462 Siplus ET200SP Digital 

Output Module (2A)

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

866 4.01.0007.2.01.6 CR 40102458 16 Point 24 DC Digital Input 

Module

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

867 4.01.0008.2.01.7 CR 40102459 16 Point 24 V DC Digital 

Output Module (0.5A )

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

868 4.01.0009.2.01.8 CR 40102460 4 Point UI Analog Input 

Module

CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

869 4.01.0010.2.01.9 CR 40102468 Profinet Interface Module CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

870 4.01.0011.2.01.1 CR 40089133 DC/DC Power Supply CRCC, SIEMENS, SCHNEIDER, ABB, Allen 

Bradlley, SOYUJ

871 4.01.0012.2.01.2 GE GE140192 Module GEMAC, SIEMENS, SCHNEIDER, ABB, 

Allen Bradlley,  SOYUJ,  XINGYANG 

ELECTRIC

872 4.01.0013.2.01.3 GE GE149104 Module GEMAC, SIEMENS, SCHNEIDER, ABB, 

Allen Bradlley,  SOYUJ,  XINGYANG 

ELECTRIC

873 4.01.0014.2.01.4 GE GE149110 Module GEMAC, SIEMENS, SCHNEIDER, ABB, 

Allen Bradlley,  SOYUJ,  XINGYANG 

ELECTRIC

874 4.01.0015.2.01.5 GE GE149103 Module GEMAC, SIEMENS, SCHNEIDER, ABB, 

Allen Bradlley,  SOYUJ,  XINGYANG 

ELECTRIC

875 4.01.0016.2.01.6 GE GE149107 Module GEMAC, SIEMENS, SCHNEIDER, ABB, 

Allen Bradlley,  SOYUJ,  XINGYANG 

ELECTRIC

876 4.02.0001.2.01.1 PL EL-T7002/S4 RELAY PLASSER, PANASONIC 

877 4.02.0002.2.01.2 PL EL-T7010 RELAY PLASSER, PANASONIC, PARAMOUNT 

878 4.02.0003.2.01.3 NIL Loram part no.105199 and 

AB part no.RT2J 64-82A

OVERLOAD IEC 64.0-82.0A 

C-2000

SERIES

Loram , AB



Page 31 of 60

879 4.02.0004.2.01.4 NIL Loram part no.115415 and 

AB part no.1606-XLS240EC

POWER SUPPLY 24VDC 

10A DIN

RAIL MOUNT

Loram , AB

880 4.02.0005.2.01.5 NIL Loram part no.115430 and 

AB part no.SCP30 S15B-DN

POWER SUPPLY 15VDC 2A 

DIN

RAIL MOUNT

Loram , AB

881 4.02.0006.2.01.6 NIL Loram part no.104611 and 

IDEC part no.RH2B-U 

DC24V

RELAY 2PDT 24VDC 10A Loram,IDEC

882 4.02.0007.2.01.7 NIL Loram part no.107390 and 

IDEC part no.RH1B-U 

DC24V

RELAY SPDT 24VDC Loram,IDEC

883 4.02.0008.2.01.8 PL EL-T7178 RELAY PLASSER, SCHNEIDER

884 4.02.0009.2.01.9 CR 40070640 Chip Relay (Double Contact) CRCC, SIEMENS, SCHNEIDER, 

TELEMECANIQUE

885 4.03.0001.2.01.2 PL 15-2-11 DIGITAL BUTTON 4ST PLASSER ,SPECTROL 

886 4.03.0002.2.01.3 PL EL-T-1050-02 ONE WAY SWITCH 2 

POSITION WITH FLANGE

PLASSER ,SCI ,SG, HOTLINE

887 4.03.0003.2.01.4 PL ELT-1050-D3 OR SCI 

PTR-A33

SWITCH-2 WAY, 3 

POSITION WITH FLANGE. 

PLASSER 

PLASSER,SCI,SG

888 4.03.0004.2.01.5 PL EL-T-1058-14 KEY TYPE SWITCH WITH 

FLANGE FOR ZF

PLASSER,SCI,SG

889 4.03.0005.2.01.6 PL EL-T-1058 PUSH BUTTON & SWITCH 

WITH FLANGE COLOUR 

RED , GREEN

PLASSER ,SCI,SG,SCHNEIDER 

,TELEMECANIQUE

890 4.03.0006.2.01.7 PL EL-T-1058-22 SWITCH [JOYSTICK] PLASSER, SCHNEIDER ,TELE 

MECANIQUE,SIEMENS,

891 4.03.0007.2.01.8 PL EL-T-1058-24 SWITCH [JOYSTICK] PLASSER, SCHNEIDER ,TELE 

MECANIQUE,SIEMENS,

892 4.03.0008.2.01.9 PL EL-T-1301-5604 LATCH  PUSH  BUTTON 

[WHITE]

PLASSER ,PARAMOUNT,TELE 

MECANIQUE, SCI/SG PHOENIX

893 4.03.0009.2.01.1 PL EL-T-1301-5605 LATCH  PUSH  BUTTON 

[RED]

PLASSER ,PARAMOUNT,TELE 

MECANIQUE, SCI/SG PHOENIX

894 4.03.0010.2.01.2 PL EL-T-1422/K/U PROXIMITY SWITCH PLASSER , TURCK,SIEMENS, SOYUZ

895 4.03.0011.2.01.3 PL ELT-1987-7A1 LIMIT SWITCH PLASSER , JAI BALAJI ,BCH

896 4.03.0012.2.01.4 PL EL-T198T LIMIT SWITCH PLASSER ,JAI BALAJI ,BCH

897 4.03.0013.2.01.5 PL EL-T198T/5 LIMIT SWITCH PLASSER ,JAI BALAJI ,BCH

898 4.03.0014.2.01.6 PL JLSJW LIMIT SWITCH PLASSER , JAI BALAJI ,BCH

899 4.03.0015.2.01.7 PL JLSL-A LIMIT SWITCH PLASSER , JAI BALAJI ,BCH

900 4.03.0016.2.01.8 PL LCW LIMIT SWITCH PLASSER , JAI BALAJI ,BCH

901 4.03.0017.2.01.9 PL LL-1 LIMIT SWITCH OIL TIGHT PLASSER , JAI BALAJI ,BCH

902 4.03.0018.2.01.1 PL NC-NO CONTACT PLASSER , SCI ,SG

903 4.03.0019.2.01.2 PL NO-NC CONTACT PLASSER , SCI ,SG

904 4.03.0020.2.01.3 PL PPP-8 ,6  PUSH BUTTON STATION PLASSER ,HOTLINE ,SCI,SG

905 4.03.0021.2.01.4 PL 343008006 Switch Plasser,Bosch &BCH

906 4.03.0022.2.01.5 PL LTTBA LIMIT SWITCH PLASSER ,JAI BALAJI ,BCH

907 4.03.0023.2.01.6 PL EL-T1455A Switch Plasser Imp , Truck

908 4.03.0024.2.01.7 PL EL-T325(235) or EL-T325 Switch Pedal Plasser Imp, Jai Balaji, BCH 

909 4.03.0025.2.01.8 COL

MAR

9990018 ans revised Part 

no.51902004 and Treeffe 

part no. BTF-40/K

Remote Control Assembly COLMAR, Treeffe

910 4.03.0026.2.01.9 PL 64.07.1000.54 PRESSURE SWITCH SOYUZ,Plasser

911 4.03.0027.2.01.1 PL 342309006 Engine starter switch PLASSER, BOSCH

912 4.03.0028.2.01.2 PL EL-T7190-22 Joy stick 2 way Plasser, Schneider, Telemecanique, Siemens

913 4.03.0029.2.01.3 PL EL-T7190-24 Joy stick 4 way Plasser, Schneider, Telemecanique, Siemens

914 4.03.0030.2.01.4 PL EL-T-7140/4 STEP SWITCH PLASSER,SCHNEIDER

915 4.03.0031.2.01.5 PL EL-T7140/5 SWITCH PLASSER,SCHNEIDER

916 4.03.0032.2.01.6 PL EL-T7190-14 SELECTING SWITCH PLASSER,SCHNEIDER

917 4.03.0033.2.01.7 PL EL-T7190-A5 SWITCH PLASSER,SCHNEIDER

918 4.03.0034.2.01.8 PL EL-T7190-C4 MUSHROOM BUTTON PLASSER,SCHNEIDER

919 4.03.0035.2.01.9 PL EL-T7190-C44 MUSHROOM BUTTON 

RED/30MM

PLASSER,SCHNEIDER



Page 32 of 60

920 4.03.0036.2.01.1 PL EL-T7190-C64 MUSHROOM BUTTON 

BLUE/30MM

PLASSER,SCHNEIDER

921 4.03.0037.2.01.2 PL EL-T7190-D2 SWITCH HEAD PLASSER,SCHNEIDER

922 4.03.0038.2.01.3 PL EL-T7190-D3 SWITCH HEAD PLASSER,SCHNEIDER

923 4.03.0039.2.01.4 PL EL-T7190-D5 SWITCH HEAD PLASSER,SCHNEIDER

924 4.03.0040.2.01.5 PL EL-T7190-F FLANGE FOR CONTACT 

ELEMENT

PLASSER,SCHNEIDER

925 4.03.0041.2.01.6 PL EL-T7190-O CONTACT ELEMENT PLASSER,SCHNEIDER

926 4.03.0042.2.01.7 PL EL-T7190-S CONTACT ELEMENT PLASSER,SCHNEIDER

927 4.03.0043.2.01.8 PL EL-T 1050 DL2 / ROT TOMMY HEAD PLASSER,SCHNEIDER

928 4.03.0044.2.01.9 PL EL-T 1050.DL3/GREEN SWITCH PLASSER,SCHNEIDER

929 4.03.0045.2.01.1 PL EL-T1050-D2 SWITCH PLASSER,SCHNEIDER

930 4.03.0046.2.01.2 PL EL-T1050-D3 SWITCH PLASSER,SCHNEIDER

931 4.03.0047.2.01.3 PL EL-T1050-DL3/GRUEN SWITCH PLASSER,SCHNEIDER

932 4.03.0048.2.01.4 PL EL-T1050-DL3/ROT SWITCH PLASSER,SCHNEIDER

933 4.03.0049.2.01.5 PL EL-T1050-

DL3/WEISS,FL,RSSLS

SWITCH PLASSER,SCHNEIDER

934 4.03.0050.2.01.6 KA P2Т-5 ВТ0.360.002 TU Switch (forward/Reverse) JSC Kalugaputmash, SIEMENS, 

SCHNEIDER, TELEMACHAQUE

935 4.03.0051.2.01.7 CR 40105054 Auxiliary Brake Button CRCC, SIEMENS, SCHNEIDER, 

TELEMECANIQUE

936 4.03.0052.2.01.8 CR 40065050 3 Position Black Reset 

Selection Switch CRCC part 

no 40065050; schenider part 

no XB4-BD53 .

CRCC, SIEMENS, SCHNEIDER, 

TELEMECANIQUE

937 4.03.0053.2.01.9 CR 40065170 Key Switch CRCC,SIEMENS, SCHNEIDER, 

TELEMECANIQUE

938 4.03.0054.2.01.1 CR 40082353 Self Resetting Botton CRCC, SIEMENS, SCHNEIDER, 

TELEMECANIQUE

939 4.03.0055.2.01.2 GE PCT3000-401P341C-308 Proximity Switch part no 

PCT3000-401P341C-308

GEMAC, TURCK, PLASSER, SOYUZ

940 4.03.0056.2.01.3 PL EL-T7250-CW6B2 ILLUMINATED PUSH 

BUTTON 

BLUE/LATCHING/18X18 

PLASSER, 

SCHNEIDER,,TELEMECANIQUE,SIEMENS, 

HILUX, HELLA

941 4.03.0057.2.01.4 PL EL-T1058-22 JOY STICK 4 WAY PLASSER, SCHNEIDER, TELEMECANIQUE, 

SIEMENS

942 4.03.0058.2.01.5 PL EL-T1058-24 JOY STICK 2 WAY  PLASSER, SCHNEIDER, TELEMECANIQUE, 

SIEMENS

943 4.04.0001.2.01.3 PL 340-807-001-001/340-

808-001-002

RPM SENSOR (INDICATOR) PLASSER , VDO 

944 4.04.0002.2.01.4 PL 360/081/030/037 OIL PRESSURE SENSOR 0-

10 BAR

PLASSER ,VDO ,PRICOL

945 4.04.0003.2.01.5 PL 360/081/037/018 OIL PRESSURE SENSOR 

[TRANSDUCER], (0-25BAR)

PLASSER ,VDO ,PRICOL

946 4.04.0004.2.01.6 PL 6 BAR WO/WE FILTER CHOKING 

INDICATOR

PLASSER , EPE ,REXROTH-BOSCH

947 4.04.0005.2.01.7 PL EL-T-7055/700 AF ENCODER [ROTARY TYPE] Plasser, Encoder-India, Excella

948 4.04.0006.2.01.8 PL GAUGE-3735, SENSOR-

30833

TEMPERATURE GUAGE 

WITH SENSOR 

PLASSER ,PRICOL 

949 4.04.0007.2.01.9 PL VD5LE.0/-03028701 CLOGGING INDICATOR PLASSER , HYDAC 

950 4.04.0008.2.01.1 PL 171010 Colour Camera Famos 118 PA Plasser Imp, Hikvision 

951 4.04.0009.2.01.2 All 0-25mm, 25-50mm, 50-

75mm, 75-100mm, 100-

125mm, 125-150mm, 150-

175mm, 175-200mm, 200-

225mm

Set of Digital Micrometers 

(Outside) Consisting of

Mitutoyo/Japan, Baker 



Page 33 of 60

952 4.04.0010.2.01.3 All 1. 50-150 mm L.C. 0.01 

mm, Code: 511-

703+2046S                     

2. 100-160 mm, Code: 

511-704+2046S             3. 

160-250 mm Code: 511-

705+2046S            4. 250-

400 mm, Code: 511-

706+2046S

Set of Bore Gauge with Dial sizes- Mitutoyo/Japan, Baker 

953 4.04.0011.2.01.4 All 200-225mm, L.C-0.001, 

code: 337-101

Set of Digital Tubular Inside 

Micrometer. Range-

Mitutoyo/Japan, Baker 

954 4.04.0012.2.01.5 All 50-300mm, L.C-0.01mm. 

Code: 137-202

Set of TubularInside Micrometer. 

Range-

Mitutoyo/Japan, Baker 

955 4.04.0013.2.01.6 PL 64.07.1000.57 PRESSURE SWITCH SOYUZ,Plasser

956 4.04.0014.2.01.7 NIL Loram part no.116121 and 

BEI sensors part.no.  

HS35F-100-BS-2000-ABC-

28V/V- SM16-S

ENCODER OPTICAL 2000 

CT BLIND SHAFT MOUNT

Loram, BEI sensors

957 4.04.0015.2.01.8
PL

64.07.1000.163 PRESSURE SWITCH PLASSER, Soyuz, IMI

Norgren
958 4.04.0016.2.01.9 PL EL-T1255.00B    SUB.  EL-

T1255.00A

Engine Hour meter PLASSER, VDO

959 4.04.0017.2.01.1 PL LAX-2000D8 WITH SPEED 

SIGNAL CONFIRMING TO 

RDSO SPECIFICATION 

NO.MP.0.3700.07(REV.07),

AUGUST2017.Scale Range 

0-120, Voltage-24VDC. 

EACH SET CONSISTING 

OF THE FOLLOWING 

ITEMS.1) RECORDER 

CUM INDICATOR UNIT-1 

NO. 2) SPEED INDICATOR -

01 NO. 3) PULSE 

GENERATOR - 1  NO.4) 

JUNCTION BOX - 1  NO.5) 

CONNECTING CABLES- 01 

SET of 4NOS (RCI to IND 

cable Length 35metres

MICRO CONTROLLER 

BASED ELECTRONIC 

SPEED INDICATING & 

RECORDING SYSTEM AS 

PER LAXVEN SYSTEM

PLASSER, Laxvan

960 4.04.0018.2.01.2 PL 64.07.1000.54 Presure switch Plasser, IMI Norgren

961 4.04.0019.2.01.3 CR 40095537 Sub PT 5443 Pressure Sensor part no 

40095537 Sub IFM part no 

PT 5443

CRCC, VDO, PRICOL, IFM. 

962 4.04.0020.2.01.4 CR 40097170 Proximity Sensor CRCC, TURCK, PLASSER, SOYUZ

963 4.04.0021.2.01.5 CR 40105053 Brake Indicator CRCC, SCHNEIDER, SIEMENS, 

TELEMACHAQUE

964 4.04.0022.2.01.6 PL EL-T7144.00 Proximity Switch PLASSER, PARASNATH, SIEMENS, BCH, 

SOYUZ

965 4.05.0001.2.01.4 PL EL-T-1044 POTENTIOMETER PLASSER , SAKAE ,MTL

966 4.05.0002.2.01.5 PL EL-T1151A TRANSDUCER 

[MAGENETIC SENSOR]

PLASSER , TURCK, SUNPARTS

967 4.05.0003.2.01.6 PL EL-T2013.00RE PROPORTIONAL 

TRANSDUCER

PLASSER, REM TECHNOLOGY, SOYUZ

968 4.05.0004.2.01.7 PL EL-T2044.00LI PROPORTIONAL 

TRANSDUCER

PLASSER, REM TECHNOLOGY, SOYUZ

969 4.05.0005.2.01.8 PL EL-T-500 HQA 5K OHM POTENTIOMETER PLASSER ,SAKAE ,MTL

970 4.05.0006.2.01.9 PL EL-T500HQD     

SUBSTITUTE  EL-

T500HQC

POTENTIOMETER PLASSER , SAKAE, MTL, SUNPARTS

971 4.05.0007.2.01.1 PL EL-T-595,RESISTANCE 

5K OHM +-10%

POTENTIOMETER PLASSER , SAKAE, MTL, SUNPARTS



Page 34 of 60

972 4.05.0008.2.01.2 PL EL-T2013.00Li PROPORTIONAL 

TRANSDUCER

PLASSER, REM TECHNOLOGY, SOYUZ

973 4.05.0009.2.01.3 PL EL-T2044.00Re PROPORTIONAL 

TRANSDUCER

PLASSER, REM TECHNOLOGY, SOYUZ

974 4.05.0010.2.01.4 PL EL-T609.00/4S-HG Versine Transducer Plasser Imp, REM technology, Soyuz 

975 4.05.0011.2.01.4 PL EL-T-750.00ZS Transducer Plasser, REM technology, Soyuz 

976 4.05.0012.2.01.5 PL EL-T-1041.00 HG Transducer Plasser, REM technology, Soyuz 

977 4.05.0013.2.01.6 PL EL-T-609.00 Transducer Plasser, REM technology, Soyuz 

978 4.05.0014.2.01.8

979 4.05.0015.2.01.9 CR JM2-120 Height Transducer CRCC, PLASSER, SOYUZ, REM Technology

980 4.05.0016.2.01.1 CR XM3D-2500 Tamping Frame Transducer CRCC, PLASSER, SOYUZ, REM Technology

981 4.05.0017.2.01.2 CR 40102650 SUB XM1A-760 Versine Transducer CRCC, PLASSER, SOYUZ, REM Technology

982 4.05.0018.2.01.3 CR XM3A-780 SUB 40102652 Lining Transducer Xm3-

780/Dc10V/780 Mm/<0.5Mm

CRCC, PLASSER, SOYUZ, REM Technology

983 4.05.0019.2.01.4 CR XM3-780 SUB 40102653 Tamping Depth Transducer  

And Hook Transducer Xm3-

780/Dc10V/780 Mm/<0.5Mm

CRCC, PLASSER, SOYUZ, REM Technology

984 4.05.0020.2.01.5 CR 40084120 Correction Value 

Potentiometer

CRCC, PLASSER, SOYUZ, SIEMENS, 

SAKAE

985 4.06.0001.2.01.5 PL WN-63-03ZDO-SKN SHOCK ABSORBER FOR 

PENDULAM

PLASSER, MEYLE, STABILES

986 4.06.0002.2.01.6 CR 40102646 SUB JM1-360 Pendulum CRCC, PLASSER, SOYUZ, REM Technology

987 4.07.0001.2.01.6 PL  OLFLEX CLASSIC 

HO7RNF1-35 MM

FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

988 4.07.0002.2.01.7 PL 2 X 0.5 MM FLEXIBLE COPPER CABLE, 

UNSHIELDED

PLASSER , LAPP INDIA 

989 4.07.0003.2.01.8 PL 2 X 1 MM FLEXIBLE COPPER CABLE, 

UNSHIELDED

PLASSER , LAPP INDIA 

990 4.07.0004.2.01.9 PL CY-4X0.5 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

991 4.07.0005.2.01.1 PL CY-7 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

992 4.07.0006.2.01.2 PL GOEF 1 X 10 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

993 4.07.0007.2.01.3 PL GUOEF-1 X 6 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

994 4.07.0008.2.01.4 PL GUOEF-4 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

995 4.07.0009.2.01.5 PL H-07-RN-F-1 X 16 SQ 

MM

CABLE (26037) PLASSER , LAPP INDIA 

996 4.07.0010.2.01.6 PL H07-RN-F-1 X 35 SQ MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

997 4.07.0011.2.01.7 PL KVM.OY7X1.5 FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

998 4.07.0012.2.01.8 PL KVM-CY-2 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

999 4.07.0013.2.01.9 PL KVM-CY-2 X 1 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1000 4.07.0014.2.01.1 PL KVM-CY-4 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1001 4.07.0015.2.01.2 PL KVM-OY-10 X 1 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1002 4.07.0016.2.01.3 PL KVM-OY-18 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1003 4.07.0017.2.01.4 PL KVM-OY-18 X 1 FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1004 4.07.0018.2.01.5 PL KVM-OY-2 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1005 4.07.0019.2.01.6 PL KVM-OY-2 X 1 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1006 4.07.0020.2.01.7 PL KVM-OY-2 X 1.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

Item is repeated



Page 35 of 60

1007 4.07.0021.2.01.8 PL KVM-OY-2 X 2.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1008 4.07.0022.2.01.9 PL KVM-OY-25 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1009 4.07.0023.2.01.1 PL KVM-OY-4 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1010 4.07.0024.2.01.2 PL KVM-OY-4 X 1.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1011 4.07.0025.2.01.3 PL KVM-OY-4 X 10 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1012 4.07.0026.2.01.4 PL KVM-OY-40 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1013 4.07.0027.2.01.5 PL KVM-OY-5 X 1 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1014 4.07.0028.2.01.6 PL KVM-OY-64 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1015 4.07.0029.2.01.7 PL KVM-OY-7 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1016 4.07.0030.2.01.8 PL LA-YY-J-12 X 0.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1017 4.07.0031.2.01.9 PL LA-YY-J-3 X 2.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1018 4.07.0032.2.01.1 PL LA-YY-J-34 X 1 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1019 4.07.0033.2.01.2 PL LA-YY-J-7 X 1.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1020 4.07.0034.2.01.3 PL LA-YY-J-7 X 2.5 MM FLEXIBLE COPPER CABLE PLASSER , LAPP INDIA 

1021 4.07.0035.2.01.4 PL OY 3X2.5, 100 3X2.5 FLEXBLE COPPER CABLE PLASSER , LAPP INDIA 

1022 4.07.0036.2.01.5 PL OY 5X2.5 OR 100 5X2.5 FLEXIBLE COPPER 

CABLE.OR LAPP OLFLEX 

CLASSIC

PLASSER , LAPP INDIA 

1023 4.07.0037.2.01.6 PL OY-10X1 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

1024 4.07.0038.2.01.7 PL OY-18X1.5 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

1025 4.07.0039.2.01.8 PL OY-1X70 MM FLEX COPPER CABLE PLASSER , LAPP INDIA 

1026 4.07.0040.2.01.9 PL OY-25X0.5 CABLE PLASSER , LAPP INDIA 

1027 4.07.0041.2.01.1 PL OY-2X0.5 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

1028 4.07.0042.2.01.2 PL OY-2X1.5 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

1029 4.07.0043.2.01.3 PL OY-4X0.5 MM FLEX. COPPER CABLE PLASSER , LAPP INDIA 

1030 4.07.0044.2.01.4 PL UNI PLUS 1 X 70 MM FLEX COPPER CABLE PLASSER , LAPP INDIA 

1031 4.07.0045.2.01.5 PL As per Plasser Pt. no. KVM 

OY 25X1.5MM2, As per 

LAPP Pt. no. CABLE TYPE- 

OLFLEX CLASSIC 110 25 G 

1.5

Flex Copper Cable LAPP India, Plasser

1032 4.07.0046.2.01.6 PL HO7RNF 1X95 Rubber 

Cable

Battery Cable of 95MM 

Square

LAPP India,  Plasser

1033 4.07.0047.2.01.7 PL 95 mm light duty CT-19 Copper  Tube Terminal Plasser, Dowell,  Escom

1034 4.07.0048.2.01.8 PL 100x100 Cable Duct Plasser, AKG,  Faizer

1035 4.07.0049.2.01.9 PL 18 CORE X 0.5MM2 CABLE Plasser , LAPP india

1036 4.07.0050.2.01.1 NIL Colmar part no. 9900019 

and Treeffe part no. 

A6M3000

CABLE M30 Colmar, Treeffe

1037 4.07.0051.2.01.2 COL

MAR

6100048 and Salami Part 

no. LEVER 1000mm long

CABLE VDO 8A Colmar, Salami IMP

1038 4.07.0052.2.01.3 PL 10 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1039 4.07.0053.2.01.4 PL 35 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1040 4.07.0054.2.01.5 PL OY 4X1.5 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1041 4.07.0055.2.01.6 PL OY 10X1.0 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1042 4.07.0056.2.01.7 PL OY 40X0.5 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB



Page 36 of 60

1043 4.07.0057.2.01.8 PL OY 60X0.5 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1044 4.07.0058.2.01.9 PL OY 1X4 mm2 Cable PLASSER, LAPP INDIA, FINOLEX, FIXLITE, 

POLYCAB

1045 4.08.0001.2.01.7 PL 9580234005 FUEL PUMP PLASSER, BOSCH 

1046 4.08.0002.2.01.8 PL  P-1 SIZE 2.5 MM PIN TERMINAL PLASSER , DOWEL ,ESKON

1047 4.08.0003.2.01.9 PL  P-7 SIZE 10 MM PIN TERMINAL PLASSER , DOWEL ,ESKON

1048 4.08.0004.2.01.1 PL  SIZE 1.5 NO CAT NO 

ACP 9 TYPE-1

PIN TYPE THIMBLE PLASSER , DOWEL ,ESCOM

1049 4.08.0005.2.01.2 PL 1.5 ,1 MM THIMBLE HOLLOW TYPE PLASSER , DOWELL'S ,ESCOM

1050 4.08.0006.2.01.3 PL 100MM CABLE TIE PLASSER , KSS ,LOCKIT

1051 4.08.0007.2.01.4 PL 1200X400X200 ENCLOSER PLASSER  BCH ,L & T

1052 4.08.0008.2.01.5 PL 25X25,45X45,75X25,75X

45,75X75,80X80

CABLE  DUCT / TRENCH  PLASSER , AKG ,FAIZER

1053 4.08.0009.2.01.6 PL 500X300X120 , BIL 

70210

ENCLOSER PLASSER , BCH ,L & T

1054 4.08.0010.2.01.7 PL EL-T-272-5A & EL-T-273-

A

I TYPE COUPLER 5-PIN 

MALE & FEMALE 

PLASSER , AMPHETRONICS/AMPHNOL 

,JETRONICS

1055 4.08.0011.2.01.8 PL MBK3/CMT4 CONNECTOR PLASSER , DOWELL'S ,ESCOM

1056 4.08.0012.2.01.9 PL NIL THIMBLE INSERT TYPE 2.5 

MM 

PLASSER , DOWELL'S ,ESCOM

1057 4.08.0013.2.01.1 PL NIL THIMBLE O TYPE 2.5,9.5,16 

MM 

PLASSER , DOWELL'S ,ESCOM

1058 4.08.0014.2.01.2 PL NIL THIMBLE PIN TYPE CP-9, 

1.5 

PLASSER , DOWELL'S ,ESCOM

1059 4.08.0015.2.01.3 PL P-17 SIZE 1.5 MM PIN TERMINAL PLASSER , DOWEL ,ESKON

1060 4.08.0016.2.01.4 PL P-9 SIZE 1.5 MM PIN TERMINAL PLASSER , DOWELL'S ,ESCOM

1061 4.08.0017.2.01.5 PL TYPE 6/7 PENDULUM COUPLER 

SMALL TYPE 6/7 PIN MALE 

&FEMALE

PLASSER , AMPHETRONICS/AMPHNOL , 

JETRONICS

1062 4.08.0018.2.01.6 PL ZKR-118 BASE FOR RELAY  II PIN PLASSER , OMRON , 

1063 4.08.0019.2.01.7 All 63 AMPS with Link Fuse Unit SGH Anchor, Siemens or its equivalent, Phenix, 

L&T, Havells, BCH

1064 4.08.0020.2.01.8 PL ST-SILED 24 Fuse Plug Terminal Plasser, Phoenix

1065 4.08.0021.2.01.9 PL USIFG 0920083 Fuse Modular Terminal Block Plasser, Phoenix

1066 4.08.0022.2.01.1 PL EL-T 7078 Plug Plasser, Parker, Elcom, Duncan

1067 4.08.0023.2.01.2 PL 63 A Bakelite Fuse Grip Plasser, SCI SG,  Havells

1068 4.08.0024.2.01.3 PL 150 MM, Min size- 150 x 

3.6 mm

Cable Tie (150 MM) Nylon PLASSER , KSS ,LOCKIT

1069 4.08.0025.2.01.4 PL 200 MM, Min size- 200 x 

5 mm

Cable Tie (200 MM) Nylon PLASSER , KSS ,LOCKIT

1070 4.08.0026.2.01.5 PL 300 MM, Min size- 300 x 

5 mm

Cable Tie (300 MM) Nylon PLASSER , KSS ,LOCKIT

1071 4.08.0027.2.01.6 PL EL-T7079 PLUG Plasser, ELCOM

1072 4.08.0028.2.01.7

1073 4.08.0029.2.01.8 PL EL-T7126/10A/7100183 

or

412K54LN2/10A

CIRCUIT BREAKER PLASSER, E.T.A

1074 4.08.0030.2.01.9 PL EL-T7126/15A or

412K54LN2/15A

CIRCUIT BREAKER PLASSER, E.T.A

1075 4.08.0031.2.01.1 PL EL-T7126/25AMPS or 

412K54LN2/25A or 

900.818.0007 

SUNPARTS 7100185

CIRCUIT BREAKER PLASSER, E.T.A, SUNPARTS

1076 4.08.0032.2.01.2 PL EL-T7126/35A or

413K54LN2/35A

CIRCUIT BREAKER PLASSER, E.T.A

1077 4.08.0033.2.01.3 PL EL-T7126/5A or 

412K54LN2/5A or 

SUNPARTS 7100384

CIRCUIT BREAKER PLASSER, E.T.A, SUNPARTS

1078 4.08.0034.2.01.4 PL EL-T7126/8A or 

412K54LN2/8A or 

SUNPARTS 7100186

CIRCUIT BREAKER PLASSER, E.T.A, SUNPARTS

1079 4.08.0035.2.01.5 PL 2210-T210-K0M1-H121-

15A

CIRCUIT BREAKER PLASSER , E.T.A

Item is repeated



Page 37 of 60

1080 4.08.0036.2.01.6 PL 2210-T210-K0M1-H121-

8A

CIRCUIT BREAKER PLASSER , E.T.A

1081 4.08.0037.2.01.7 PL EL-T7126/40A and E.T.A

Part no. 412K54LN2/40A

CIRCUIT BREAKER PLASSER , E.T.A

1082 4.08.0038.2.01.8 PL EL-T7126/50A CIRCUIT BREAKER PLASSER , E.T.A

1083 4.08.0039.2.01.9 PL 410-K-1-B3-7A CIRCUIT BREAKER PLASSER , E.T.A

1084 4.08.0040.2.01.1 PL 410-K-1-B3-10A CIRCUIT BREAKER PLASSER , E.T.A

1085 4.08.0041.2.01.2 PL 410-K-1-B3-16A CIRCUIT BREAKER PLASSER , E.T.A

1086 4.08.0042.2.01.3 PL 410-K-1-B3-25A CIRCUIT BREAKER PLASSER , E.T.A

1087 4.08.0043.2.01.4 PL 410-K-1-C3-25A CIRCUIT BREAKER PLASSER , E.T.A

1088 4.08.0044.2.01.5 PL 410-K-1-B3-32A CIRCUIT BREAKER PLASSER , E.T.A

1089 4.08.0045.2.01.6 PL 410-K-1-C3-32A CIRCUIT BREAKER PLASSER , E.T.A

1090 4.08.0046.2.01.7 PL 410-K1-B3-40A CIRCUIT BREAKER PLASSER , E.T.A

1091 4.08.0047.2.01.8 PL 410-K-1-B3-50A CIRCUIT BREAKER PLASSER , E.T.A

1092 4.08.0048.2.01.9 PL 410-K-1-B3-63A CIRCUIT BREAKER PLASSER , E.T.A

1093 4.08.0049.2.01.1 PL 2210-T210-K0M1-H121-

5A

CIRCUIT BREAKER PLASSER , E.T.A

1094 4.08.0050.2.01.2 PL 2210-T210-K0M1-H121-

25A

CIRCUIT BREAKER PLASSER , E.T.A

1095 4.08.0051.2.01.3 PL 2210-T210-K0M1-H121-

32A

CIRCUIT BREAKER PLASSER , E.T.A

1096 4.08.0052.2.01.4 PL 3600-P10-SI-8A-2350 AUTOMATIC CUTOUT-5 PLASSER , E.T.A

1097 4.08.0053.2.01.5 PL 3600-P10-SI-16A-2350 AUTOMATIC CUTOUT-6 PLASSER , E.T.A

1098 4.08.0054.2.01.6 PL 4220-T110-KOM1-H1Z1-

A-5A and Sub Part no.EL-

T700- 00051-5A

CIRCUIT BREAKER PLASSER , E.T.A

1099 4.08.0055.2.01.7 PL 4220-T110-KOM1-H1Z1-

A-

8A and Sub Part no.EL-

T700- 00051-8A

CIRCUIT BREAKER PLASSER , E.T.A

1100 4.08.0056.2.01.8 PL 4220-T110-KOM1-H1Z1-

A-

15A and Sub Part no. EL- 

T700-00051-15A

CIRCUIT BREAKER PLASSER , E.T.A

1101 4.08.0057.2.01.9 PL 4220-T110-KOM1-H1Z1-

A-

25A and Sub Part no.EL- 

T700-00051-25A

CIRCUIT BREAKER PLASSER , E.T.A

1102 4.08.0058.2.01.1 PL 3600-P10-SI-5A-2350 AUTOMATIC CUTOUT-7 PLASSER , E.T.A

1103 4.08.0059.2.01.2 PL 452K34FN2/100A CIRCUIT BREAKER PLASSER , E.T.A

1104 4.08.0060.2.01.3 PL EL-T-7091-00 or 

SUNPARTS 7400381

ELECTRIC CYLINDER 

LIFTING

PLASSER ,SUNPARTS

1105 4.08.0061.2.01.4 NIL Loram part no.230324 and 

ABB part no. SACE E2.2S 

1600In Amps

CIRCUIT BREAKER 1600A 

3P 600V; E2.2 FRAME 

DRAWOUT IEC

Loram,ABB

1106 4.08.0062.2.01.5 NIL Loram part no.250781 and 

ABB part no.SACE Tmax 

XT4H 250 

CB 175A 3P 600V; XT4 

FRAME

MOLDED CASE

Loram , ABB

1107 4.08.0063.2.01.6 NIL Loram part no.240151 and 

ABB part

no.SACE Tmax XT1H 125

CB 100A 3P 600V; XT1 

FIXED

MOLDED CASE

Loram , ABB

1108 4.08.0064.2.01.7 NIL Loram part no.100542 and 

AB part no. 1492 SP D 4A

CIRCUIT BREAKER 4A 1P 

480V

Loram , AB

1109 4.08.0065.2.01.8 NIL Loram part no.100543 and 

AB part no. 1492- SP D 16A

CIRCUIT BREAKER 16A 1P 

480V

Loram , AB

1110 4.08.0066.2.01.9 NIL Loram part no.100564 and 

AB part no.1492-SP D 8A

CIRCUIT BREAKER 8A 1P 

480V

Loram , AB



Page 38 of 60

1111 4.08.0067.2.01.1 NIL Loram part no.101473 and 

AB part no.1492 SP D 10A

CIRCUIT BREAKER 10A 1P 

480V

Loram , AB

1112 4.08.0068.2.01.2 NIL Loram part no.101475 and 

AB part no.1492 SP D 2A

CIRCUIT BREAKER 2A 1P 

480V

Loram , AB

1113 4.08.0069.2.01.3 NIL Loram part no.233762 and 

AB part no.140G- G6C3-

C70

CIRCUIT BREAKER 70A 3P 

480V;

FIXED THERMAL 

MAGNETIC

Loram , AB

1114 4.08.0070.2.01.4 NIL Loram part no.114367 and 

AB part no.1492-SP D 6A

CIRCUIT BREAKER 6A 1P 

480V

Loram , AB

1115 4.08.0071.2.01.5 NIL Loram part no.115379 and 

AB part no.1492-SP D 40A

CIRCUIT BREAKER 40A 1P 

480V

Loram , AB

1116 4.08.0072.2.01.6 NIL Loram part no.115407 and 

AB part no.1492-SP D 3A

CIRCUIT BREAKER 3A 1P 

480V

Loram , AB

1117 4.08.0073.2.01.7 NIL Loram part no.259829 and 

AB part no.140M-D8E

CIRCUIT BREAKER 10A 3P 

480V;

6.3A-10.0A OVERLOAD

Loram , AB

1118 4.08.0074.2.01.8 NIL Loram part no.123735 and 

AB part no.140M-F8E

CIRCUIT BREAKER 45A 3P 

480V

32.0A-45.0A OVERLOAD

Loram , AB

1119 4.08.0075.2.01.9 NIL Loram part no.161533 and 

AB part no.CL25

CB 25A 4P 480V; 30mA GFI

PROTECTION

Loram , AB

1120 4.08.0076.2.01.1 NIL Loram part no.117420 and 

AB part no.1492- SP D 13A

CIRCUIT BREAKER 13A 1P 

480V

Loram , AB

1121 4.08.0077.2.01.2 NIL Loram part no.116245 and 

ETN part 

no.GHBGFEP1015

CIRCUIT BREAKER 15A 

PANELBOARD GHB SERIES

Loram ,ETN

1122 4.08.0078.2.01.3 NIL Loram part no.164686 and 

ETN part no.GHB3100

CB 100A 3P 480V T3 FRAME

THERMAL-MAGNETIC

Loram ,ETN

1123 4.09.0001.2.01.8 PL 0120689505 ALTERNATOR PLASSER , BOSCH 

1124 4.09.0002.2.01.9 PL 0120689545 ALTERNATOR PLASSER , BOSCH 

1125 4.09.0003.2.01.1 PL 12V 100AH BATTERY EXIDE,AMCO, PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1126 4.09.0004.2.01.2 PL 12V 180AH BATTERY EXIDE,AMCO, PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1127 4.09.0005.2.01.3 PL 12V 200AH BATTERY EXIDE,AMCO, PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1128 4.09.0006.2.01.4 PL 12V 220AH BATTERY EXIDE,AMCO, PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1129 4.09.0007.2.01.5 PL 12V 75AH BATTERY 12V 75AH EXIDE,AMCO, PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1130 4.09.0008.2.01.6 PL 24 V DC-300MM COACH/CABIN FAN PLASSER , REMI 

1131 4.09.0009.2.01.7 PL 24V DC ELECTRIC HORN PLASSER , HELLA ,LUCAS

1132 4.09.0010.2.01.8 PL 24V DC HEAD LIGHT PLASSER ,HI-LUX, AUTO PAL,NEOLITE, 

TVS

1133 4.09.0011.2.01.9 PL 24V, 50-60W, DIA 152 

MM

WORKING LIGHT SMALL PLASSER ,HI-LUX, AUTO PAL,NEOLITE, 

TVS

1134 4.09.0012.2.01.1 PL 41MT SELF STARTER PLASSER .BOSCH ,DELCO REMI .LUCAS

1135 4.09.0013.2.01.2 PL 42MT SELF STARTER PLASSER .BOSCH ,DELCO REMI .LUCAS

1136 4.09.0014.2.01.3 PL 50MT SELF STARTER PLASSER .BOSCH ,DELCO REMI .LUCAS



Page 39 of 60

1137 4.09.0015.2.01.4 PL EM35R (MF) BATTERY EXIDE,AMCO , PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1138 4.09.0016.2.01.5 PL For PQRS ALTERNATOR (Dynamo) PLASSER , BOSCH ,LUCAS

1139 4.09.0017.2.01.6 PL For UTV ALTERNATOR PLASSER , BOSCH ,LUCAS

1140 4.09.0018.2.01.7 PL NIL FOG/TAIL LAMP WITH BULB 

24V/ 21 W 

PLASSER , JMI ,HELLA

1141 4.09.0019.2.01.8 PL NS-40 BATTERY EXIDE,AMCO , PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1142 4.09.0020.2.01.9 PL DSL5A-24V/124R Self starter for MWM Greaves & TVS

1143 4.09.0021.2.01.1 All 12V-88AH Battary EXIDE,AMCO , PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1144 4.09.0022.2.01.2 All 12V-45AH Battary EXIDE,AMCO , PRESTOLITE,STANDARD 

FARUKA, CUMMINS

1145 4.09.0023.2.01.3 PL 24V DC, 27W Wotking Light Assy LED Plasser Imp, ANBRO, Hilux, Autopal, 

Neolite,Hella 

1146 4.09.0024.2.01.4 PL 24V DC/18 Watt Working light LED Plasser , Hilux, Anbro

1147 4.09.0025.2.01.5 PL 24V DC/27 Watt Working light LED Plasser , Hilux, Anbro, Hella, Autopal

1148 4.09.0026.2.01.6 PL 24V DC/9-18 Watt single 

tube light 2 ft

Cabin light Plasser,Hilux,Autopal, Hella

1149 4.09.0027.2.01.7 PL 1417055 Self Starter for Deutz Engine Plasser, Bosch

1150 4.09.0028.2.01.8 PL 120469643 Alternator 28V/ 55A, Single 

Groove Pulley

Plasser, Bosch

1151 4.09.0028.2.01.8

1152 4.09.0029.2.01.9 PL 1368012 SELF STARTER Plasser, Delkor, TVS, Bosch

1153 4.09.0030.2.01.1 PL 3BA002768-431 ELECTRIC HORN (DY
3X) PLASSER IMP, HELLA,
LUCAS

1154 4.09.0031.2.01.2 CU Cummins Part no.3816939 

and Lucas TVS part no.

26021428

ALTERNATOR 24V, 75A CUMMINS, LUCAS - TVS, BOSCH

1155 4.09.0032.2.01.3 CU Cummins Part no.4913066 

/26024115A-Lucas-TVS

SELF STARTER, 24V CUMMINS, LUCAS TVS

1156 4.09.0033.2.01.4 DE 5367755/DELCO REMY 8201 SELF STARTER 24V, 39MT DEUTZ, DELCO REMY

1157 4.09.0034.2.01.5 PL M75F/370.1 UIC644/MISS- 

DB, SUB : M75F/370.1 and

ELGI part no. S07027

HORN (2-TONE ) PLASSER  , ELGIS

1158 4.09.0035.2.01.6 PL M75F/660 UIC644/MISS-

DB, SUB : M75F/660HZ & 

ELGI

part no. S07026

HORN (2-TONE) PLASSER  , ELGIS

1159 4.09.0036.2.01.7 AL Ashok leyand Part 

no.X7495400 and Lucas 

TVS Part no. 26021531)

ALTERNATOR 24V, 100A Lucas - TVS, Ashok Leyland & BOSCH

1160 4.09.0037.2.01.8 CA Cummins Part no.5361693 

and Caterpillar part no. 249- 

0313

ALTERNATOR 24V, 150A Cummins, CATERPILAR

1161 4.09.0038.2.01.9 VOLV

O 

PENT

A

23287028 and Mitsubishi : 

MO

SELF STARTER VOLVO PENTA,

Mitsubishi

1162 4.09.0039.2.01.1 AL F002G70007/ X7495300 SELF STARTER Bosch, Ashok Leyland, Delco Remy, Lucas

TVS.

1163 4.09.0040.2.01.2 NIL FZT01200 and Bosch Part 

no.F002G70364

SELF STARTER 24V Ashok Leyland,
Bosch

1164 4.09.0041.2.01.3 NIL 23959555 & Substitute Part 

no.23309926 and Mitsubishi 

Part no. A004TRG093ZT, 

ALTERNATOR 24V, 110A Volvo Penta, Mitsubishi

Item is repeated 



Page 40 of 60

1165 4.09.0042.2.01.4 SU Bosch Part no. 0120 339 

537 & VM MOTORI Part 

no.1852-2021A

ALTERNATOR 28V VM Motori, SU Bosch.

1166 4.09.0043.2.01.5 CU Cummins : 5367753 and 

DELCO REMY Part no. 

8201160

SELF STARTER 24V, 39MT CUMMINS, DELCO REMY

1167 4.09.0044.2.01.6 CU Cummins 5367763 and 

Delco remy 8201170

SELF STARTER 24V,  39MT CUMMINS, DELCO REMY

1168 4.09.0045.2.01.7 AS X7489200 and Lucas TVS: 

26021427

ALTERNATOR 24V, 55A  ASHOK LEYLAND, LUCAS-TVS

1169 4.09.0046.2.01.8 PH UTVI-10 01/Twin Twin Beam Head light as per 

RDSO specification

PHOOLTAS, MATSUSHI

1170 4.09.0047.2.01.9 CU 3920679 SUB 0120488205 

SUB 3936680

Alternator 12 V 65A SUB 

PART NO 0120488205 SUB 

3936680

CUMMINS, PLASSER, BOSCH

1171 4.09.0048.2.01.1 CU Cummins part no 4906788, 

Plasser Part No- 

20/3021038/50Mt;  Lucas 

Part No- 26024422, Delco 

Remy Part No. 10478998/ 

95202514X. 

Self Starter CUMMINS, PLASSER, DELCO REMI, 

LUCAS-TVS, BOSCH

1172 4.09.0049.2.01.2 CU 5278095 sub 4913939 sub 

lucas part no 26024420

Self Starter/ Starting Motor  CUMMINS, PLASSER, DELCO REMI, 

LUCAS-TVS, BOSCH

1173 4.09.0050.2.01.3 CU P6304465 & Lucas Tvs Part 

No 26022028

Alternator 28V/150A  CUMMINS, PLASSER, LUCAS-TVS, BOSCH

1174 4.10.0001.2.01.9 PL EL-T7108.00A Microphone Plasser Imp,Ahuja 

1175 4.10.0002.2.01.1 NIL Loram part no.151293 and 

computer dynamics part 

no.WNV512110S004

MONITOR TOUCHSCREEN 

15IN SERIAL 100-240VAC

Loram, computer dynamics

1176 5.06.0001.2.01.6 PL ELFP43F3W1.0/-03061632 

Substitute 4100462142

Gear Box Filter Plasser , HYDAC

1177 5.06.0002.2.01.7 PL D6L/S(0100024) Sleeve Ring Plasser, SKF (Lincoln), Dropco

1178 5.07.0001.2.01.7 PL 64.02.2105.00 Pinion Shaft PL,  ANBRO

1179 5.09.0001.2.01.9 PL 2081-12-10 HEX REDUCER PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1180 5.09.0002.2.01.1 PL 223-11-00 CAP.NUT MCL PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1181 5.09.0003.2.01..2 PL 100024 2-S RING GLS PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1182 5.10.0001.2.01.1 PL WN63.01ZD5,7KN SHOCK ABSORBER Plasser, ESCORTS

1183 5.13.0001.2.01.4 PL WN83.00 Substitute 

EM11045F/7,1/00-OMT

Satellite Reduction Gear Box Plasser IMP, Rexroth,Brivenia,Riggana 

Redottery,Dana motions 

1184 5.13.0002.2.01.5 PL UD64-900-1-180/150 Distribution Gear Box Plasser IND , Anbro

1185 5.13.0003.2.01.6 NIL UTVI 02 03/00 and AVTEC 

Part no. AASY1031006232, 

Sl no. 32602507

BRAND NEW CRT 5633 

TRANSMISSION (For 

Cummins engine)

Phooltas, AVTEC

1186 5.13.0004.2.01.7 NIL UTVI 02 03/00 and AVTEC 

Part no. 80001654, Sl no. 

32602407

BRAND NEW CRT 5633 

TRANSMISSION (For Ashok 

Leyland engine)

Phooltas, AVTEC

1187 5.13.0005.2.01.8 PL WN 83. 10 GearBox PL,  DANA MOTIONS, BRIVENIA, RIGGANA 

REDOTTER Y.

1188 5.13.0006.2.01.9 PL WN83.80 SUB. RE14. 101 Gear Box PL, DANA MOTION

1189 6.09.0001.2.01.1 PL  504-30364-3 & 404-23034-

1

VALVE BODY WITH RING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF , Dropco

1190 6.09.0002.2.01.2 PL  8,4X2,1 TUBE PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1191 6.09.0003.2.01.3 PL 15X15 DISTRIBUTOR BLOCK PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1192 6.09.0004.2.01.4 PL 2088-4-S ADAPTOR PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1193 6.09.0005.2.01.5 PL 223-12295-2 2-S RING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco



Page 41 of 60

1194 6.09.0006.2.01.6 PL 223-12374-9 CAP. NUT PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1195 6.09.0007.2.01.7 PL 432-23031-1  SCREW BUISH PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1196 6.09.0008.2.01.8 PL 50X50 DISTRIBUTOR BLOCK PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1197 6.09.0009.2.01.9 PL GE6LLR(103101) FITTING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1198 6.09.0010.2.01.1 PL GE6LR-1./4 Z(11002107) 2-S FITTING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1199 6.09.0011.2.01.2 PL ROHR6X0,6DIN2391ST35 TUBE PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1200 6.09.0012.2.01.3 PL SSV10 DISTRIBUTOR PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1201 6.09.0013.2.01.4 PL SSV12 MAIN DISTRIBUTOR PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1202 6.09.0014.2.01.5 PL SSV6 DISTRIBUTOR PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1203 6.09.0015.2.01.6 PL SSV8 DISTRIBUTOR PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1204 6.09.0016.2.01.7 PL UD-320-61 GREASING PUMP OF 

CENTRALIZE GREASING 

PLASSER, LINKOLN/SKF, Dropco

1205 6.09.0017.2.01.8 PL WE6LLR(115101) 2-S FITTING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1206 6.09.0018.2.01.9 PL WE6LR-1/4(11602107) 2-S FITTING PLASSER, CENLUBE SYSTEM, 

LINKOLN/SKF, Dropco

1207 6.09.0019.2.01.1 CR 40105426 Distributor CRCC, PLASSER, CENLUB SYSTEM, 

LINKON/SKF

1208 6.09.0020.2.01.2 CR 41000780 Distributor CRCC, PLASSER, CENLUB SYSTEM, 

LINKON/SKF

1209 7.01.0001.2.01.3 All 604 BALL BEARING KOYO, SKF, FAG

1210 7.01.0002.2.01.4 All 607 BALL BEARING KOYO, SKF, FAG

1211 7.01.0003.2.01.5 All 608 BALL BEARING KOYO, SKF, FAG

1212 7.01.0004.2.01.6 All 624 BALL BEARING KOYO, SKF, FAG

1213 7.01.0005.2.01.7 All 1214 BALL BEARING [ 70X125X24 

]

KOYO, SKF, FAG

1214 7.01.0006.2.01.8 All 6001 BALL BEARING KOYO, SKF, FAG

1215 7.01.0007.2.01.9 All 6019 DEEP GROOVE SINGLE 

ROW BALL BEARING

KOYO, SKF, FAG

1216 7.01.0008.2.01.1 All 6205 DOUBLE SEALED 

SPHERICAL EXTENDED 

COLLER

KOYO, SKF, FAG

1217 7.01.0009.2.01.2 All 6207 BALL BEARING KOYO, SKF, FAG

1218 7.01.0010.2.01.3 All 6208 DEEP GROOVE SINGLE 

ROW BALL BEARING

KOYO, SKF, FAG

1219 7.01.0011.2.01.4 All 6211 BALL BEARING KOYO, SKF, FAG

1220 7.01.0012.2.01.5 All 6214 BALL BEARING KOYO, SKF, FAG

1221 7.01.0013.2.01.6 All 6215 BALL BEARING KOYO, SKF, FAG

1222 7.01.0014.2.01.7 All 7212 ANGULAR CONTACT 

SINGLE ROW BALL 

BEARING BCJ

KOYO, SKF, FAG

1223 7.01.0015.2.01.8 All 16010 BALL BEARING KOYO, SKF, FAG

1224 7.01.0016.2.01.9 All 16012 BALL BEARING KOYO, SKF, FAG

1225 7.01.0017.2.01.1 All 16016 BALL BEARING KOYO, SKF, FAG

1226 7.01.0018.2.01.2 All 0635-320-108 / 0750-116-

145/135

BEARING KOYO, SKF, FAG

1227 7.01.0019.2.01.3 All 1208K / 111208 DOUBLE ROW BALL 

BEARING

KOYO, SKF, FAG

1228 7.01.0020.2.01.4 All 5311 (3311) DOUBLE ROW BALL 

BEARING

KOYO, SKF, FAG

1229 7.01.0021.2.01.5 All 6006 ZR BALL BEARING KOYO, SKF, FAG

1230 7.01.0022.2.01.6 All 600-ZRS / 6002 SIZE ID:15 

MM, OD=32 MM W=9 MM

BALL BEARING DEEP 

GROOVE OR SPHERICAL 

BEARING

KOYO, SKF, FAG

1231 7.01.0023.2.01.7 All 6014-N-2RS BALL BEARING COMPLETE 

WITH GROOVE

KOYO, SKF, FAG, ZWZ

1232 7.01.0024.2.01.8 All 6019 N BALL BEARING KOYO, SKF, FAG



Page 42 of 60

1233 7.01.0025.2.01.9 All 6020 / 6020 ZZ RADIAL BALL BEARING KOYO, SKF, FAG

1234 7.01.0026.2.01.1 All 6200/6200 ZZ BALL BEARING KOYO, SKF, FAG

1235 7.01.0027.2.01.2 All 6201/ZZ BALL BEARING KOYO, SKF, FAG

1236 7.01.0028.2.01.3 All 6202 ZZ BALL BEARING KOYO, SKF, FAG

1237 7.01.0029.2.01.4 All 6204 ZZ BALL BEARING KOYO, SKF, FAG

1238 7.01.0030.2.01.5 All 6205 Z BALL BEARING KOYO, SKF, FAG

1239 7.01.0031.2.01.6 All 6206 ZZ BALL BEARING KOYO, SKF, FAG

1240 7.01.0032.2.01.7 All 6208 N BALL BEARING KOYO, SKF, FAG

1241 7.01.0033.2.01.8 All 6208 ZZ BALL BEARING KOYO, SKF, FAG

1242 7.01.0034.2.01.9 All 6209-ZRS / ZZ BALL BEARING DEEP 

GROOVE SINGLE

KOYO, SKF, FAG

1243 7.01.0035.2.01.1 All 6210 / 6210 Z BALL BEARING KOYO, SKF, FAG

1244 7.01.0036.2.01.2 All 6212 / 6212-22 BALL BEARING KOYO, SKF, FAG

1245 7.01.0037.2.01.3 All 6213 ZZ BALL BEARING KOYO, SKF, FAG

1246 7.01.0038.2.01.4 All 6214-Z BALL BEARING KOYO, SKF, FAG

1247 7.01.0039.2.01.5 All 6302 / 3302 BALL BEARING KOYO, SKF, FAG

1248 7.01.0040.2.01.6 All 6305-Z BALL BEARING KOYO, SKF, FAG

1249 7.01.0041.2.01.7 All 6308 ZZ BALL BEARING KOYO, SKF, FAG

1250 7.01.0042.2.01.8 All 6309-ZZ BALL BEARING KOYO, SKF, FAG

1251 7.01.0043.2.01.9 All 6310 / 6310 N BALL BEARING KOYO, SKF, FAG

1252 7.01.0044.2.01.1 All 6312 N BALL BEARING KOYO, SKF, FAG

1253 7.01.0045.2.01.2 All 6314-N BALL BEARING KOYO, SKF, FAG

1254 7.01.0046.2.01.3 All NOKH 3050 A LINEAR MOTION BEARING KOYO, SKF, FAG

1255 7.01.0047.2.01.4 All S-626 / S-626 Z BALL BEARING KOYO, SKF, FAG

1256 7.01.0048.2.01.5 All S-686 ZZ DEEP GROOVE BALL 

BEARING

KOYO, SKF, FAG

1257 7.01.0049.2.01.6 All U-20-218 P/6220 SINGLE ROW BALL 

BEARING (SIZE 100X180X34 

M)

KOYO, SKF, FAG, ZWZ

1258 7.01.0050.2.01.7 ALL 6003 Bearing KOYO, SKF, FAG

1259 7.01.0051.2.01.8 ALL 6011 Bearing KOYO, SKF, FAG

1260 7.01.0052.2.01.9 ALL 6218C3 Bearing KOYO, SKF, FAG

1261 7.01.0053.2.01.1 ALL 6313 Ball Bearing KOYO, SKF, FAG

1262 7.01.0054.2.01.2 ALL 32211A Ball Bearing KOYO, SKF,  FAG, NTN, TIMKEN

1263 7.01.0055.2.01.3 ALL 1308TV Bearing KOYO, SKF, FAG

1264 7.01.0056.2.01.4 PL 30315 BEARING KOYO, SKF,  FAG, NTN, TIMKEN

1265 7.01.0057.2.01.5
PL

U21-3217P,U20-217P Sub. 

NU2220MC3

BEARING KOYO, SKF, FAG, ZWZ

1266 7.01.0058.2.01.6 PL 6010 RS BALL BEARING KOYO, SKF, FAG

1267 7.01.0059.2.01.7 PL 5686/2Z BALL BEARING KOYO, SKF, FAG

1268 7.01.0060.2.01.8 PL 6216 BALL BEARING KOYO, SKF, FAG

1269 7.01.0061.2.01.9 PL 6010-2Z BALL BEARING KOYO, SKF, FAG

1270 7.01.0062.2.01.1 PL 1308E Ball Bearing Plasser, SKF, FAG, Koyo Japan

1271 7.01.0063.2.01.2 NIL 22224 Bearing KOYO, SKF, FAG

1272 7.01.0064.2.01.3 NIL 6005 Bearing KOYO, SKF, FAG

1273 7.01.0065.2.01.4 NIL 6013 Bearing KOYO, SKF, FAG

1274 7.01.0066.2.01.5 PL 7212 BECBM BEARING KOYO, SKF, FAG

1275 7.01.0067.2.01.6 PL 6013/2RS BEARING KOYO, SKF, FAG

1276 7.01.0068.2.01.7 PL LK62.300-I Axle Bearing KOYO, FAG

1277 7.01.0069.2.01.8 PL 6210 2RSR BEARING KOYO, SKF, FAG

1278 7.01.0070.2.01.9 KA 310E GOST.8338-75 Bearing Part No 310E 

GOST.8338-75 

JSC Kalugaputmash, KOYO, FAG, SKF

1279 7.02.0001.2.01.4 All 21311 CYL ROLLER BEARING KOYO, SKF, FAG

1280 7.02.0002.2.01.5 All 22212 CC W/33 ROLLER BEARING KOYO, SKF, FAG

1281 7.02.0003.2.01.6 All 22214 EST VPB CYL ROLLER BEARING KOYO, SKF, FAG

1282 7.02.0004.2.01.7 All CF8UUR/KR19PPX ROLLER BEARING CAMB KOYO, SKF, FAG

1283 7.02.0005.2.01.8 All MCGILLMCYR 50 CYL ROLLER BEARING KOYO, SKF, FAG

1284 7.02.0006.2.01.9 All MU-1309-FZ/N-309 CYL ROLLER BEARING KOYO, SKF, FAG

1285 7.02.0007.2.01.1 All N 2315 CYL ROLLER BEARING KOYO, SKF, FAG

1286 7.02.0008.2.01.2 All NJ-219 MC3 CYL ROLLERR BEARING KOYO, SKF, FAG, ZWZ

1287 7.02.0009.2.01.3 All NJ-2214 E CYL ROLLER BEARING KOYO, SKF, FAG

1288 7.02.0010.2.01.4 All NJ-2216 MC4 NA          Sub: 

NJ2216FYC4

CYL ROLLER BEARING KOYO, SKF, FAG, ZWZ

1289 7.02.0011.2.01.5 All NJ-2220 MC3 CYL ROLLER BEARING KOYO, SKF, FAG

1290 7.02.0012.2.01.6 All NJ-310 CYL ROLLER BEARING KOYO, SKF, FAG



Page 43 of 60

1291 7.02.0013.2.01.7 All NJP-2216 MC4 NA CYL ROLLER BEARING KOYO, SKF, FAG, ZWZ

1292 7.02.0014.2.01.8 All NJP-2220 MC3 CYL ROLLER BEARING KOYO, SKF, FAG

1293 7.02.0015.2.01.9 All UD62.2610P/ST310B Sub. 

NJP-2224 MC3

CYL ROLLER BEARING KOYO, SKF, FAG

1294 7.02.0016.2.01.1 All NU 212 CYL ROLLER BEARING KOYO, SKF, FAG

1295 7.02.0017.2.01.2 All NU 2210 CYL ROLLER BEARING KOYO, SKF, FAG

1296 7.02.0018.2.01.3 All NU 2212 CYL ROLLER BEARING KOYO, SKF, FAG

1297 7.02.0019.2.01.4 All NU 2313 FTC3              

Sub: NU2313FYC3

CYL ROLLER BEARING KOYO , SKF, FAG, ZWZ

1298 7.02.0020.2.01.5 All NU-211 CYL ROLLER BEARING KOYO, SKF, FAG

1299 7.02.0021.2.01.6 All NU216 CYL ROLLER BEARING KOYO, SKF, FAG

1300 7.02.0022.2.01.7 All NUP-310-N CYL ROLLER BEARING KOYO, SKF, FAG

1301 7.02.0023.2.01.8 All NUP-311 ROLLER BEARING KOYO, SKF, FAG

1302 7.02.0024.2.01.9 All NUP-314 CYL ROLLER BEARING KOYO, SKF, FAG

1303 7.02.0025.2.01.1 All NUP-3213 M1AC3 CYL ROLLER BEARING KOYO, SKF, FAG

1304 7.02.0026.2.01.2 All U-20-217 Sub: NU2220 CYL ROLLER BEARING KOYO, SKF, FAG

1305 7.02.0027.2.01.3 All U-20-221           

Sub:NJ2216-E-M1A-C3

CYL ROLLER BEARING KOYO, SKF, FAG

1306 7.02.0028.2.01.4 All U-20-223                        

Sub: NJP2216EXLM1C4

CYL ROLLER BEARING KOYO, SKF, FAG

1307 7.02.0029.2.01.5 ALL NJ-210 (FAG Pt.no. 

NJ210EXLMIC

Bearing KOYO, SKF, FAG

1308 7.02.0030.2.01.6 ALL NJ213EXLMIC3 Bearing KOYO, SKF, FAG

1309 7.02.0031.2.01.7 ALL NJ216 Bearing KOYO, SKF, FAG

1310 7.02.0032.2.01.8 ALL NJ218EMIC3 Bearing KOYO, SKF, FAG, NTN, TIMKEN

1311 7.02.0033.2.01.9 ALL NJ220EMIC3/NJ220EXLMI

C3

Bearing KOYO, SKF, FAG

1312 7.02.0034.2.01.1 ALL NJ308EMI Bearing KOYO, SKF, FAG

1313 7.02.0035.2.01.2 ALL NJ314EXLMI Bearing (Brass Cage) KOYO, SKF, FAG

1314 7.02.0036.2.01.3 ALL NJ315EIMC3 (FAG Pt.no. 

NJ315E

Bearing (Brass Cage) KOYO, SKF, FAG

1315 7.02.0037.2.01.4 ALL NJ2210EMIC3 (FAG IND 

Pt.no. NJ22210 EIXL

Bearing KOYO, SKF, FAG

1316 7.02.0038.2.01.5 ALL NUP216EMI/NUP216EXLMI Bearing (Brass Cage) KOYO, SKF, FAG

1317 7.02.0039.2.01.6 ALL NJ313EMIC3 SUB 

NJ313EXLMIC

Bearing KOYO, SKF, FAG

1318 7.02.0040.2.01.7 ALL NJ2224C4 and NJP2224C4 Set of Bearing (Axle) KOYO, SKF, FAG, NTN, TIMKEN

1319 7.02.0041.2.01.8 ALL NUTR50A Bearing INA, ELGES IMP 

1320 7.02.0042.2.01.9 ALL NJ2213EXLMIC3 Bearing KOYO, SKF, FAG

1321 7.02.0043.2.01.1 ALL NJ2313EMIC3 Bearing KOYO, SKF, FAG,  PLASSER

1322 7.02.0044.2.01.2 ALL NKI 30/20 Bearing INA/IKO/TORRINGTON/KOYO/NTN/SKF/ 

ELGES

1323 7.02.0045.2.01.3 ALL NA6913 Bearing INA/IKO/TORRINGTON/KOYO/NTN/SKF/ 

ELGES

1324 7.02.0046.2.01.4 ALL NKI 70/35 Bearing (Needle Bearing) INA/IKO/TORRINGTON/KOYO/NTN /SKF/ 

ELGES

1325 7.02.0047.2.01.5 PL NJ-218 BEARING KOYO, SKF, FAG

1326 7.02.0048.2.01.6 PL NJ-3155 BEARING KOYO, SKF, FAG

1327 7.02.0049.2.01.7 PL NJ-315 MC3 ROLLER BEARING KOYO, SKF, FAG

1328 7.02.0050.2.01.8 PL NJ-2210 MC3/FAG ROLLER BEARING KOYO, SKF, FAG

1329 7.02.0051.2.01.9 PL NJ-2313 MC3/FAG ROLLER BEARING KOYO, SKF, FAG

1330 7.02.0052.2.01.1 PL NJ-213 MC3/FAG ROLLER BEARING KOYO, SKF, FAG

1331 7.02.0053.2.01.2 PL NJ-313 MC3/FAG ROLLER BEARING KOYO, SKF, FAG

1332 7.02.0054.2.01.3 PL NJ-210 MC3/FAG ROLLER BEARING KOYO, SKF, FAG

1333 7.02.0055.2.01.4
PL NJ218MC3 Roller Bearing

Plasser,SKF,FAG, Koyo

Japan

1334 7.02.0056.2.01.5
PL

U21.3217P Sub.

NU2220EM1C4
Bearing Plasser, SKF, FAG

1335 7.02.0057.2.01.6 PL MCF30-SB Bearing Plasser, McGill, FAG

1336 7.02.0058.2.01.7 NIL NUP 214  MC3 Roller  bearing KOYO, SKF, FAG

1337 7.02.0059.2.01.8 NIL NU2l5 Bearing KOYO, SKF, FAG

1338 7.02.0060.2.01.9 NIL N318 Bearing KOYO, SKF, FAG

1339 7.02.0061.2.01.1 NIL 2013 MBC4 Roller  bearing for use  in 

corner roller

KOYO, SKF, FAG



Page 44 of 60

1340 7.02.0062.2.01.2 NIL NJ2314 Bearing KOYO, SKF, FAG

1341 7.02.0063.2.01.3 PL

1342 7.02.0064.2.01.4 PL UCT314 Bearing PL, NTN, FY H,JUC

1343 7.02.0065.2.01.5 PL NUP320 BEARING KOYO, SKF, FAG

1344 7.02.0066.2.01.6 PL NUP218 BEARING KOYO, SKF, FAG

1345 7.02.0067.2.01.7 PL NJ228 BEARING KOYO, SKF, FAG

1346 7.02.0068.2.01.8 PL NU2213 BEARING KOYO, SKF, FAG

1347 7.02.0069.2.01.9 PL NJ310-E-XL-JP1 BEARING KOYO, SKF, FAG

1348 7.02.0070.2.01.1 PL NJ218 ECM/C3 BEARING KOYO, SKF, FAG

1349 7.02.0071.2.01.2 PL N2315FYC3 BEARING KOYO, SKF, FAG

1350 7.02.0072.2.01.3 PL NJ2213FYC3 BEARING KOYO, SKF, FAG

1351 7.02.0073.2.01.4 PL NUP214-E-XL-M1C3 BEARING KOYO, SKF, FAG

1352 7.02.0074.2.01.5 PL NUP216-E-XL-M1 BEARING KOYO, SKF, FAG

1353 7.02.0075.2.01.6 PL NU2216 C3 BEARING KOYO, SKF, FAG

1354 7.02.0076.2.01.7 PL NU2212 FY BEARING KOYO, SKF, FAG

1355 7.02.0077.2.01.8 PL NJ1040MC3 Bearing , KOYO, SKF, FAG

1356 7.02.0078.2.01.9 PL NU215 BEARING KOYO, SKF, FAG

1357 7.02.0079.2.01.1 PL NUP213 BEARING KOYO, SKF, FAG

1358 7.02.0080.2.01.2 PL NUP228EM1/XL BEARING KOYO, SKF, FAG

1359 7.02.0081.2.01.3 PL NJ2315 BEARING KOYO, SKF, FAG

1360 7.02.0082.2.01.4 PL NU2315MC3 BEARING KOYO, SKF, FAG

1361 7.02.0083.2.01.5 PL UD62.5610DB/F BEARING PLASSER, FAG, NTN, TIMKEN, SKF

1362 7.02.0084.2.01.6 PL NUP 218MC3 ROLLER BEARING KOYO, SKF, FAG

1363 7.02.0085.2.01.7 CR 40103431 Antifriction Bearing CRCC, KOYO, SKF, FAG

1364 7.02.0086.2.01.8 CR 40102709 sub NU219-E-XL-

M1-C3

Antifriction Bearing CRCC, KOYO, SKF, FAG

1365 7.02.0087.2.01.9 CR 40079873/NU2313EM1C3/X

L Subs. NU2313EM1C3

Roller Bearing  CRCC, KOYO, SKF, FAG

1366 7.02.0088.2.01.1 CR 40102715 Antifriction Bearing CRCC, KOYO, SKF, FAG

1367 7.03.0001.2.01.5 All 22310 SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1368 7.03.0002.2.01.6 All 22311 SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1369 7.03.0003.2.01.7 All 21305 R SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1370 7.03.0004.2.01.8 All 21309 E SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1371 7.03.0005.2.01.9 All 22208 MB SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1372 7.03.0006.2.01.1 All 22208-CE SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1373 7.03.0007.2.01.2 All 22210 CC W-33 SPHERICAL ROLLER 

BRARING

SKF, FAG,KOYO,MCGILL

1374 7.03.0008.2.01.3 All 23120 E SPHERICAL ROLLER 

BEARING

SKF, FAG,KOYO,MCGILL

1375 7.03.0009.2.01.4 All BR14922209 G / W33 SPHERICAL ROLLER 

BEARING

SKF, FAG, KOYO, MCGILL

1376 7.03.0010.2.01.5 ALL 22208EIAM/22208EIXL Spherical Roller Bearing SKF, FAG, KOYO, MCGILL

1377 7.03.0011.2.01.6 ALL 22209 E1 Bearing SKF, FAG, KOYO, MCGILL

1378 7.03.0012.2.01.7 PL 22309 EK MAKE ZKL ROLLER BEARING SKF, FAG, KOYO, MCGILL

1379 7.03.0013.2.01.8 PL 22324 BEARING KOYO, SKF, FAG

1380 7.03.0014.2.01.9 PL 23226E1A-XL-M-C3 BEARING KOYO, SKF, FAG

1381 7.04.0001.2.01.6 All 30209 TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1382 7.04.0002.2.01.7 All 30311 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN,TIMKEN

1383 7.04.0003.2.01.8 All 31315 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1384 7.04.0004.2.01.9 All 32213 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1385 7.04.0005.2.01.1 All 32216 TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1386 7.04.0006.2.01.2 All 32217 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1387 7.04.0007.2.01.3 All 30210 A TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN



Page 45 of 60

1388 7.04.0008.2.01.4 All 31309/30309 DA TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1389 7.04.0009.2.01.5 All 31313 J2 / 30313 DJN TAPER ROLLER BEARING SKF,FAG,KOYO,NTN,TIMKEN

1390 7.04.0010.2.01.6 All 32009-X TAPER ROLLER BEARING SKF,FAG,KOYO,NTN,TIMKEN,ZWZ

1391 7.04.0011.2.01.7 All 32012 X / 31312 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1392 7.04.0012.2.01.8 All 32215 (7515E) TAM TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1393 7.04.0013.2.01.9 All 33275/33472 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1394 7.04.0014.2.01.1 All 33885-33821-Z2 TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1395 7.04.0015.2.01.2 All 67883 / 67820 CP TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1396 7.04.0016.2.01.3 All 7514 / TU-37-006-162-89 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1397 7.04.0017.2.01.4 All DL-63-307 TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1398 7.04.0018.2.01.5 All JMS 11946 / 511910 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1399 7.04.0019.2.01.6 All K29590-29521 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1400 7.04.0020.2.01.7 All K-33889-33822-21 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1401 7.04.0021.2.01.8 All LM-102949 / LM 102810 TAPPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1402 7.04.0022.2.01.9 All LM-803149 / 803110 TAPER ROLLER BEARING SKF,FAG,KOYO,NTN, TIMKEN

1403 7.04.0023.2.01.1 ALL

1404 7.04.0024.2.01.2 ALL 31311A Bearing KOYO/SKF/FAG/NTN/TIMKEN+D174

1405 7.04.0025.2.01.3 ALL 32032X Bearing SKF,FAG,KOYO,NTN, TIMKEN

1406 7.04.0026.2.01.4 ALL 30213A SUB 30213A-DY Bearing KOYO/SKF/FAG

1407 7.04.0027.2.01.5 ALL 32311A Bearing SKF,FAG,KOYO,NTN, TIMKEN

1408 7.04.0028.2.01.6 ALL 33208 Bearing SKF,FAG,KOYO,NTN, TIMKEN

1409 7.04.0029.2.01.7 PL 30311-XL BEARING KOYO, SKF, FAG

1410 7.04.0030.2.01.8 PL 31310AF22 BEARING KOYO, SKF, FAG

1411 7.05.0001.2.01.7 All 51106 THRUST BEARING INA ,IKO,TORRINGTON ,KOYO,NTN,SKF

1412 7.05.0002.2.01.8 All CT-1310 CLUTCH RELEASE 

BEARING

INA ,IKO,TORRINGTON ,KOYO,NTN,SKF

1413 7.05.0003.2.01.9 All HK-2012 CAGE BEARING INA ,IKO,TORRINGTON ,KOYO,NTN,SKF

1414 7.05.0004.2.01.1 All K-4047-18 NEEDLE BEARING INA ,IKO,TORRINGTON ,KOYO,NTN,SKF

1415 7.05.0005.2.01.2 All K-81211 LPB THRUST BEARING INA ,IKO,TORRINGTON ,KOYO,NTN,SKF

1416 7.05.0006.2.01.3 All NA-6912 NEEDLE BEARING INA,IKO, TORRINGTON, KOYO,MAYFIELD

1417 7.05.0007.2.01.4

1418 7.05.0008.2.01.5 All NJ-2224 MC4 CYL ROLLER BEARING INA,IKO, TORRINGTON, KOYO,NTN,SKF

1419 7.05.0009.2.01.6 All NKI 30/20-30-35-40-20 NEEDLE ROLLER BEARING INA,IKO, TORRINGTON, KOYO,NTN,SKF

1420 7.05.0010.2.01.7

1421 7.05.0011.2.01.8 All NKS 20A NEEDLE BEARING INA,IKO, TORRINGTON, KOYO,NTN,SKF

1422 7.05.0012.2.01.9 All NKS-50Z-45/35 INNER RACE INA,IKO, TORRINGTON, KOYO,NTN,SKF

1423 7.05.0013.2.01.1 All NKX-60Z-50/60/25 INNER RACE INA,IKO, TORRINGTON, KOYO,NTN,SKF

1424 7.05.0014.2.01.2 All NU TR-17 ROLLER BEARING INA,IKO, TORRINGTON, KOYO,NTN,SKF

1425 7.05.0015.2.01.3 All Q 2 X 7 MM NEEDLE ROLLER BEARING 

B J TYPE

INA,IKO, TORRINGTON, KOYO,NTN,SKF

1426 7.05.0016.2.01.4 ALL 51211 Bearing (S.R. Thrust Bearing) KOYO/SKF/FAG

Item is repeated

Item is repeated

Repeated item



Page 46 of 60

1427 7.06.0001.2.01.8 All GE 40 FO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1428 7.06.0002.2.01.9 All GE-10 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1429 7.06.0003.2.01.1 All GE-12 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1430 7.06.0004.2.01.2 All GE120DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1431 7.06.0005.2.01.3 All GE-120-UK-2RS    PIVOT BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1432 7.06.0006.2.01.4 All GE-16 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1433 7.06.0007.2.01.5 All GE-20 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1434 7.06.0008.2.01.6 All GE-25 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1435 7.06.0009.2.01.7 All GE25AX ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1436 7.06.0010.2.01.8 All GE-30 DO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1437 7.06.0011.2.01.9 All GE-31-ZO-1/4” ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1438 7.06.0012.2.01.1 All GE-35 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1439 7.06.0013.2.01.2 All GE35AX ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1440 7.06.0014.2.01.3 All GE-35-FO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1441 7.06.0015.2.01.4 All GE-40 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1442 7.06.0016.2.01.5 All GE-44-20SKF/GES-ESI-75 ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1443 7.06.0017.2.01.6 All GE-45 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1444 7.06.0018.2.01.7 All GE-45FO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1445 7.06.0019.2.01.8 All GE-50 DO/ES ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1446 7.06.0020.2.01.9 All GE-6 (6D) ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1447 7.06.0021.2.01.1 All GE60DO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1448 7.06.0022.2.01.2 All GE80FO2RS ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1449 7.06.0023.2.01.3 All GE-90 ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1450 7.06.0024.2.01.4 All ID 25-4 , OD 44-5 ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1451 7.06.0025.2.01.5 All Z-ES-1 1/2”, GE-38ZO ROCKER BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1452 7.06.0026.2.01.6 ALL GE40FO2RS Rocker Bearing (Universal 

Joint)

PLASSER/INA/ELGES/SKF/IKO/MAYFIELD

1453 7.06.0027.2.01.7 PL GE25UK2RS Universal joint Plasser, INA, IKO ,ELGES, SKF

1454 7.06.0028.2.01.8 PL GE35FO2RS UNIVERSAL JOINT PLASSER, INA, ELGES, SKF, IKO, 

MAYFIELD

1455 7.06.0029.2.01.9 PL GE45UK2RS UNIVERSAL JOINT PLASSER, INA, ELGES, SKF, IKO, 

MAYFIELD, KOYO

1456 7.06.0030.2.01.1 PL GE45F02RS UNIVERSAL JOINT PLASSER, INA, ELGES, SKF, IKO, 

MAYFIELD

1457 7.06.0031.2.01.2 PL GE50UK2RS UNIVERSAL JOINT PLASSER, INA, ELGES, SKF, IKO, 

MAYFIELD, KOYO

1458 7.06.0032.2.01.3 PL GE40UK2RS UNIVERSAL JOINT Plasser, INA, IKO ,ELGES, SKF,KOYO

1459 7.06.0033.2.01.4 PL GE35UK2RS UNIVERSAL JOINT Plasser, INA, IKO ,ELGES, SKF,KOYO

1460 7.07.0001.2.01.9 All GAR-25 (M-25) ROD END BEARING (MALE) 

WITH RIGID HAND THREAD

INA,IKO ,ELGES,SKF,MAYFIELD

1461 7.07.0002.2.01.1 All GE-80-AW PIVOT BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1462 7.07.0003.2.01.2 All GI KLR-12 ROD END BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1463 7.07.0004.2.01.3 All GIHN-K25LO JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1464 7.07.0005.2.01.4 All GIKFR10PW Sub. GILR10 JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1465 7.07.0006.2.01.5 All GIKFR12PW Sub. 

GIKFR12PB

JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1466 7.07.0007.2.01.6 All GIKFR16PW JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1467 7.07.0008.2.01.7 All GIKLR-10 ROD END BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1468 7.07.0009.2.01.8 All GIKLR-14 ROD END BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1469 7.07.0010.2.01.9 All GIKLR-16 ROD END BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1470 7.07.0011.2.01.1 All GIKLR-20 ROD END BEARING INA,IKO ,ELGES,SKF,MAYFIELD

1471 7.07.0012.2.01.2 All GIR10UK JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1472 7.07.0013.2.01.3 All GIR20UK JOINT HEAD INA,IKO ,ELGES,SKF,MAYFIELD

1473 7.08.0001.2.01.1 All MB10050DU BUSH PLASSER, INA, ELGES, SKF, IKO

1474 7.08.0002.2.01.2 All MB10060DX BUSH PLASSER, INA, ELGES, SKF, IKO

1475 7.08.0003.2.01.3 All MB1625DU BUSH PLASSER, INA, ELGES, SKF, IKO

1476 7.08.0004.2.01.4 All MB2025DU BUSH PLASSER, INA, ELGES, SKF, IKO

1477 7.08.0005.2.01.5 All MB2230DU BUSH PLASSER, INA, ELGES, SKF, IKO

1478 7.08.0006.2.01.6 All MB2525DX BUSH PLASSER, INA, ELGES, SKF, IKO

1479 7.08.0007.2.01.7 All MB2530DU BUSH PLASSER, INA, ELGES, SKF, IKO

1480 7.08.0008.2.01.8 All MB3025DU BUSH PLASSER, INA, ELGES, SKF, IKO

1481 7.08.0009.2.01.9 All MB3030DX BUSH PLASSER, INA, ELGES, SKF, IKO

1482 7.08.0010 .2.01.1 All MB3530DU BUSH PLASSER, INA, ELGES, SKF, IKO



Page 47 of 60

1483 7.08.0011.2.01.2 All MB3530DX BUSH PLASSER, INA, ELGES, SKF, IKO

1484 7.08.0012.2.01.3 All MB3550DU BUSH PLASSER, INA, ELGES, SKF, IKO

1485 7.08.0013.2.01.4 All MB4020DU BUSH PLASSER, INA, ELGES, SKF, IKO

1486 7.08.0014.2.01.5 All MB4030DU BUSH PLASSER, INA, ELGES, SKF, IKO

1487 7.08.0015.2.01.6 All MB4030DX BUSH PLASSER, INA, ELGES, SKF, IKO

1488 7.08.0016.2.01.7 All MB4040DU BUSH PLASSER, INA, ELGES, SKF, IKO

1489 7.08.0017.2.01.8 All MB4530DU BUSH PLASSER, INA, ELGES, SKF, IKO

1490 7.08.0018.2.01.9 All MB4530DX BUSH PLASSER, INA, ELGES, SKF, IKO

1491 7.08.0019.2.01.1 All MB5030DU BUSH PLASSER, INA, ELGES, SKF, IKO

1492 7.08.0020.2.01.2 All MB5040DX BUSH PLASSER, INA, ELGES, SKF, IKO

1493 7.08.0021.2.01.3 All MB5050DX BUSH PLASSER, INA, ELGES, SKF, IKO

1494 7.08.0022.2.01.4 All MB5060DU BUSH PLASSER, INA, ELGES, SKF, IKO

1495 7.08.0023.2.01.5 All MB5060DX Sub. UD19.225 BUSH PLASSER, INA, ELGES, SKF, IKO

1496 7.08.0024.2.01.6 All MB5540DU BUSH PLASSER, INA, ELGES, SKF, IKO

1497 7.08.0025.2.01.7 All MB6030DU BUSH PLASSER, INA, ELGES, SKF, IKO

1498 7.08.0026.2.01.8 All MB6040DU BUSH PLASSER, INA, ELGES, SKF, IKO

1499 7.08.0027.2.01.9 All MB6040DX BUSH PLASSER, INA, ELGES, SKF, IKO

1500 7.08.0028.2.01.1 All MB6060DU BUSH PLASSER, INA, ELGES, SKF, IKO

1501 7.08.0029.2.01.2 All MB6560DU BUSH PLASSER, INA, ELGES, SKF, IKO

1502 7.08.0030.2.01.3 All MB7560DU BUSH PLASSER, INA, ELGES, SKF, IKO

1503 7.08.0031.2.01.4 All MB9060DU BUSH PLASSER, INA, ELGES, SKF, IKO

1504 7.08.0032.2.01.5 All MB9090DX BUSH PLASSER, INA, ELGES, SKF, IKO

1505 7.08.0033.2.01.6 All MD2015DU BUSH PLASSER, INA, ELGES, SKF, IKO

1506 7.08.0034.2.01.7 All PM3030DX BUSH PLASSER, INA, ELGES, SKF, IKO

1507 7.08.0035.2.01.8 All PM4030DX BUSH PLASSER, INA, ELGES, SKF, IKO

1508 7.08.0036.2.01.9 All PM5030DX / PG505530A BUSH PLASSER, INA, ELGES, SKF, IKO

1509 7.08.0037.2.01.1 All PM5050DX / PG505550A BUSH PLASSER, INA, ELGES, SKF, IKO

1510 7.08.0038.2.01.2 All PM6040DX / PG606540F BUSH PLASSER, INA, ELGES, SKF, IKO

1511 7.08.0039.2.01.3 All PM7560DX BUSH PLASSER, INA, ELGES, SKF, IKO

1512 7.08.0040.2.01.4 NIL MB2020DU Bush PLASSER, INA, ELGES, SKF, IKO

1513 7.08.0041.2.01.5 NIL MB3350DU Bush PLASSER, INA, ELGES, SKF, IKO

1514 7.08.0042.2.01.6 NIL PG 35.39.30 Bush PLASSER, INA, ELGES, SKF, IKO

1515 7.08.0043.2.01.7 PL MB1612DU BUSH PLASSER, INA, ELGES, SKF, IKO

1516 7.08.0044.2.01.8 PL MB5040DU BUSH PLASSER, INA, ELGES, SKF, IKO

1517 7.08.0045.2.01.9 PL MB5550DU BUSH PLASSER, INA, ELGES, SKF, IKO

1518 7.08.0046.2.01.1 PL PM2020DX BUSH PLASSER, INA, ELGES, SKF, IKO

1519 7.08.0047.2.01.2 PL MB2225DU BUSH PLASSER, INA, ELGES, SKF, IKO

1520 7.08.0048.2.01.3 PL MB8080DU BUSH PLASSER, INA, ELGES, SKF, IKO

1521 7.09.0001.2.01.2 KE 30309 BEARING KOYO, SKF,FAG,KE

1522 7.09.0002.2.01.3 PL NA6913-ZW-XL BEARING INA, IKO, TORRINGTON

1523 7.09.0003.2.01.4 COL

MAR

D327509 Bearing Colmar, KOYO, SKF

1524 8.01.0001.2.01.4 All 1/4”X11/2” ALLEN BOLT TVS , LPS ,UNBRAKO

1525 8.01.0002.2.01.5 All 1/4”X2” ALLEN BOLT TVS , LPS ,UNBRAKO

1526 8.01.0003.2.01.6 All 1/4”X21/2” ALLEN BOLT TVS , LPS ,UNBRAKO

1527 8.01.0004.2.01.7 All 1/4”X3” ALLEN BOLT TVS , LPS ,UNBRAKO

1528 8.01.0005.2.01.8 All 1/4”X31/2” /4” ALLEN BOLT TVS , LPS ,UNBRAKO

1529 8.01.0006.2.01.9 All 10X20 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1530 8.01.0007.2.01.1 All 10X25 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1531 8.01.0008.2.01.2 All 10X30 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1532 8.01.0009.2.01.3 All 10X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1533 8.01.0010.2.01.4 All 10X40 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1534 8.01.0011.2.01.5 All 10X45 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1535 8.01.0012.2.01.6 All 10X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1536 8.01.0013.2.01.7 All 10X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1537 8.01.0014.2.01.8 All 10X75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1538 8.01.0015.2.01.9 All 10X80 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1539 8.01.0016.2.01.1 All 10X90 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1540 8.01.0017.2.01.2 All 12 X 130 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1541 8.01.0018.2.01.3 All 12X100 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1542 8.01.0019.2.01.4 All 12X25 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1543 8.01.0020.2.01.5 All 12X30 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1544 8.01.0021.2.01.6 All 12X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1545 8.01.0022.2.01.7 All 12X40 MM ALLEN BOLT TVS , LPS ,UNBRAKO



Page 48 of 60

1546 8.01.0023.2.01.8 All 12X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1547 8.01.0024.2.01.9 All 12X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1548 8.01.0025.2.01.1 All 12X70 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1549 8.01.0026.2.01.2 All 12X75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1550 8.01.0027.2.01.3 All 12X90 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1551 8.01.0028.2.01.4 All 14X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1552 8.01.0029.2.01.5 All 14X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1553 8.01.0030.2.01.6 All 14X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1554 8.01.0031.2.01.7 All 14X65 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1555 8.01.0032.2.01.8 All 14X79 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1556 8.01.0033.2.01.9 All 16 X 120 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1557 8.01.0034.2.01.1 All 16 X 130 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1558 8.01.0035.2.01.2 All 16 X 40 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1559 8.01.0036.2.01.3 All 16 X 65 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1560 8.01.0037.2.01.4 All 16 X 70 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1561 8.01.0038.2.01.5 All 16 X 75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1562 8.01.0039.2.01.6 All 16X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1563 8.01.0040.2.01.7 All 16X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1564 8.01.0041.2.01.8 All 16X90 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1565 8.01.0042.2.01.9 All 16X95 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1566 8.01.0043.2.01.1 All 20X1.5X60 MM ALLEN BOLT (FINE 

THREAD) FOR BODY 

BEARING

TVS , LPS ,UNBRAKO

1567 8.01.0044.2.01.2 All 20X45 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1568 8.01.0045.2.01.3 All 20X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1569 8.01.0046.2.01.4 All 20X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1570 8.01.0047.2.01.5 All 20X65 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1571 8.01.0048.2.01.6 All 20X70 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1572 8.01.0049.2.01.7 All 3/8”X2” ALLEN BOLT TVS , LPS ,UNBRAKO

1573 8.01.0050.2.01.8 All 4X25 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1574 8.01.0051.2.01.9 All 5 X 30 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1575 8.01.0052.2.01.1 All 5 X 50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1576 8.01.0053.2.01.2 All 5 X 70 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1577 8.01.0054.2.01.3 All 5 X 75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1578 8.01.0055.2.01.4 All 5 X 90 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1579 8.01.0056.2.01.5 All 6X100 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1580 8.01.0057.2.01.6 All 6X110 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1581 8.01.0058.2.01.7 All 6X15/16” MM ALLEN BOLT TVS , LPS ,UNBRAKO

1582 8.01.0059.2.01.8 All 6X20 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1583 8.01.0060.2.01.9 All 6X25 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1584 8.01.0061.2.01.1 All 6X30 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1585 8.01.0062.2.01.2 All 6X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1586 8.01.0063.2.01.3 All 6X40 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1587 8.01.0064.2.01.4 All 6X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1588 8.01.0065.2.01.5 All 6X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1589 8.01.0066.2.01.6 All 6X65 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1590 8.01.0067.2.01.7 All 6X70 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1591 8.01.0068.2.01.8 All 6X75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1592 8.01.0069.2.01.9 All 6X80 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1593 8.01.0070.2.01.1 All 6X90 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1594 8.01.0071.2.01.2 All 8X110 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1595 8.01.0072.2.01.3 All 8X130 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1596 8.01.0073.2.01.4 All 8X15X16 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1597 8.01.0074.2.01.5 All 8X20 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1598 8.01.0075.2.01.6 All 8X25 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1599 8.01.0076.2.01.7 All 8X30 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1600 8.01.0077.2.01.8 All 8X35 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1601 8.01.0078.2.01.9 All 8X40 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1602 8.01.0079.2.01.1 All 8X45 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1603 8.01.0080.2.01.2 All 8X50 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1604 8.01.0081.2.01.3 All 8X60 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1605 8.01.0082.2.01.4 All 8X75 MM ALLEN BOLT TVS , LPS ,UNBRAKO

1606 8.01.0083.2.01.5 ALL 8X1.25X55 Socket Head Cap Screw TVS/LPS/UNBRAKO

1607 8.01.0084.2.01.6 ALL M8X65 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1608 8.01.0085.2.01.7 ALL M8X70 mm Socket Head Cap Screw TVS/LPS/UNBRAKO



Page 49 of 60

1609 8.01.0086.2.01.8 ALL 10X1.50X30 Socket Head Cap Screw TVS/LPS/UNBRAKO

1610 8.01.0087.2.01.9 ALL 10X1.50X50 Socket Head Cap Screw TVS/LPS/UNBRAKO

1611 8.01.0088.2.01.1 ALL 10X1.50X60 Socket Head Cap Screw TVS/LPS/UNBRAKO

1612 8.01.0089.2.01.2 ALL 10X1.50X70 Socket Head Cap Screw TVS/LPS/UNBRAKO

1613 8.01.0090.2.01.3 ALL M10X70 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1614 8.01.0091.2.01.4 ALL 10X1.50X100 Socket Head Cap Screw TVS/LPS/UNBRAKO

1615 8.01.0092.2.01.5 ALL 10X1.50X110 Socket Head Cap Screw TVS/LPS/UNBRAKO

1616 8.01.0093.2.01.6 ALL 10X1.50X120 Socket Head Cap Screw TVS/LPS/UNBRAKO

1617 8.01.0094.2.01.7 ALL 12X1.75X30 Socket Head Cap Screw TVS/LPS/UNBRAKO

1618 8.01.0095.2.01.8 ALL 12X1.75X35 Socket Head Cap Screw TVS/LPS/UNBRAKO

1619 8.01.0096.2.01.9 ALL M12X1.75X45 Socket Head Cap Screw TVS/LPS/UNBRAKO

1620 8.01.0097.2.01.1 ALL 12X1.75X50 Socket Head Cap Screw TVS/LPS/UNBRAKO

1621 8.01.0098.2.01.2 ALL 12X1.75X55 Socket Head Cap Screw TVS/LPS/UNBRAKO

1622 8.01.0099.2.01.3 ALL 12X1.75X60 Socket Head Cap Screw TVS/LPS/UNBRAKO

1623 8.01.0100.2.01.4 ALL 12X1.75X65 Socket Head Cap Screw TVS/LPS/UNBRAKO

1624 8.01.0101.2.01.5 ALL 12X1.75X75 Socket Head Cap Screw TVS/LPS/UNBRAKO

1625 8.01.0102.2.01.6 ALL M6X40 Socket Head Cap Screw TVS/LPS/UNBRAKO

1626 8.01.0103.2.01.7 ALL 14X2X25 Socket Head Cap Screw TVS/LPS/UNBRAKO

1627 8.01.0104.2.01.8 ALL 14X2X35 Socket Head Cap Screw TVS/LPS/UNBRAKO

1628 8.01.0105.2.01.9 ALL 14X2X45 Socket Head Cap Screw TVS/LPS/UNBRAKO

1629 8.01.0106.2.01.1 ALL 14X2X65 Socket Head Cap Screw TVS/LPS/UNBRAKO

1630 8.01.0107.2.01.2 ALL 14X2X75 Socket Head Cap Screw TVS/LPS/UNBRAKO

1631 8.01.0108.2.01.3 ALL 16X2X25 Socket Head Cap Screw TVS/LPS/UNBRAKO

1632 8.01.0109.2.01.4 ALL M16X30 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1633 8.01.0110.2.01.5 ALL 16X2X40 Socket Head Cap Screw TVS/LPS/UNBRAKO

1634 8.01.0111.2.01.6 ALL 16X2X45 Socket Head Cap Screw TVS/LPS/UNBRAKO

1635 8.01.0112.2.01.7 ALL 16X2X55 Socket Head Cap Screw TVS/LPS/UNBRAKO

1636 8.01.0113.2.01.8 ALL 16X2X60 Socket Head Cap Screw TVS/LPS/UNBRAKO

1637 8.01.0114.2.01.9 ALL 16X2X65 Socket Head Cap Screw TVS/LPS/UNBRAKO

1638 8.01.0115.2.01.1 ALL 16X2X70 Socket Head Cap Screw TVS/LPS/UNBRAKO

1639 8.01.0116.2.01.2 ALL 16X2X80 Socket Head Cap Screw TVS/LPS/UNBRAKO

1640 8.01.0117.2.01.3 ALL M16X100 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1641 8.01.0118.2.01.4 ALL 20X2.5X35 Socket Head Cap Screw TVS/LPS/UNBRAKO

1642 8.01.0119.2.01.5 ALL M20X40 Socket Head Cap Screw TVS/LPS/UNBRAKO

1643 8.01.0120.2.01.6 ALL 20X2.5X55 Socket Head Cap Screw TVS/LPS/UNBRAKO

1644 8.01.0121.2.01.7 ALL 20X2.5X65 Socket Head Cap Screw TVS/LPS/UNBRAKO

1645 8.01.0122.2.01.8 ALL M24X130 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1646 8.01.0123.2.01.9 ALL M10X50 mm Socket Counter Sunk Head 

Cap Screw

TVS/LPS/UNBRAKO

1647 8.01.0124.2.01.1 ALL M10X80 mm Socket Counter Sunk Head 

Cap Screw

TVS/LPS/UNBRAKO

1648 8.01.0125.2.01.2 ALL M12X70 mm Socket Counter Sunk Head 

Cap Screw

TVS/LPS/UNBRAKO

1649 8.01.0126.2.01.3 ALL M6X16 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1650 8.01.0127.2.01.4 ALL M16X110 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1651 8.01.0128.2.01.5 ALL M10X25 mm Socket Counter Sunk Head 

Cap Screw

TVS/LPS/UNBRAKO

1652 8.01.0129.2.01.6 ALL M3/8X11/2 mm Socket Head Cap Screw TVS/LPS/UNBRAKO

1653 8.01.0130.2.01.7 ALL M5/16X11/2 Socket Head Cap Screw TVS/LPS/UNBRAKO

1654 8.02.0001.2.01.5 All  12 X 120 MM HEX BOLT TVS , LPS ,UNBRAKO

1655 8.02.0002.2.01.6 All 10 MM HEX NUT TVS , LPS ,UNBRAKO

1656 8.02.0003.2.01.7 All 10 X 65 MM HEX BOLT TVS , LPS ,UNBRAKO

1657 8.02.0004.2.01.8 All 10 X 75 MM HEX BOLT TVS , LPS ,UNBRAKO

1658 8.02.0005.2.01.9 All 10X110 MM HEX BOLT TVS , LPS ,UNBRAKO

1659 8.02.0006.2.01.1 All 10X120 MM HEX BOLT TVS , LPS ,UNBRAKO

1660 8.02.0007.2.01.2 All 10X20 MM HEX BOLT TVS , LPS ,UNBRAKO

1661 8.02.0008.2.01.3 All 10X25 MM HEX BOLT TVS , LPS ,UNBRAKO

1662 8.02.0009.2.01.4 All 10X30 MM HEX BOLT TVS , LPS ,UNBRAKO

1663 8.02.0010.2.01.5 All 10X35 MM HEX BOLT TVS , LPS ,UNBRAKO

1664 8.02.0011.2.01.6 All 10X40 MM HEX BOLT TVS , LPS ,UNBRAKO

1665 8.02.0012.2.01.7 All 10X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1666 8.02.0013.2.01.8 All 10X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1667 8.02.0014.2.01.9 All 10X55 MM HEX BOLT TVS , LPS ,UNBRAKO

1668 8.02.0015.2.01.1 All 10X60 MM HEX BOLT TVS , LPS ,UNBRAKO

1669 8.02.0016.2.01.2 All 10X70 MM HEX BOLT TVS , LPS ,UNBRAKO



Page 50 of 60

1670 8.02.0017.2.01.3 All 10X90 MM HEX BOLT TVS , LPS ,UNBRAKO

1671 8.02.0018.2.01.4 All 11/2”X1/4” HEX BOLT TVS , LPS ,UNBRAKO

1672 8.02.0019.2.01.5 All 12 MM HEX NUT TVS , LPS ,UNBRAKO

1673 8.02.0020.2.01.6 All 12 X 110 MM HEX BOLT TVS , LPS ,UNBRAKO

1674 8.02.0021.2.01.7 All 12 X 25 MM HEX BOLT TVS , LPS ,UNBRAKO

1675 8.02.0022.2.01.8 All 12 X 80 MM HEX BOLT TVS , LPS ,UNBRAKO

1676 8.02.0023.2.01.9 All 12X100 HTS HEX BOLT TVS , LPS ,UNBRAKO

1677 8.02.0024.2.01.1 All 12X160 MM HTS HEX BOLT TVS , LPS ,UNBRAKO

1678 8.02.0025.2.01.2 All 12X30 MM HEX BOLT TVS , LPS ,UNBRAKO

1679 8.02.0026.2.01.3 All 12X35 MM HEX BOLT TVS , LPS ,UNBRAKO

1680 8.02.0027.2.01.4 All 12X40 MM HEX BOLT TVS , LPS ,UNBRAKO

1681 8.02.0028.2.01.5 All 12X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1682 8.02.0029.2.01.6 All 12X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1683 8.02.0030.2.01.7 All 12X55 MM HEX BOLT TVS , LPS ,UNBRAKO

1684 8.02.0031.2.01.8 All 12X60 MM HEX BOLT TVS , LPS ,UNBRAKO

1685 8.02.0032.2.01.9 All 12X65 MM HEX BOLT TVS , LPS ,UNBRAKO

1686 8.02.0033.2.01.1 All 12X65 MM HEX BOLT WITH NUT TVS , LPS ,UNBRAKO

1687 8.02.0034.2.01.2 All 12X70 MM HEX BOLT TVS , LPS ,UNBRAKO

1688 8.02.0035.2.01.3 All 12X75 MM HEX BOLT TVS , LPS ,UNBRAKO

1689 8.02.0036.2.01.4 All 14 MM HEX NUT TVS , LPS ,UNBRAKO

1690 8.02.0037.2.01.5 All 14 X 25 MM HEX BOLT TVS , LPS ,UNBRAKO

1691 8.02.0038.2.01.6 All 14 X 75 MM HEX BOLT TVS , LPS ,UNBRAKO

1692 8.02.0039.2.01.7 All 14X30 MM HEX BOLT TVS , LPS ,UNBRAKO

1693 8.02.0040.2.01.8 All 14X35 MM HEX BOLT TVS , LPS ,UNBRAKO

1694 8.02.0041.2.01.9 All 14X40 MM HEX BOLT TVS , LPS ,UNBRAKO

1695 8.02.0042.2.01.1 All 14X40 MM HEX BOLT WITH NYLOCK 

NUT 

TVS , LPS ,UNBRAKO

1696 8.02.0043.2.01.2 All 14X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1697 8.02.0044.2.01.3 All 14X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1698 8.02.0045.2.01.4 All 14X55 MM HEX BOLT TVS , LPS ,UNBRAKO

1699 8.02.0046.2.01.5 All 14X80 MM HEX BOLT TVS , LPS ,UNBRAKO

1700 8.02.0047.2.01.6 All 16 MM HEX NUT TVS , LPS ,UNBRAKO

1701 8.02.0048.2.01.7 All 16 X 110 MM HEX BOLT TVS , LPS ,UNBRAKO

1702 8.02.0049.2.01.8 All 16 X 120 MM HEX BOLT TVS , LPS ,UNBRAKO

1703 8.02.0050.2.01.9 All 16 X 25 MM HEX BOLT TVS , LPS ,UNBRAKO

1704 8.02.0051.2.01.1 All 16X150 MM HEX BOLT TVS , LPS ,UNBRAKO

1705 8.02.0052.2.01.2 All 16X180 MM HEX BOLT TVS , LPS ,UNBRAKO

1706 8.02.0053.2.01.3 All 16X35 MM HEX BOLT TVS , LPS ,UNBRAKO

1707 8.02.0054.2.01.4 All 16X40 MM HEX BOLT WITH NYLOCK 

NUT 

TVS , LPS ,UNBRAKO

1708 8.02.0055.2.01.5 All 16X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1709 8.02.0056.2.01.6 All 16X48 MM HEX BOLT TVS , LPS ,UNBRAKO

1710 8.02.0057.2.01.7 All 16X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1711 8.02.0058.2.01.8 All 16X60 MM HEX BOLT TVS , LPS ,UNBRAKO

1712 8.02.0059.2.01.9 All 16X70 MM HTS HEX BOLT TVS , LPS ,UNBRAKO

1713 8.02.0060.2.01.1 All 16X75 MM HEX BOLT TVS , LPS ,UNBRAKO

1714 8.02.0061.2.01.2 All 16X85 MM HEX BOLT TVS , LPS ,UNBRAKO

1715 8.02.0062.2.01.3 All 16X90 MM HEX BOLT TVS , LPS ,UNBRAKO

1716 8.02.0063.2.01.4 All 2”/21/2”X1/2” HEX BOLT TVS , LPS ,UNBRAKO

1717 8.02.0064.2.01.5 All 20 MM HEX NUT TVS , LPS ,UNBRAKO

1718 8.02.0065.2.01.6 All 20 X 90 MM HEX BOLT TVS , LPS ,UNBRAKO

1719 8.02.0066.2.01.7 All 20X100 MM HEX BOLT TVS , LPS ,UNBRAKO

1720 8.02.0067.2.01.8 All 20X120 MM HEX BOLT TVS , LPS ,UNBRAKO

1721 8.02.0068.2.01.9 All 20X150 MM HEX BOLT TVS , LPS ,UNBRAKO

1722 8.02.0069.2.01.1 All 20X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1723 8.02.0070.2.01.2 All 20X60 MM HEX BOLT TVS , LPS ,UNBRAKO

1724 8.02.0071.2.01.3 All 20X70 MM HEX BOLT TVS , LPS ,UNBRAKO

1725 8.02.0072.2.01.4 All 20X80 MM HEX BOLT TVS , LPS ,UNBRAKO

1726 8.02.0073.2.01.5 All 25 X 140 20 X 130 MM BOLT WITH NUT TVS , LPS ,UNBRAKO

1727 8.02.0074.2.01.6 All 3/8”X 1” / 11/4” HEX BOLT TVS , LPS ,UNBRAKO

1728 8.02.0075.2.01.7 All 3/8”X 2” HEX BOLT TVS , LPS ,UNBRAKO

1729 8.02.0076.2.01.8 All 3/8”X1/2” HEX BOLT TVS , LPS ,UNBRAKO

1730 8.02.0077.2.01.9 All 5 MM HEX NUT TVS , LPS ,UNBRAKO

1731 8.02.0078.2.01.1 All 5 X 25 MM HEX BOLT TVS , LPS ,UNBRAKO

1732 8.02.0079.2.01.2 All 5/8”X11/2” HEX BOLT TVS , LPS ,UNBRAKO



Page 51 of 60

1733 8.02.0080.2.01.3 All 5/8”X21/2” HEX BOLT TVS , LPS ,UNBRAKO

1734 8.02.0081.2.01.4 All 5/8”X3” HEX BOLT TVS , LPS ,UNBRAKO

1735 8.02.0082.2.01.5 All 5X15/16 MM HEX BOLT TVS , LPS ,UNBRAKO

1736 8.02.0083.2.01.6 All 5X20 MM HEX BOLT TVS , LPS ,UNBRAKO

1737 8.02.0084.2.01.7 All 5X25 / 6X10 MM HEX BOLT TVS , LPS ,UNBRAKO

1738 8.02.0085.2.01.8 All 5X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1739 8.02.0086.2.01.9 All 5X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1740 8.02.0087.2.01.1 All 6 MM HEX NUT TVS , LPS ,UNBRAKO

1741 8.02.0088.2.01.2 All 6X15/16 MM HEX BOLT TVS , LPS ,UNBRAKO

1742 8.02.0089.2.01.3 All 6X20 MM HEX BOLT TVS , LPS ,UNBRAKO

1743 8.02.0090.2.01.4 All 6X30 MM HEX BOLT TVS , LPS ,UNBRAKO

1744 8.02.0091.2.01.5 All 6X38/40 MM HEX BOLT TVS , LPS ,UNBRAKO

1745 8.02.0092.2.01.6 All 6X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1746 8.02.0093.2.01.7 All 6X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1747 8.02.0094.2.01.8 All 6X60 MM HEX BOLT TVS , LPS ,UNBRAKO

1748 8.02.0095.2.01.9 All 6X75 MM HEX BOLT TVS , LPS ,UNBRAKO

1749 8.02.0096.2.01.1 All 7/16” 3/8” HEX NUT TVS , LPS ,UNBRAKO

1750 8.02.0097.2.01.2 All 7/16”X1” HEX BOLT TVS , LPS ,UNBRAKO

1751 8.02.0098.2.01.3 All 8 MM HEX NUT TVS , LPS ,UNBRAKO

1752 8.02.0099.2.01.4 All 8 X 35 MM HEX BOLT TVS , LPS ,UNBRAKO

1753 8.02.0100.2.01.5 All 8X110 MM HEX BOLT TVS , LPS ,UNBRAKO

1754 8.02.0101.2.01.6 All 8X15 MM HEX BOLT TVS , LPS ,UNBRAKO

1755 8.02.0102.2.01.7 All 8X20 MM HEX BOLT TVS , LPS ,UNBRAKO

1756 8.02.0103.2.01.8 All 8X25 MM HEX BOLT TVS , LPS ,UNBRAKO

1757 8.02.0104.2.01.9 All 8X30 MM HEX BOLT TVS , LPS ,UNBRAKO

1758 8.02.0105.2.01.1 All 8X40 MM HEX BOLT TVS , LPS ,UNBRAKO

1759 8.02.0106.2.01.2 All 8X45 MM HEX BOLT TVS , LPS ,UNBRAKO

1760 8.02.0107.2.01.3 All 8X50 MM HEX BOLT TVS , LPS ,UNBRAKO

1761 8.02.0108.2.01.4 All 8X65 MM HEX BOLT TVS , LPS ,UNBRAKO

1762 8.02.0109.2.01.5 All 8X70 (UD-214-10-24) HEX BOLT(SPECIAL) WITH 

NUT

TVS , LPS ,UNBRAKO

1763 8.02.0110.2.01.6 All 8X70 MM HEX BOLT TVS , LPS ,UNBRAKO

1764 8.02.0111.2.01.7 All 8X80 MM HEX BOLT TVS , LPS ,UNBRAKO

1765 8.02.0112.2.01.8 All 8X90 MM HEX BOLT TVS , LPS ,UNBRAKO

1766 8.02.0113.2.01.9 All CU-30-406 HEX BOLT WITH HEX LOCK 

NUT FOR 09-CSM TAMPING 

TOOL SIDE LOCKING

TVS , LPS ,UNBRAKO

1767 8.02.0114.2.01.1 All M24X100 MM HEX BOLT TVS , LPS ,UNBRAKO

1768 8.03.0001.2.01.6 All 10 MM SPRING WASHER TVS , LPS ,UNBRAKO

1769 8.03.0002.2.01.7 All 10 MM STAR WASHER TVS , LPS ,UNBRAKO

1770 8.03.0003.2.01.8 All 10 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1771 8.03.0004.2.01.9 All 12 MM SPRING WASHER TVS , LPS ,UNBRAKO

1772 8.03.0005.2.01.1 All 12 MM STAR WASHER TVS , LPS ,UNBRAKO

1773 8.03.0006.2.01.2 All 12 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1774 8.03.0007.2.01.3 All 12/14/16/20 MM COPPER WASHER TVS , LPS ,UNBRAKO

1775 8.03.0008.2.01.4 All 12-5X25X-5 MM PLAIN WASHER (SPL) TVS , LPS ,UNBRAKO

1776 8.03.0009.2.01.5 All 14 MM SPRING WASHER TVS , LPS ,UNBRAKO

1777 8.03.0010.2.01.6 All 14 MM PLAIN WASHER (SPL) TVS , LPS ,UNBRAKO

1778 8.03.0011.2.01.7 All 16 MM SPRING WASHER TVS , LPS ,UNBRAKO

1779 8.03.0012.2.01.8 All 16 MM STAR WASHER TVS , LPS ,UNBRAKO

1780 8.03.0013.2.01.9 All 16 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1781 8.03.0014.2.01.1 All 20 MM SPRING WASHER TVS , LPS ,UNBRAKO

1782 8.03.0015.2.01.2 All 20 MM SPRING WASHER DOUBLE 

COIL

TVS , LPS ,UNBRAKO

1783 8.03.0016.2.01.3 All 20 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1784 8.03.0017.2.01.4 All 24/25/27 MM SPRING WASHER TVS , LPS ,UNBRAKO

1785 8.03.0018.2.01.5 All 30 MM SPRING WASHER TVS , LPS ,UNBRAKO

1786 8.03.0019.2.01.6 All 42 MM SPRING WASHER TVS , LPS ,UNBRAKO

1787 8.03.0020.2.01.7 All 45 MM SPRING WASHER TVS , LPS ,UNBRAKO

1788 8.03.0021.2.01.8 All 5 MM SPRING WASHER TVS , LPS ,UNBRAKO

1789 8.03.0022.2.01.9 All 6 MM SPRING WASHER TVS , LPS ,UNBRAKO

1790 8.03.0023.2.01.1 All 6 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1791 8.03.0024.2.01.2 All 6X20 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1792 8.03.0025.2.01.3 All 8 MM SPRING WASHER TVS , LPS ,UNBRAKO



Page 52 of 60

1793 8.03.0026.2.01.4 All 8 MM PLAIN WASHER TVS , LPS ,UNBRAKO

1794 8.04.0001.2.01.7 All 3-2X25 MM COTTER PIN TVS , LPS ,UNBRAKO

1795 8.04.0002.2.01.8 All 3-2X40 MM COTTER PIN TVS , LPS ,UNBRAKO

1796 8.04.0003.2.01.9 All 3-2X50 MM COTTER PIN TVS , LPS ,UNBRAKO

1797 8.04.0004.2.01.1 All 5X100 MM COTTER PIN TVS , LPS ,UNBRAKO

1798 8.04.0005.2.01.2 All 5X63 MM COTTER PIN TVS , LPS ,UNBRAKO

1799 8.04.0006.2.01.3 All 5X80 MM COTTER PIN TVS , LPS ,UNBRAKO

1800 8.04.0007.2.01.4 All 6-3X50 MM COTTER PIN TVS , LPS ,UNBRAKO

1801 8.05.0001.2.01.8 All 12X35 MM SPL HTS HALF THREAD 

HEX BOLT

TVS , LPS ,UNBRAKO

1802 8.05.0002.2.01.9 All 12X45 MM SPL HALF THREADED HEX 

BOLT

TVS , LPS ,UNBRAKO

1803 8.05.0003.2.01.1 All 20 X 250 MM SPL BOLT FOR T/U SLIDE 

PLATE OF UNI-3S

TVS , LPS ,UNBRAKO

1804 8.05.0004.2.01.2 All 30 X 160 MM SPL BOLT FOR PIVOT 

CENTER PIN

TVS , LPS ,UNBRAKO

1805 8.05.0005.2.01.3 All M10X16 CSK BOLT TVS , LPS ,UNBRAKO

1806 8.05.0006.2.01.4 All M10X20 CSK BOLT TVS , LPS ,UNBRAKO

1807 8.05.0007.2.01.5 All M10X25 CSK BOLT TVS , LPS ,UNBRAKO

1808 8.05.0008.2.01.6 All M10X30 CSK BOLT TVS , LPS ,UNBRAKO

1809 8.05.0009.2.01.7 All M10X35 CSK BOLT TVS , LPS ,UNBRAKO

1810 8.05.0010.2.01.8 All M10X40 CSK BOLT TVS , LPS ,UNBRAKO

1811 8.05.0011.2.01.9 All M12X25 CSK BOLT TVS , LPS ,UNBRAKO

1812 8.05.0012.2.01.1 All M12X30 CSK BOLT TVS , LPS ,UNBRAKO

1813 8.05.0013.2.01.2 All M12X35 CSK BOLT TVS , LPS ,UNBRAKO

1814 8.05.0014.2.01.3 All M12X40 CSK BOLT TVS , LPS ,UNBRAKO

1815 8.05.0015.2.01.4 All M12X45 CSK BOLT TVS , LPS ,UNBRAKO

1816 8.05.0016.2.01.5 All M12X50 CSK BOLT TVS , LPS ,UNBRAKO

1817 8.05.0017.2.01.6 All M12X55 CSK BOLT TVS , LPS ,UNBRAKO

1818 8.05.0018.2.01.7 All M12X60 CSK BOLT TVS , LPS ,UNBRAKO

1819 8.05.0019.2.01.8 All M12X65 CSK BOLT TVS , LPS ,UNBRAKO

1820 8.05.0020.2.01.9 All M12X80 CSK BOLT TVS , LPS ,UNBRAKO

1821 8.05.0021.2.01.1 All M12X90 CSK BOLT TVS , LPS ,UNBRAKO

1822 8.05.0022.2.01.2 All M16X100 CSK BOLT TVS , LPS ,UNBRAKO

1823 8.05.0023.2.01.3 All M16X35 CSK BOLT TVS , LPS ,UNBRAKO

1824 8.05.0024.2.01.4 All M16X40 CSK BOLT TVS , LPS ,UNBRAKO

1825 8.05.0025.2.01.5 All M16X45 CSK BOLT TVS , LPS ,UNBRAKO

1826 8.05.0026.2.01.6 All M16X50 CSK BOLT TVS , LPS ,UNBRAKO

1827 8.05.0027.2.01.7 All M16X55 CSK BOLT TVS , LPS ,UNBRAKO

1828 8.05.0028.2.01.8 All M16X60 CSK BOLT TVS , LPS ,UNBRAKO

1829 8.05.0029.2.01.9 All M16X70 CSK BOLT TVS , LPS ,UNBRAKO

1830 8.05.0030.2.01.1 All M16X75 CSK BOLT TVS , LPS ,UNBRAKO

1831 8.05.0031.2.01.2 All M16X80 CSK BOLT TVS , LPS ,UNBRAKO

1832 8.05.0032.2.01.3 All M16X90 CSK BOLT TVS , LPS ,UNBRAKO

1833 8.05.0033.2.01.4 All M20X100 CSK BOLT TVS , LPS ,UNBRAKO

1834 8.05.0034.2.01.5 All M20X30 CSK BOLT TVS , LPS ,UNBRAKO

1835 8.05.0035.2.01.6 All M20X40 CSK BOLT TVS , LPS ,UNBRAKO

1836 8.05.0036.2.01.7 All M20X60 CSK BOLT TVS , LPS ,UNBRAKO

1837 8.05.0037.2.01.8 All M20X65 CSK BOLT TVS , LPS ,UNBRAKO

1838 8.05.0038.2.01.9 All M20X70 CSK BOLT TVS , LPS ,UNBRAKO

1839 8.05.0039.2.01.1 All M20X75 CSK BOLT TVS , LPS ,UNBRAKO

1840 8.05.0040.2.01.2 All M8X15 CSK BOLT TVS , LPS ,UNBRAKO

1841 8.05.0041.2.01.3 All M8X16 CSK BOLT TVS , LPS ,UNBRAKO

1842 8.05.0042.2.01.4 All M8X20 CSK BOLT TVS , LPS ,UNBRAKO

1843 8.05.0043.2.01.5 All M8X50 CSK BOLT TVS , LPS ,UNBRAKO

1844 8.05.0044.2.01.6 All M12X1.75X40 Counter Sunk Screw TVS/LPS/UNBRAKO

1845 8.05.0045.2.01.7 All M12X1.75X50 Counter Sunk Screw TVS/LPS/UNBRAKO

1846 8.05.0046.2.01.8 All M16X2X65 Counter Sunk Screw TVS/LPS/UNBRAKO

1847 8.05.0047.2.01.9 All M16X2X90 Counter Sunk Screw TVS/LPS/UNBRAKO

1848 8.05.0048.2.01.1 All M20X2.50X50 Counter Sunk Screw TVS/LPS/UNBRAKO

1849 8.05.0049.2.01.2 All M12X1.75X60 Counter Sunk Screw TVS/LPS/UNBRAKO

1850 8.05.0050.2.01.3 All M16X2X40 Counter Sunk Screw TVS/LPS/UNBRAKO

1851 8.05.0051.2.01.4 All M16X2X45 Counter Sunk Screw TVS/LPS/UNBRAKO

1852 8.05.0052.2.01.5 All M16X2X80 Counter Sunk Screw TVS/LPS/UNBRAKO

1853 8.05.0053.2.01.6 All M10X1.5X20 Counter Sunk Screw TVS/LPS/UNBRAKO



Page 53 of 60

1854 8.05.0054.2.01.7 All M12X1.75X30 Counter Sunk Screw TVS/LPS/UNBRAKO

1855 8.05.0055.2.01.8 All M16X2X50 Counter Sunk Screw TVS/LPS/UNBRAKO

1856 8.05.0056.2.01.9 All M20X2.5X55 Counter Sunk Screw TVS/LPS/UNBRAKO

1857 8.05.0057.2.01.1 All M20X2.5X80 Counter Sunk Screw TVS/LPS/UNBRAKO

1858 8.06.0001.2.01.9 All 10 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1859 8.06.0002.2.01.1 All 12 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1860 8.06.0003.2.01.2 All 14 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1861 8.06.0004.2.01.3 All 16 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1862 8.06.0005.2.01.4 All 2E-11-300 20X75X1-5 MM FIT BOLT TVS , LPS ,UNBRAKO

1863 8.06.0006.2.01.5 All 3X20 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1864 8.06.0007.2.01.6 All 3X25 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1865 8.06.0008.2.01.7 All 3X30 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1866 8.06.0009.2.01.8 All 3X40 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1867 8.06.0010.2.01.9 All 4X30 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1868 8.06.0011.2.01.1 All 5X30 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1869 8.06.0012.2.01.2 All 5X45 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1870 8.06.0013.2.01.3 All 5X50 MM MACHINE SCREW TVS , LPS ,UNBRAKO

1871 8.06.0014.2.01.4 All 6 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1872 8.06.0015.2.01.5 All 6-60-45A 2E-11-30 FIT BOLT WITH NUT FOR 

UNO/CSM/DUO TAMPING 

UNIT

TVS , LPS ,UNBRAKO

1873 8.06.0016.2.01.6 All 6X15/16” MM GRUB SCREW TVS , LPS ,UNBRAKO

1874 8.06.0017.2.01.7 All 6X25 MM GRUB SCREW TVS , LPS ,UNBRAKO

1875 8.06.0018.2.01.8 All 8 MM NYLOCK NUT TVS , LPS ,UNBRAKO

1876 8.06.0019.2.01.9 All OFF SIZES GRUB SCREW TVS , LPS ,UNBRAKO

1877 8.06.0020.2.01.1 PL M36X1,5DIN937.6 CASTLE NUT PL, TVS, LPS, UNBRAKO

1878 8.06.0021.2.01.2 PL M20X1.5DIN937.6 CASTLE NUT PL, TVS, LPS, UNBRAKO

1879 8.06.0022.2.01.3 PL M30X1,5DIN937-6/VERZ CASTLE NUT PL, TVS, LPS, UNBRAKO

1880 8.07.0001.2.01.1 All ……… Tool Kit For CSM Venes, Taparia, Bosch 

1881 8.07.0002.2.01.2 PL NUTR 30 SUPPORT ROLLER 3X PLASSER, INA

1882 8.08.0001.2.01.2 All ……… Tool Kit For BCM Venes, Taparia, Bosch

1883 8.08.0002.2.01.3 PL 64.14.1214 Rail Clamp Disc for 

BCM(Roller)

PLASSER, DEW

1884 8.09.0001.2.01.3 PL SU3" P CHAIN (Roller Conveyor 

Chain)

PLASSER, ROLLAN, MP

1885 8.10.0001.2.01.4 KE 80665 FILTER ELEMENT KERSHAW , PARKER ,DONALDSON

1886 8.10.0002.2.01.5 KE 176521 FILTER ELEMENT KERSHAW , PARKER ,DONALDSON

1887 8.10.0003.2.01.6 KE 181932 FILTER ELEMENT KERSHAW , PARKER ,DONALDSON

1888 8.10.0004.2.01.7 KE 712509 PROPEL PRESSURE 

GAUGE

KERSHAW , WIKA , 

1889 8.10.0005.2.01.8 KE 89636 Sub. 163324 FILTER ELEMENT KERSHAW , PARKER ,DONALDSON

1890 8.10.0006.2.01.9 PL 62.08.8032 WEAR ARCH PL,  USHA KIRAN,  BSI

1891 8.10.0007.2.01.1 SR SPZ270A0-18-03-00 Air Cleaner (Inner) Srida, Donaldson, Fleetguard, Hydac, 

Hydroline, Filtrec

1892 8.12.0001.2.01.6 HA 0-3610008-0-01 / Donaldson 

Part no. P181041

AIR FILTER PRIMARY 

ELEMENT 

HARSCO, DONALDSON

1893 8.13.0001.2.01.7 AM

1894 8.13.0002.2.01.8 AM 51902004 REMOTE CONTROL 

ASSEMBLY

AMECA , TREEFFE , 

1895 8.13.0003.2.01.9 AM 60209002 HYDRAULIC VALVE AMECA , LUEN , 

1896 8.13.0004.2.01.1 AM 60209004 HYDRAULIC VALVE AMECA , LUEN , 

1897 8.13.0005.2.01.2 AM

1898 8.13.0006.2.01.3 AM

1899 8.13.0007.2.01.4 AM 547210008 CABLE 6011/M30L-2000 AMECA , TREEFFE ,ORSCHELN

1900 8.13.0008.2.01.5 AM 547210010 CABLE 6011/M30L-2250 AMECA  TREEFFE ,ORSCHELN

1901 8.13.0009.2.01.6 AM 61300002 Sub. 

A2FE63/61W-VZL100S

HYD. MOTOR (CRAWLER) AMECA , REXROTH , 

1902 8.13.0010.2.01.7 AM 6333A CHAIN LINK (R) AMECA , TRACMEC GALLOTI , 

1903 8.13.0011.2.01.8 AM 6334A CHAIN LINK (L) AMECA , TRACMEC GALLOTI , 

1904 8.13.0012.2.01.9 AM RCATD4D360R CRAWLER RUBBER SHOE 

(TRACK PAD RUBBER 

TYPE) INCLUDING NUT & 

SCREW

AMECA , TRACMEC GALLOTI , 

As per recommendation of SECR item shifted from Annexure-II to Annexure-I with Ameca make.

As per recommendation of SECR item shifted from Annexure-II to Annexure-I with Ameca make.

As per recommendation of SECR item shifted from Annexure-II to Annexure-I with Ameca make.



Page 54 of 60

1905 8.13.0013.2.01.1 COL

MAR

990201 CHAIN SHOE Colmar, Eurotrac

1906 8.13.0014.2.01.2 COL

MAR

CR49ET410010 and 

Tracmec gallotti Part no. 

49ET410-010

SPROCKET Colmar, Tracmec gallotti 

1907 8.13.0015.2.01.3 SU 4113-0027A AIR  FILTER  (INNER) AM

1908 8.13.0016.2.01.4 SU 4113-0007A AIR  FILTER  (OUTER} AM

1909 8.13.0017.2.01.5 COL

MAR

5120002 JOINTS COLMAR, MAYFIELD

1910 8.13.0018.2.01.6 COL

MAR

00L05C004 CRAWLER GUIDE ROLLER COLMAR, EUROTRACK

1911 8.14.0001.2.01.8 NIL GLF311.810 Clamp Roller for DGS. PL,DEW

1912 8.15.0001.2.01.9 PH 80000561 TRANSMISSION GEAR BOX 

FILTER

PHOOLTAS ,  PARKER ,DONALDSON

1913 8.15.0002.2.01.1 PH

1914 8.15.0003.2.01.2

1915 8.15.0004.2.01.3 PH 6P6 Sub. 7P4 OVER CENTRE VALVE PHOOLTAS ,  HYDRODYNE 

1916 8.15.0005.2.01.4

1917 8.15.0006.2.01.5 PH UTV1-07 04/00 GAUGE TEMPERATURE PHOOLTAS ,CUMMINS 

1918 8.15.0007.2.01.6 PH UTV1-07 07/00 GAUGE, TEMPERATURE PHOOLTAS ,CUMMINS 

1919 8.15.0008.2.01.7 PH UTV1-09 03/00 LOW WATER LEVEL 

SENSOR

PHOOLTAS ,CUMMINS ,RICO

1920 8.15.0009.2.01.8 PH UTVI-01 20/00 Sub. UTVI-

07 22/00

TRANSMISSION SELECTOR 

SWITCH

PHOOLTAS , SRPM 

1921 8.15.0010.2.01.9 PH UTVI 06 05/00 UNLOADER VALVE PHOOLTAS , STONE INDIA, OEPL

1922 8.15.0011.2.01.1 PH UTVI 06 13/00 C2W RELAY VALVE PHOOLTAS , STONE INDIA, OEPL

1923 8.15.0012.2.01.2 PH UTVI-06 23/00 HORN ACTUATOR PHOOLTAS , TECHNO PNEUMATICS, 

DELHI , 

1924 8.15.0013.2.01.3 PH UTVI-07 03/00 LUB OIL PRESSURE 

GAUGE

PHOOLTAS ,CUMMINS 

1925 8.16.0001.2.01.1 LO 100144 ROD END MALE .50 LORAM , IKO POSB 8(2) 

1926 8.16.0002.2.01.2 LO 100903 TRANSFORMER 1.5 KVA 

TOUCHPROOF TERMINALS

LORAM  ,SOLA HD/EGS   CE1500MH KVA-

1.5 TYPE-SFP INSULCLASS-130  

1927 8.16.0003.2.01.3 LO Loram part no.103196-

DRUM and Citgo part no.FR-

5046 HP

FLUID HYDR 

WATER/GLYCOL - 55 gallon 

drum

LORAM ,  H.P, PT.NO. ENKLO-FRWG46  

IOC PT.NO.7537-SERVO-FYRESS-WG-

46,Citgo

1928 8.16.0004.2.01.4 LO 103737 CB 100A 3P 480V ASSY DIN 

RAIL MOUNT

LORAM ,  ABBSACE TMAX T1 N 100 

1929 8.16.0005.2.01.5 LO 104256 VALVE, PRESS CONTROL 

SERVOVALVE

LORAM ,  SAUER DANFOSS MCV 102A 

2131+MCV-116A 1100 

1930 8.16.0006.2.01.6 LO 113910 LINE CONDITIONER 5000VA LORAM   SOLAHD   63-23-250-8 

1931 8.16.0007.2.01.7 LO 114490 PLC MOD IFM FUSED DIN 

RAIL MOUNT

LORAM   ALLEN BRADLLEY           1492-

IFM40F-FS-2 0-132V AC/DC 

1932 8.16.0008.2.01.8 LO 116722 CB 1600A 3P 600V E3 

FRAME DRAWOUT 120 

COIL

LORAMABB1600A E3S ACB WITH LI 

PROTECTION WITH UVR/SHUNT 

CLOSING/UVR DELAY/MOTOR OPERATOR

1933 8.16.0009.2.01.9 LO 118142 PS 12VDC 21A LORAM  , EMERSON  LPS253-C/GLS253-C  

1934 8.16.0010.2.01.1 LO 118519 LAMP FLUORESCENT 36W; 

2G11 BASE 2900 LUMEN

LORAM   LED PL-L RENESOLA PT. 

NO.R2GG110 18GO103 

1935 8.16.0011.2.01.2 LO 119061 SAFETY RELAY LORAM ,  ALLEN BRADLEY GUARD 

MASTER, MODEL-MSRST24VAC/DC 

1936 8.16.0012.2.01.3 LO 119120 TRANSFORMER 7.5KVA; 

240X480-120/240VAC 

1PHASE

LORAM   SOLA ELECTRIC HS5F7.5AS 

1937 8.16.0013.2.01.4 LO 123662 CONT MS 09A 480V 3P 

24VDC COIL 1 NO AUX

LORAM   ALLEN BRADLEY 100C09EJ10A  

1938 8.16.0014.2.01.5 LO 123663 CONT MS 16A 480V 3P 

24VDC COIL 1 NO AUX

LORAM   ALLEN BRADILY 100C16EJ10   

1939 8.16.0015.2.01.6 LO 123665 CONT MS 43A 480V 3P 

24VDC COIL

LORAM   ALLEN BRADLLEY 10.C43.DJ00-

SER-A 

Item is repeated 

As per recommendation of SECR item shifted from Annexure-II to Annexure-I with Phooltas make.

Item is repeated 



Page 55 of 60

1940 8.16.0016.2.01.7 LO 124466 HIGH TEMPERATURE 

GREESE

LORAM   HINDUSTAN PETROLEUM  

LITHOPLEX HTX-2 GRESE  ,CASTROL 

INDIA          TRIBOL 4020/220-25773/TI & 

5773/TE 

1941 8.16.0017.2.01.8 LO 126635 SWITCH POT 1000 OHM LORAM  , ALLEN BRADLEY                             

800T-U13  

1942 8.16.0018.2.01.9 LO 126991 FILTER LUBE OIL; FULL 

FLOW W/BY-PASS 

ELEMENT

LORAM   CUMMINS     2882674 ,FLEET 

GUARD  LF9080

1943 8.16.0019.2.01.1 LO 126993 SEPARATOR FUEL/WATER; 

SPIN-ON 10 MICRON

LORAM   CUMMINS     2882674 ,FLEET 

GUARD  LF9081

1944 8.16.0020.2.01.2 LO 127469 PS 24VDC 20A DIN RAIL 

MOUNT

LORAM ,SOLA  SDN 20-24-100C ,SIEMENS  

6EP1336-3BA10

1945 8.16.0021.2.01.3 LO 128081 PLC CABLE DIGITAL 39 IN. 

PLC MOD TO IFM

LORAM , ALLEN BRADLLEY PART NO.1492-

CABLE010X 

1946 8.16.0022.2.01.4 LO 128358 TRANS 480V 120V 15KVA LORAM , SOLA HD/EGS TRANS 

480V/120/15KVA  

1947 8.16.0023.2.01.5 LO 129912 FIRE SLEEVE 1.12 ID LORAM , EATON AEROQUIP 624-16 , 

1948 8.16.0024.2.01.6 LO 131536 PUMP WATER 2 PUMP 2 

LOOP DESIGN

LORAM  , CUMMINS  4067835 , 

1949 8.16.0025.2.01.7 LO 131924 VALVE PROP D03 4W 8.3 

GPM OBE 24V 10V CNTRL

LORAM  , REXROTH             0811404150  , 

1950 8.16.0026.2.01.8 LO 134821 TRANS 480V 120V 300VA 

W/FUSE BLK AND SEC 

FUSE KIT

LORAM ,  SOLA HD/EGS              TRANS 

480V/120V/300VA W/FUSE BLK AND SEC 

FUSE KIT 

1951 8.16.0027.2.01.9 LO 138704 PUMP ELECTRIC FUEL LIFT 

FOR CUMMINS QST30

LORAM , CUMMINS 4975617 

1952 8.16.0028.2.01.1 LO 139212 SCREW CAP-SOCKET HD 

SHLDR .62-11NCX3.00 GR8

LORAM ,  LPS SPECIAL TYPE SOCKET 

HD.PIN BOLT 3/4"X4" WITH THREAD 

5/8"UNC                            , 

1953 8.16.0029.2.01.2 LO 143521 ETHERNET SWITCH 8 

PORT RJ45 MANAGED

LORAM  , HIRSCHMANN RS20 RAIL 

SWITCH RS20-0800T1 T1S DAEHH05.0.02 

IEC 61131-2 FCC CLASS A , 

1954 8.16.0030.2.01.3 LO 145215 VALVE DRCT 3500PSI 

18GPM HYD 2P4W D05 

2XSOL DET

LORAM   CONTINENTAL DETAILS VSD05M-

2A-G-42L-A PART NO-265206 24VDC-44 

WATT , 

1955 8.16.0031.2.01.4 LO 147988 VALVE DRCT 3500PSI 

15GPM HYD 2P4W D05 SOL 

24VDC

LORAM   CONTINENTAL       VSD05M-1A-G-

42L-A 265063 2VDC-44 WATT , 

1956 8.16.0032.2.01.5 LO 147996 VALVE DRCT 5000PSI 

5GPM HYD 2P4W D03 SOL 

24VDC

LORAM ,  CONTINENTAL        VSD03M-1A-

GWD-42L-C 24VDC-30 WATT 

1957 8.16.0033.2.01.6 LO 148196 VALVE FLOW 4600PSI 

26GPM HYD THROTTLE 

CHECK DO5

LORAM ,  SUN HYD PART NO. DJY-ICWO-

A2 

1958 8.16.0034.2.01.7 LO 148463 SAFETY FILTER LORAM ,  DONALDSON                          P 

829333 , 

1959 8.16.0035.2.01.8 LO 148465 FILTER OIL LORAM ,  SULIVAN PALATEK PT. NO.0520-

017 

1960 8.16.0036.2.01.9 LO 148467 VALVE SOL 2 WAY 115VAC LORAM ,  SUILIVAN PALATEK 40529011 

1961 8.16.0037.2.01.1 LO 149456 VALVE FLOW 4600PSI 26 

GPM HYD THROTTLE 

CHECK DO5

LORAM ,  SUN HYD  DJY-ICWO-A2 

1962 8.16.0038.2.01.2 LO 159570 CYLINDER HYD 

2.50BX1.50R 12.00S EYE 

CLVS MAGNET

LORAM ,  HYDAC 

1963 8.16.0039.2.01.3 LO 159712 FILTER DUST; FLAME 

RETARDANT

LORAM  , DONALDSON  PART NO. 

P522193-016-340 , CLARK PT,NO, NF40051

1964 8.16.0040.2.01.4 LO 159713 VALVE DIAPHRAGM 1.00 

SPRINGLESS

LORAM  ,  TURBO SRL            07.10002.001 

1965 8.16.0041.2.01.5 LO 159714 VALVE REPAIR KIT 1.00; 

DIAPHRAGM BUNA-N

LORAM  , TURBO                  DIAPHARM 

FOR TURBO VALVE   



Page 56 of 60

1966 8.16.0042.2.01.6 LO 163132 PANEL ASSY 

INDEPENDENT; H2FX 

BRAKE

LORAM ,  REXROTH H-2 FX BRAKE VALVE 

66 PSI OUTLET 

1967 8.16.0043.2.01.7 LO 167047 BEARING LORAM , NRB FEED BEARING 

GY1108KRRB   

1968 8.16.0044.2.01.8 LO 178422 POWER SUPPLY 480/24 

40A DIN RAIL MOUNT

LORAM , ALLEN BRADILY1606-XLS960 E3 

1969 8.16.0045.2.01.9 LO 179889 MONITOR LORAM , SAMSUNG MONITER 24" LED 

S24E310HL 

1970 8.16.0046.2.01.1 LO 4010476 FILTER FUEL CUMMINS , FLEET GUARD FF 2203 , 

1971 8.16.0047.2.01.2 LO 69671-010 MICROPROCESSOR CTL T1 LORAM , SULLIVAN PALLATEK69671-010 

1972 8.16.0048.2.01.3 LO A28918 AIR FILTER LORAM  , DONALDSON INDIA PART 

NO.P500908-016-541 

1973 8.16.0049.2.01.4 LO A39333 JOURNAL OIL LORAM  , HINDUSTAN 

PETROLIUMTURBINAL-57 

1974 8.16.0050.2.01.5 LO A39796 MULTI PURPOSE GRESE 

(BLACK)

LORAM  , HINDUSTAN 

PETROLEUMLITHON M2 ,CASTROL INDIA          

TRIBOL 3020/1000-25771&5771TE NLG1 

GRADE 2

1975 8.16.0051.2.01.6 LO A70788 FILTER WATER LORAM, CUMMINS  3100308, FLEET 

GUARD WF2075

1976 8.16.0052.2.01.7 LO A76192 HOURMETER LORAM  , VEETHREE DC HOUR METER 

25MM 10-28B PART NO-0404001     , 

1977 8.16.0053.2.01.8 LO AX1006742 SEPARATOR FUEL/WATER CUMMINS  , FLEET GUARD FS 19763   

1978 8.16.0054.2.01.9 LO H28919 SAFETY FILTER LORAM , DONALDSON INDIA PART 

NO.P500909-016-541 

1979 8.16.0055.2.01.1 LO H83101 SCREW CAP-SOCKET HD 

SHLDR; .38-16NCX2.00 GR8

LORAM , LPS                              SPECIAL 

TYPE SOCKET HD.PIN BOLT 1/2"X2 3/4" 

WITH THREAD 3/8"UNC       

1980 8.16.0056.2.01.2 NIL Loram part no.252351-33 

and Sullivan

palatek part no.00521-0825

MECHANICAL KIT #7 Loram,sullivan
palatek

1981 8.17.0001.2.01.2 PL CC7/HYDROOHNEAT-

3900/EVO/2

AIR CONDITIONER UNIT 

FOR BCM

PLASSER, WEBASTO, SIDWAL

1982 8.17.0002.2.01.3 All OO17151 Phospher Bronze Plate ITT, SUNPARTS

1983 8.17.0003.2.01.4 All OO17152 Phospher Bronze Plate ITT, SUNPARTS

1984 8.17.0004.2.01.5 All UD185.200/ Hartia Pt no. 

1.12205009A00

Operator Seat Working Chair Plasser India, Harita Seating 

1985 8.17.0005.2.01.6 All Torque wrench of 50-225 

NM Torque wrench of 70-

330 NM Torque wrench of 

140-560 NM 

Set of Torque Wrench 

consisting of --

Britool/England, Mac master, Torque master , 

Gedore, taparia, Jhalani

1986 8.17.0006.2.01.7 All i. Digital Vernier Caliper 0-

300mm(L.C-

0.01)Micrometer 0-25mm 

(L.C-0.001mm)

Mobile Tool Kit for Tamping 

Unit Repairs Consisting of

Mitutoyo/Japan, Baker

1987 8.17.0007.2.01.8 PL SSV12/6N Distributor Plasser, SKF (Lincoin)

1988 8.17.0008.2.01.9 PL NUTR50 SUPPORTING ROLLER PLASSER  , ELGIS

1989 8.17.0009.2.01.1 PL TCP24/24V50W SOLDERING GUN Plasser, Weller

1990 8.17.0010.2.01.2 PL 50 kg Capacity Grease Gun Plasser, Penta

1991 8.18.0001.2.01.3 ALL SS150 HYD OIL HPCL, IOC, BHARAT SHELL, BALMER 

LAWRIE , BPCL, GULF OIL CORPORATION 

1992 8.18.0002.2.01.4 ALL 12X10000 MM THREAD SEAL TAPE CHAMPION  , Vinees    

1993 8.18.0003.2.01.5 ALL 15W40 CF4 ENGINE OIL HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

1994 8.18.0004.2.01.6 ALL EP-90 GEAR OIL HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

1995 8.18.0005.2.01.7 ALL GEM RR-3 GREASE HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION



Page 57 of 60

1996 8.18.0006.2.01.8 ALL HLP-68N HYD OIL HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

1997 8.18.0007.2.01.9 ALL RL-2 GREASE SHELL ALVANIA HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

1998 8.18.0008.2.01.1 ALL SS-100 HYD OIL HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

1999 8.18.0009.2.01.2 ALL WB WHEEL BEARING GREASE HPCL,IOC , BHARAT SHELL, BALMER 

LAWRIE ,BPCL, GULF OIL CORPORATION

2000 8.18.0010.2.01.3 CR 15W40 ZF OIL CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2001 8.18.0011.2.01.4 CR 75W40 GEAR BOX OIL CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2002 8.18.0012.2.01.5 CR Shell omala S4 PUMP GEAR BOX OIL CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2003 8.18.0013.2.01.6 CR T46(DTE OIL) HYDRAULIC OIL CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2004 8.18.0014.2.01.7 CR GADUS S2 

V100(ALWANIA)

GREASE FOR TAMPING 

UNIT(AUTO GREASING)

CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2005 8.18.0015.2.01.8 CR 10W40 Engine/Lube Oil CRCC, HPCL ,IOC, BHARAT SHELL, 

BALMER LAWRIE, BPCL, GULF OIL

CORPORATION

2006 8.18.0016.2.01.9 SHEL

L

40096152(Shell 

Omala)(S4GX220)

Funk/Drive Gearbox Oil HPCL,IOC,Bharat Shell,Balmer 

Lawrie,BPCL,Gulf Oil

Corporation

2007 8.18.0017.2.01.1 CR SHELL TELLUS T- 

46/S2MX46

HYDRAULIC OIL CRCC,HPCL,IOC,BHARA T SHELL,BALMER 

LAWRIE,BPCL,GULF OIL

CORPORATION

2008 8.18.0019.2.01.3 CR SHELL OMALA S4 GX 220 GEAR OIL CRCC,HPCL,IOC,BHARA T SHELL,BALMER 

LAWRIE,BPCL,GULF OIL

CORPORATION

2009 8.18.0020.2.01.4 CR GADUS S2 V 100 GREASE CRCC,HPCL,IOC,BHARA T SHELL,BALMER 

LAWRIE,BPCL,GULF OIL

CORPORATION

2010 8.18.0021.2.01.5 CR R4 X 15W40 TRANSMISSION OIL CRCC,HPCL,IOC,BHARA T SHELL,BALMER 

LAWRIE,BPCL,GULF OIL

CORPORATION

2011 8.18.0022.2.01.6 SHEL

L

SAE 30 Lube Oil IOCL, HPCL , BHARAT SHELL , BALMER 

LAWRIE , BPCL , GULF OIL 

CORPORATION.

2012 8.18.0023.2.01.7 SHEL

L

ENCLO-32 Gear Oil IOCL, BPCL, HPCL,

Bharat Shell, Balmer

2013 8.18.0024.2.01.8 SHEL

L

15W40 CI4 PLUS Lube Oil IOCL, HPCL , BHARAT SHELL , BALMER 

LAWRIE , BPCL , GULF OIL 

CORPORATION.

2014 8.18.0025.2.01.9 SHEL

L

SERVO GEAR SUPER 

G80W90

GEAR OIL IOCL, BPCL, HPCL,

Bharat Shell, Balmer Lawrie, Gulf Oil 

corporation

2015 8.18.0026.2.01.1 SHEL

L

75W90 GEAR OIL IOCL, BPCL, HPCL,

Bharat Shell, Balmer

2016 8.18.0027.2.01.2 SHEL

L

C-90 GEAR OIL IOCL, BPCL, HPCL,

Bharat Shell, Balmer Lawrie, Gulf Oil

corporation

2017 8.18.0028.2.01.3 SHEL

L

EP2 GREASE IOCL, BPCL, HPCL,

Bharat Shell, Balmer Lawrie, Gulf Oil 

corporation



Page 58 of 60

2018 8.18.0029.2.01.4 SHEL

L

ENKLO HVLP-46 Hydraulic Oil IOCL, BPCL, HPCL,

Bharat Shell, Balmer Lawrie, Gulf Oil 

corporation

2019 8.18.0030.2.01.5 VOLV

O 

PENT

A

Ad Blue DEF C DIN70070 AdBlue (Pollutant Catalyst) AdBlue, Volvo

Penta

2020 8.18.0031.2.01.6 ……

….

C4-SAE-30 TRANSMISSION OIL IOCL, HPCL, BPCL, BALMER LAWRIE, 

GOCL

2021 8.18.0032.2.01.7 ……

….

EP-140 GEAR OIL OEPL, HPCL, IOCL, BPCL, BALMER 

LAWRIE, WAXPOL 

2022 8.18.0033.2.01.8 CU 4926654 Coolant for Radiator CUMMINS, FLEETGUARD, DONALDSON

2023 8.18.0034.2.01.9 CU 3816981/ CC2774 Inhibitor Corrosion size 205 

Litres COMPLETE e.g.50:50 

PREMIX.  

CUMMINS, FLEETGUARD, DONALDSON

2024 8.18.0035.2.01.1 LO ISO VG 150 Axle Drive Gear Box OIL; 

Mobil Vacuoline 528. 

Grade:ISO VG 150 DTE Extra 

Heavy Lubricant Gear Oil For 

Axle Drive Gear Box 

LORAM, MOBIL, GULF, SERVO, SHELL

2025 8.18.0036.2.01.2 LO MOBILITH SHC-220 GREASE SYNTHETIC, NLGL 

2, (SYNTHETIC HIGH 

TEMPERATURE GRIND 

MOTOR GREASE) 

MOBILITH SHC 220 

LORAM, MOBIL, IOCL, BPCL, HPCL, 

BHARAT SHELL, GULF OIL CORP, BALMER 

LAWRIE 

2026 8.18.0037.2.01.3 LO ISO-220 DUST AUGER GEAR BOX 

OIL OR LUBRICANT 

SYNTHETIC GEAR MOBIL 

SHC 630/ISO 220

LORAM, MOBIL, IOCL, BPCL, HPCL, 

BHARAT SHELL, GULF OIL CORP, BALMER 

LAWRIE 

2027 8.18.0038.2.01.4 LO MOBIL 220ATF TRANSMISSION OIL ATF220 

MAKE:- MOBIL ATF 220 OR 

SHELL Donax TA / Spirax S2 

ATF AX 

LORAM, MOBIL ATF 220, SHELL Donax TA, 

Spirax S2 ATF AX,  IOCL, BPCL, BALMER 

LAWRIE

2028 8.18.0039.2.01.5 LO MOBIL SHC 627 Pump Drive Gearbox Oil 

(Lubricant Synthetic Gear; 

ISO VG 100) Mobil SHC 627 .

LORAM, EXXON, MOBIL, IOCL, BPCL, 

HPCL, BHARAT SHELL, GULF OIL CORP, 

BALMER LAWRIE 

2029 8.18.0040.2.01.6 LO ISO 68MV Hydrostatic Fluid Univis N 68 

High performance Anti-wear 

Hydraulic Oil. Grade: ISO 68 .

LORAM, EXXON MOBIL, IOCL, BPCL, HPCL, 

BHARAT SHELL, GULF OIL CORP, BALMER 

LAWRIE 

2030 8.18.0041.2.01.7 LO AWS-32 TRANSMISSION OIL 

HYSPIN  AWS-32. 

LORAM, MOBIL, IOCL, BPCL, HPCL, 

BHARAT SHELL, GULF OIL CORP, BALMER 

LAWRIE, SERVO 

2031 8.18.0042.2.01.8 LO MOBILTEMP SHC 32 GREASE MODULE SLIDE 

TUBE MOBILITH SHC 32 OR 

HTXX (HIGH 

TEMPERATURE GREASE)  

  LORAM, IOCL, HPCL, BPCL, BHARAT 

SHELL, BALMER LAWIRIE, GULF OIL.

2032 8.18.0043.2.01.9 …….. DELVAC 1 ATF ZF GEAR OIL FOR ZF UNIT MOBIL, IOCL, HPCL, BALMER LAWRIE, 

EXXON MOBIL

2033 8.18.0044.2.01.1 …….. OMALA S4 GXV150 GEAR OIL FOR PUMP 

GEAR BOX/ DISTRIBUTOR 

GEAR BOX/ SCREEN DRUM 

SHELL TELLUS, IOCL, HPCL, BPCL, 

BALMER LAWRIE

2034 8.18.0045.2.01.2 …….. GADUS S3V220C2 GREASE FOR CENTRALISE 

LUBRICATION 

HPCL, IOCL, SHELL TELLUS, BALMER 

LAWRIE, BPCL, GULF HARMONY

2035 8.19.0001.2.01.4 ALL A-23 V-BELT FENNER, DUNLOP, PIX

2036 8.19.0002.2.01.5 ALL A-31 V-BELT FENNER, DUNLOP, PIX

2037 8.19.0003.2.01.6 ALL A-32 V-BELT FENNER, DUNLOP, PIX

2038 8.19.0004.2.01.7 ALL A-33 V-BELT FENNER, DUNLOP, PIX

2039 8.19.0005.2.01.8 ALL A-34 V-BELT FENNER, DUNLOP, PIX

2040 8.19.0006.2.01.9 ALL A-35 V-BELT FENNER, DUNLOP, PIX

2041 8.19.0007.2.01.1 ALL A-36 V-BELT FENNER, DUNLOP, PIX

2042 8.19.0008.2.01.2 ALL A-38 V-BELT FENNER, DUNLOP, PIX

2043 8.19.0009.2.01.3 ALL A-39 V-BELT FENNER, DUNLOP, PIX

2044 8.19.0010.2.01.4 ALL A-40 V-BELT FENNER, DUNLOP, PIX



Page 59 of 60

2045 8.19.0011.2.01.5 ALL A-41 V-BELT FENNER, DUNLOP, PIX

2046 8.19.0012.2.01.6 ALL A-42 V-BELT FENNER, DUNLOP, PIX

2047 8.19.0013.2.01.7 ALL A-43 V-BELT FENNER, DUNLOP, PIX

2048 8.19.0014.2.01.8 ALL A-45 V-BELT FENNER, DUNLOP, PIX

2049 8.19.0015.2.01.9 ALL A-46 V-BELT FENNER, DUNLOP, PIX

2050 8.19.0016.2.01.1 ALL A-47 V-BELT FENNER, DUNLOP, PIX

2051 8.19.0017.2.01.2 ALL A-48 V-BELT FENNER, DUNLOP, PIX

2052 8.19.0018.2.01.3 ALL A-49 V-BELT FENNER, DUNLOP, PIX

2053 8.19.0019.2.01.4 ALL A-50 V-BELT FENNER, DUNLOP, PIX

2054 8.19.0020.2.01.5 ALL A-51 V-BELT FENNER, DUNLOP, PIX

2055 8.19.0021.2.01.6 ALL A-52 V-BELT FENNER, DUNLOP, PIX

2056 8.19.0022.2.01.7 ALL A-53 V-BELT FENNER, DUNLOP, PIX

2057 8.19.0023.2.01.8 ALL A-54 V-BELT FENNER, DUNLOP, PIX

2058 8.19.0024.2.01.9 ALL A-55 V-BELT FENNER, DUNLOP, PIX

2059 8.19.0025.2.01.1 ALL A-56 V-BELT FENNER, DUNLOP, PIX

2060 8.19.0026.2.01.2 ALL A-57 V-BELT FENNER, DUNLOP, PIX

2061 8.19.0027.2.01.3 ALL A-60 V-BELT FENNER, DUNLOP, PIX

2062 8.19.0028.2.01.4 ALL A-61 V-BELT FENNER, DUNLOP, PIX

2063 8.19.0029.2.01.5 ALL A-62 V-BELT FENNER, DUNLOP, PIX

2064 8.19.0030.2.01.6 ALL A-64 V-BELT FENNER, DUNLOP, PIX

2065 8.19.0031.2.01.7 ALL A-65 V-BELT FENNER, DUNLOP, PIX

2066 8.19.0032.2.01.8 ALL A-97 V-BELT FENNER, DUNLOP, PIX

2067 8.19.0033.2.01.9 ALL AVX13-1040LA V-BELT FENNER, DUNLOP, PIX

2068 8.19.0034.2.01.1 ALL AVX13-925LA V-BELT FENNER, DUNLOP, PIX

2069 8.19.0035.2.01.2 ALL B-110 V-BELT FENNER, DUNLOP, PIX

2070 8.19.0036.2.01.3 ALL B-35 V-BELT FENNER, DUNLOP, PIX

2071 8.19.0037.2.01.4 ALL B-36 V-BELT FENNER, DUNLOP, PIX

2072 8.19.0038.2.01.5 ALL B-37 V-BELT FENNER, DUNLOP, PIX

2073 8.19.0039.2.01.6 ALL B-38 V-BELT FENNER, DUNLOP, PIX

2074 8.19.0040.2.01.7 ALL B-40 V-BELT FENNER, DUNLOP, PIX

2075 8.19.0041.2.01.8 ALL B-41 V-BELT FENNER, DUNLOP, PIX

2076 8.19.0042.2.01.9 ALL B-52 V-BELT FENNER, DUNLOP, PIX

2077 8.19.0043.2.01.1 ALL B-58 V-BELT FENNER, DUNLOP, PIX

2078 8.19.0044.2.01.2 ALL B-60 V-BELT FENNER, DUNLOP, PIX

2079 8.19.0045.2.01.3 ALL B-75 V-BELT FENNER, DUNLOP, PIX

2080 8.19.0046.2.01.4 ALL B-95 V-BELT FENNER, DUNLOP, PIX

2081 8.19.0047.2.01.5 ALL B-97 V-BELT FENNER, DUNLOP, PIX

2082 8.19.0048.2.01.6 ALL C-126 V-BELT FENNER, DUNLOP, PIX

2083 8.19.0049.2.01.7 ALL C-41 V-BELT FENNER, DUNLOP, PIX

2084 8.19.0050.2.01.8 ALL C-42 V-BELT FENNER, DUNLOP, PIX

2085 8.19.0051.2.01.9 ALL C-43 V-BELT FENNER, DUNLOP, PIX

2086 8.19.0052.2.01.1 ALL C-75 V-BELT FENNER, DUNLOP, PIX

2087 8.19.0053.2.01.2 ALL C-76 V-BELT FENNER, DUNLOP, PIX

2088 8.19.0054.2.01.3 ALL SPA907-LW V- BELT FENNER, DUNLOP, PIX

2089 8.19.0055.2.01.4 PL B-84 V-Belt PLASSER, FENNER, DUNLOP, PIX

2090 8.19.0056.2.01.5 PL A-58 V-Belt PLASSER, FENNER, DUNLOP, PIX

2091 9.01.0001.2.01.5 CU 5018053-11MN55 ANTI VIBRATION 

MOUNTING  PAD

Machweld, Cummins, Plasser

2092 9.03.0001.2.01.7 ALL 125 X 150 X 13 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2093 9.03.0002.2.01.8 ALL 17 X 25 X 6 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2094 9.03.0003.2.01.9 ALL 20 X 32X 7 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2095 9.03.0004.2.01.1 ALL 20 X 35 X 7 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2096 9.03.0005.2.01.2 ALL 25 X 38 X 7 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2097 9.03.0006.2.01.3 ALL 35 X 57 X 8 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2098 9.03.0007.2.01.4 ALL 35X47X7 RING SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2099 9.03.0008.2.01.5 ALL 45 X 70 X 10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2100 9.03.0009.2.01.6 ALL 45 X 70 X 12 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK



Page 60 of 60

2101 9.03.0010.2.01.7 ALL 45X65X10 MM OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2102 9.03.0011.2.01.8 ALL 55 X 80 X 8 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2103 9.03.0012.2.01.9 ALL 55X72X19 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2104 9.03.0013.2.01.1 ALL 56 X 72 X 10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2105 9.03.0014.2.01.2 ALL 65X85X10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2106 9.03.0015.2.01.3 ALL 65X85X13 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2107 9.03.0016.2.01.4 ALL 70 X 90 X 10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2108 9.03.0017.2.01.5 ALL 70 X 90 X 13 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2109 9.03.0018.2.01.6 ALL 70X85X8 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2110 9.03.0019.2.01.7 ALL 75X95X10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2111 9.03.0020.2.01.8 ALL 80 X 100 X 10 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2112 9.03.0021.2.01.9 ALL 85 X 105 X 13 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2113 9.03.0022.2.01.1 ALL 90 X 110 X 13 OIL SEAL PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2114 9.03.0023.2.01.2 ALL BA-130X165X13-V1460 OIL SEAL OUT OF VITON PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2115 9.03.0024.2.01.3 ALL BA-60-80-10DIN3760-NB SEAL RING PLASSER ,TRELLEBORG ,FREUDENBERG 

(SIMIRIT/CFW), WLK

2116 9.03.0027.2.01.6 PL RE30.125 Main conveyor belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2117 9.03.0028.2.01.7 PL 64.11.2507 Waste conveyor Belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2118 9.03.0029.2.01.8 PL RE20.725 Excavating conveyor Belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2119 9.03.0030.2.01.9 PL RE20.580 Distributor conveyor belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2120 9.03.0031.2.01.1 PL 64.11.1991 Main conveyor Belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2121 9.03.0032.2.01.2 PL 64.11.2666 Waste conveyor Belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2122 9.03.0033.2.01.3 PL 64.08.3855 distributor conveyor belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2123 9.03.0034.2.01.4 PL 64.11.3609 Distributor conveyor Belt Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2124 9.03.0035.2.01.5 PL M24 Grade Conveyor Belt Running length 

850 mm width

Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2125 9.03.0036.2.01.6 PL M24 Grade Conveyor Belt Running length 

800 mm width

Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2126 9.03.0037.2.01.7 PL M24 Grade Conveyor Belt Running length 

650 mm width

Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas& Jagriti

2127 9.03.0038.2.01.8

PL

64.11.10071 MAIN CONVEYOR BELT Plasser, Dunlop, 

Nirlon,MRF,MR,Virshubh,Biswas, M R Belting 

& Jagriti

2128 9.03.0039.2.01.9
PL

CRW400.9425SP.1668 CONVERYOR BELT Plasser, Dunlop, Nirlon, MRF, MR, Virshubh, 

Biswas, M R Belting & Jagriti

2129 9.05.0001.2.01.9 PL 3700X1980X10MM RUBBER BELT Plasser, Dunlop, Nirlon, MRF, MR, Virshubh, 

Biswas & Jagriti

2130 9.05.0002.2.01.1 PL 1700X1980X10MM RUBBER BELT Plasser, Dunlop, Nirlon, MRF, MR, Virshubh, 

Biswas & Jagriti

2131 9.06.0001.2.01.1 PL 33X55X300MM LG Sweep Brush Plasser Ind, Sreevane 

Kailash Narayan

Director Track Machine-I


		2025-08-06T17:18:42+0530
	KAILASH NARAYAN




